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❆❜str❛❝t

❚❤❡ ♥❡t✇♦r❦ ♥❡✉tr❛❧✐t② ❞❡❜❛t❡ ♦r✐❣✐♥❛❧❧② st❡♠s ❢r♦♠ t❤❡ ❣r♦✇✐♥❣ tr❛✣❝
❛s②♠♠❡tr② ❜❡t✇❡❡♥ ■❙Ps✱ q✉❡st✐♦♥✐♥❣ t❤❡ ❡st❛❜❧✐s❤❡❞ ♣❡❡r✐♥❣ ♦r tr❛♥s✐t
❛❣r❡❡♠❡♥ts✳ ❚❤❛t t❡♥❞❡♥❝② ✐s ❞✉❡ t♦ ♣♦♣✉❧❛r ❝♦♥t❡♥t ♣r♦✈✐❞❡rs ❝♦♥♥❡❝t❡❞
t♦ t❤❡ ♥❡t✇♦r❦ t❤r♦✉❣❤ ❛ s✐♥❣❧❡ ■❙P✱ ❛♥❞ ✇❤♦s❡ tr❛✣❝ ✐s ♥♦t ❝❤❛r❣❡❞ ❜②
❞✐st❛♥t ■❙Ps✳ ❲❡ ♣r♦♣♦s❡ ✐♥ t❤✐s ♣❛♣❡r t♦ r❡✈✐❡✇ t❤❡ ❡❝♦♥♦♠✐❝ tr❛♥s✐t
❛❣r❡❡♠❡♥ts ❜❡t✇❡❡♥ ■❙Ps ✐♥ ♦r❞❡r t♦ ❞❡t❡r♠✐♥❡ t❤❡✐r ❜❡st str❛t❡❣②✳ ❲❡
❞❡✜♥❡ ❛ ♠♦❞❡❧ ✇✐t❤ t✇♦ ■❙Ps✱ ❡❛❝❤ ♣r♦✈✐❞✐♥❣ ❞✐r❡❝t ❝♦♥♥❡❝t✐✈✐t② t♦ ❛ ✜①❡❞
♣r♦♣♦rt✐♦♥ ♦❢ t❤❡ ❝♦♥t❡♥t ❛♥❞ ❝♦♠♣❡t✐♥❣ ✐♥ t❡r♠s ♦❢ ♣r✐❝❡ ❢♦r ❡♥❞ ✉s❡rs✱
✇❤♦ s❡❧❡❝t t❤❡✐r ■❙P ❜❛s❡❞ ♦♥ t❤❡ ♣r✐❝❡ ♣❡r ✉♥✐t ♦❢ ❛✈❛✐❧❛❜❧❡ ❝♦♥t❡♥t✳
❲❡ ❛♥❛❧②③❡ ❛♥❞ ❝♦♠♣❛r❡ t❤❛♥❦s t♦ ❣❛♠❡✲t❤❡♦r❡t✐❝ t♦♦❧s t❤r❡❡ ❞✐✛❡r❡♥t
s✐t✉❛t✐♦♥s✿ t❤❡ ❝❛s❡ ♦❢ ♣❡❡r✐♥❣ ❜❡t✇❡❡♥ t❤❡ ■❙Ps✱ t❤❡ ❝❛s❡ ✇❤❡r❡ ■❙Ps
❞♦ ♥♦t s❤❛r❡ t❤❡✐r tr❛✣❝ ✭❡①❝❧✉s✐✈✐t② ❛rr❛♥❣❡♠❡♥ts✮✱ ❛♥❞ t❤❡ ❝❛s❡ ✇❤❡r❡
t❤❡② ✜① ❛ tr❛♥s❢❡r ♣r✐❝❡ ♣❡r ✉♥✐t ♦❢ ✈♦❧✉♠❡✳ ❚❤❡ ✐♠♣❛❝t ♦♥ t❤❡ ♥❡t✇♦r❦
♥❡✉tr❛❧✐t② ❞❡❜❛t❡ ✐s t❤❡♥ ❞✐s❝✉ss❡❞✳
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❚❤❡ ■♥t❡r♥❡t✱ ✐♥✐t✐❛❧❧② ❛♥ ❛❝❛❞❡♠✐❝ ♥❡t✇♦r❦ ❝♦♥♥❡❝t✐♥❣ ✉♥✐✈❡rs✐t✐❡s✱ ❤❛s ♠♦✈❡❞
t♦ ❛ ♥❡t✇♦r❦ ✉s❡❞ ❢♦r ❡✈❡r②❞❛② ♣✉r♣♦s❡s ❛♥❞ ♦♣❡♥ t♦ ❛❧❧✳ ❚❤❡ ♥❡t✇♦r❦ ✐s ♥♦✇
♠❛❞❡ ♦❢ ❝♦♠♣❡t✐t✐✈❡ ❛♥❞ ♣r♦✜t✲s❡❡❦✐♥❣ ❝♦♥t❡♥t ♣r♦✈✐❞❡rs ✭❈Ps✮ ❛♥❞ ■♥t❡r♥❡t ❛❝✲
❝❡ss ♣r♦✈✐❞❡rs ✭♦r ■♥t❡r♥❡t ❙❡r✈✐❝❡ Pr♦✈✐❞❡rs ✭■❙Ps✮✮✳ ❖♥❡ ✐♠♣♦rt❛♥t ♣r✐♥❝✐♣❧❡
❞r✐✈✐♥❣ t❤❡ ❝✉rr❡♥t ♥❡t✇♦r❦ ✐s t❤❡ ✉♥✐✈❡rs❛❧ ❛❝❝❡ss ♣r✐♥❝✐♣❧❡✱ ♠❡❛♥✐♥❣ t❤❛t ❛❧❧
❝♦♥s✉♠❡rs ❛r❡ ❡♥t✐t❧❡❞ t♦ r❡❛❝❤ ♠❡❛♥✐♥❣❢✉❧ ❝♦♥t❡♥t✱ ✇❤❛t❡✈❡r t❤❡ t❡❝❤♥✐❝❛❧ ❧✐♠✲
✐t❛t✐♦♥s ♦❢ t❤❡✐r s❡r✈✐❝❡ ❬✶✕✸❪✳ ❇✉t ❜❡❝❛✉s❡ ♦❢ ❧❛r❣❡ ❛♥❞ ❜❛♥❞✇✐❞t❤✲❝♦♥s✉♠✐♥❣
❈Ps ✭❢♦r ❡①❛♠♣❧❡ ❨♦✉❚✉❜❡✮✱ s♦♠❡ ■❙Ps t♦ ✇❤♦♠ t❤♦s❡ ❈Ps ❛r❡ ♥♦t ❞✐r❡❝t❧②
❝♦♥♥❡❝t❡❞ ❤❛✈❡ st❛rt❡❞ t♦ ✇♦♥❞❡r ✇❤② ❞✐st❛♥t ❈Ps s❤♦✉❧❞ ♥♦t ❜❡ ❝❤❛r❣❡❞ ❜②
t❤❡♠✱ ✇✐t❤ t❤❡ t❤r❡❛t ♦❢ t❤❡✐r tr❛✣❝ ♥♦t ❜❡✐♥❣ ❞❡❧✐✈❡r❡❞ ✐❢ t❤❡② ❞♦ ♥♦t ❛❝❝❡♣t
t♦ ♣❛② ❬✹❪✳

❖✉r ❣♦❛❧ ✐♥ t❤✐s ♣❛♣❡r ✐s t♦ ♣r♦♣♦s❡ ❛ ♠♦❞❡❧ t❤❛t ✇✐❧❧ ❜❡ s♦❧✈❡❞ ❜② ❣❛♠❡✲
t❤❡♦r❡t✐❝ t♦♦❧s t♦ ❜❡tt❡r ✉♥❞❡rst❛♥❞ t❤❡ r❡❧❛t✐♦♥s ❜❡t✇❡❡♥ t❤❡ t❤r❡❡ s❡ts ♦❢
♣❧❛②❡rs t❤❛t ❛r❡ ❡♥❞ ✉s❡rs✱ ■❙Ps ❛♥❞ ❈Ps✱ ❛♥❞ t♦ ✐♥✈❡st✐❣❛t❡ ❢r♦♠ ❛♥ ❡❝♦♥♦♠✐❝❛❧
♣♦✐♥t ♦❢ ✈✐❡✇ t❤❡ r❡❧❡✈❛♥❝❡ ♦❢ ❛ t❤r❡❛t t♦ ♥♦t tr❛♥s❢❡r t❤❡ tr❛✣❝ ❝♦♠✐♥❣ ❢r♦♠
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❝♦♠♣❡t✐t✐✈❡ ■❙Ps ✭✐✳❡✳✱ ❝♦♠✐♥❣ ❢r♦♠ ❈Ps ♥♦t ❞✐r❡❝t❧② ❝♦♥♥❡❝t❡❞ t♦ t❤❡ ❝♦♥s✐❞❡r❡❞
■❙P✮✳ ❲❡ ❛✐♠ ❛t ❝♦♠♣❛r✐♥❣ t❤❡ t❤r❡❡ ❢♦❧❧♦✇✐♥❣ s✐t✉❛t✐♦♥s✿ ✭✐✮ t❤❡r❡ ✐s ❛ ♣❡❡r✐♥❣
❛❣r❡❡♠❡♥t ❜❡t✇❡❡♥ ■❙Ps ✇❤♦ ❞❡❧✐✈❡r t❤❡ tr❛✣❝ ❝♦♠✐♥❣ ❢r♦♠ t❤❡ ❝♦♠♣❡t✐t✐✈❡
■❙P ❛t ♥♦ ❝♦st ✭✐✐✮ t❤❡r❡ ✐s ♥♦ ❛❣r❡❡♠❡♥t ❛♥❞ ♥♦ tr❛✣❝ tr❛♥s❢❡r ❢r♦♠ ❛♥ ■❙P t♦
❛♥♦t❤❡r✱ ❧✐♠✐t✐♥❣ ❛s ❛ ❝♦♥s❡q✉❡♥❝❡ t❤❡ ❝♦♥t❡♥t ♦✛❡r ✭❛♥❞ t❤❡r❡❢♦r❡ ♣♦t❡♥t✐❛❧❧②
❡♥❞✲✉s❡r ❞❡♠❛♥❞✮ ❛t ❡❛❝❤ ■❙P ✭✐✐✐✮ t❤❡r❡ ✐s ❛ ♣❡r✲✉♥✐t✲♦❢✲✈♦❧✉♠❡ tr❛♥s✐t ♣r✐❝❡
❜❡t✇❡❡♥ t❤❡ ■❙Ps✱ ✇❤✐❝❤ ❝❛♥ ❜❡ ♦❜t❛✐♥❡❞ ❢r♦♠ ❛ ♥❡❣♦t✐❛t❡❞ ❛❣r❡❡♠❡♥t ❜❡t✇❡❡♥
t❤❡ ■❙Ps ♦r ❞❡t❡r♠✐♥❡❞ ❜② ❛ r❡❣✉❧❛t♦r ✇✐s❤✐♥❣ t♦ ♠❛①✐♠✐③❡ s♦❝✐❛❧ ♦r ✉s❡r ✇❡❧❢❛r❡✳
❚❤✐s ♠♦❞❡❧ ✇✐t❤ t❤❡ t❤r❡❡ ❞✐✛❡r❡♥t ♣♦ss✐❜✐❧✐t✐❡s ❛❧❧♦✇s ✉s t♦ ❞❡t❡r♠✐♥❡ t❤❡ ❜❡st
♣❡❡r✐♥❣ r❡❧❛t✐♦♥s❤✐♣s ❜❡t✇❡❡♥ ■❙Ps ❛♥❞ t❤❡ r❡❧❡✈❛♥❝❡ ♦❢ t❤❡ t❤r❡❛t t♦ ❜r❡❛❦ t❤❡
✉♥✐✈❡rs❛❧✐t② ♣r✐♥❝✐♣❧❡✳

❚❤❡r❡ ❡①✐sts ❛ r❡❝❡♥t ✢♦✉r✐s❤✐♥❣ ❧✐t❡r❛t✉r❡ ❞❡❛❧✐♥❣ ✇✐t❤ ♥❡t✇♦r❦ ♥❡✉tr❛❧✲
✐t② ♠♦❞❡❧✐♥❣ ❛♥❞ ❛♥❛❧②s✐s✳ ❲✐t❤♦✉t ❜❡✐♥❣ ❡①❤❛✉st✐✈❡✱ s♦♠❡ ♥♦t❛❜❧❡ ✇♦r❦s
❛r❡ ❬✹✕✶✶❪✳ ❇✉t t❤❡ ❛❜♦✈❡ ♣❛♣❡rs ♠❛✐♥❧② ❞✐s❝✉ss ❤♦✇ r❡✈❡♥✉❡ s❤♦✉❧❞ ❜❡ s❤❛r❡❞
❛♠♦♥❣ ♣r♦✈✐❞❡rs ✭■❙Ps ❛♥❞ ❈Ps✮ ♦r ❤♦✇ ♥❡✉tr❛❧✐t② ♦r ♥♦♥✲♥❡✉tr❛❧✐t② ❛✛❡❝t t❤❡
♣r♦✈✐❞❡rs✬ ✐♥✈❡st♠❡♥t ✐♥❝❡♥t✐✈❡s✱ ✐♥♥♦✈❛t✐♦♥ ❛t t❤❡ ❝♦♥t❡♥t ❧❡✈❡❧✱ ♥❡t✇♦r❦ q✉❛❧✲
✐t②✱ ❛♥❞ ✉s❡r ♣r✐❝❡s✳ ❆❝t✉❛❧❧②✱ t❤❡ ♦r✐❣✐♥❛❧✐t② ♦❢ ♦✉r ✇♦r❦ r❡❧✐❡s ♦♥ ✶✮ t❤❡ ♠♦❞✲
❡❧✐♥❣ ♦❢ ♣❡❡r✐♥❣ ♦r tr❛♥s✐t tr❛✣❝ ♣r✐❝✐♥❣ ❜❡t✇❡❡♥ t❤❡ ■❙Ps✱ ✷✮ t❤❡ ♠♦❞❡❧✐♥❣ ♦❢
t❤❡ ❛♠♦✉♥t ♦❢ ❝♦♥t❡♥t ❞✐r❡❝t❧② ❝♦♥♥❡❝t❡❞ t♦ ❡❛❝❤ ■❙P✱ ❛♥❞ ✸✮ t❤❡ ✉s❡ ♦❢ ❝❧❛ss✐❝❛❧
❞✐s❝r❡t❡ ❝❤♦✐❝❡ ♠♦❞❡❧s t♦ ❞❡✜♥❡ ❤♦✇ ✉s❡rs ❝❤♦♦s❡ t❤❡✐r ■❙P ❞❡♣❡♥❞✐♥❣ ♦♥ ♣r✐❝❡✱
r❡♣✉t❛t✐♦♥✱ ❧♦②❛❧t②✱ ❛♥❞ ❛✈❛✐❧❛❜❧❡ ❝♦♥t❡♥t✳ ■♥❞❡❡❞✱ t♦ t❤❡ ❜❡st ♦❢ ♦✉r ❦♥♦✇❧❡❞❣❡
t❤❡r❡ ✐s ♥♦ ❣❛♠❡✲t❤❡♦r❡t✐❝❛❧ st✉❞② ♦❢ t❤❡ ♣❡❡r✐♥❣ ❛♥❞ tr❛♥s✐t ♣r✐❝✐♥❣ ❛❣r❡❡♠❡♥ts
❜❡t✇❡❡♥ ■❙Ps ✐♥ t❤❡ ♥❡t✇♦r❦ ♥❡✉tr❛❧✐t② ❝♦♥t❡①t✱ t❤❛t ✐s✱ ❝♦♠♣❛r❡❞ ✇✐t❤ t❤❡
♥♦♥✲✉♥✐✈❡rs❛❧ ❝♦♥♥❡❝t✐♦♥ t❤r❡❛t ✭■t❡♠ ✶ ❛❜♦✈❡✮✳ ▼♦r❡♦✈❡r✱ ✉s✉❛❧❧② ♣❛♣❡rs ❛r❡
✐♥t❡r❡st❡❞ ✐♥ t❤❡ r❡❧❛t✐♦♥ ❜❡t✇❡❡♥ ♦♥❡ ♦r s❡✈❡r❛❧ ❈Ps ✇✐t❤ ♦♥❡ ♦r s❡✈❡r❛❧ ■❙Ps✱
❜✉t ✈❡r② ❢❡✇ ❛❞❞r❡ss t❤❡ ❞✐✈❡rs✐t② ✐♥ t❡r♠s ♦❢ ❝♦♥t❡♥t ❛♥❞ t❤❡ ❢❛❝t t❤❛t t❤❡
♠♦r❡ ❝♦♥t❡♥t ✐s ❛❝❝❡ss✐❜❧❡ ❢r♦♠ ❛♥ ■❙P✱ t❤❡ ♠♦r❡ ❧✐❦❡❧② ✉s❡rs ❛r❡ t♦ s✉❜s❝r✐❜❡
t♦ t❤✐s ■❙P ✭■t❡♠ ✷ ❛❜♦✈❡✮✳ ❋♦r ✐♥st❛♥❝❡✱ ❬✶✷❪ ❛❞❞r❡ss❡s t❤❡ ❝♦♠♣❡t✐t✐♦♥ ❛♠♦♥❣
❈Ps ✐♥ t❡r♠s ♦❢ q✉❛❧✐t② ♦❢ s❡r✈✐❝❡ ✭◗♦❙✮✱ ❜✉t ♥♦t ♦♥ ❝♦♥t❡♥t ❞✐✈❡rs✐t②✳ ❚❤❡
✇♦r❦s ✇❡ ❤❛✈❡ ♥♦t✐❝❡❞ ✐♥ t❤❛t ❧❛st ❞✐r❡❝t✐♦♥ ❛r❡ ❬✶✸✱✶✹❪ ✇❤❡r❡ t✇♦ t②♣❡s ♦❢ ❈Ps
✭s❡❛r❝❤ ❡♥❣✐♥❡ ♣♦rt❛❧ ❛♥❞ P✷P✮ ❛r❡ ❝♦♥s✐❞❡r❡❞ ✭♥♦t ❛ ❝♦♥t✐♥✉✉♠ ❧✐❦❡ ❤❡r❡✮✱ ❜✉t
t❤❡ ❞❡♠❛♥❞ ♣❡r ❝♦♥t❡♥t t②♣❡ ✐s ❝♦♥s✐❞❡r❡❞ ✐♥❞❡♣❡♥❞❡♥t ❢♦r s✐♠♣❧✐❝✐t② s❛❦❡✳ ❋✐✲
♥❛❧❧②✱ ✇❡ ❝❤♦♦s❡ t♦ ❞❡s❝r✐❜❡ t❤❡ ✉s❡r ♣r❡❢❡r❡♥❝❡s ✉s✐♥❣ ❛ ❞✐s❝r❡t❡ ❝❤♦✐❝❡ ♠♦❞❡❧✱
❛s ❝❧❛ss✐❝❛❧❧② ❞♦♥❡ ✐♥ ❡❝♦♥♦♠❡tr✐❝ ❛♥❛❧②s✐s ❜✉t t♦ ♦✉r ❦♥♦✇❧❡❞❣❡ ♥♦t ❞♦♥❡ ✐♥
♥❡t✇♦r❦ ♥❡✉tr❛❧✐t② ❛♥❛❧②s✐s ✭■t❡♠ ✸ ❛❜♦✈❡✮✳ ❘❡♠❛r❦ t❤♦✉❣❤ t❤❛t t❤✐s t②♣❡ ♦❢
♠♦❞❡❧ ✐s r❡❧❛t❡❞ t♦ t❤❡ st✐❝❦✐♥❡ss ♠♦❞❡❧ ❞❡s❝r✐❜❡❞ ✐♥ ❬✶✸✱✶✺❪✱ ❜✉t ✇✐t❤ t❤❡ ❛❞❞✐✲
t✐♦♥❛❧ ❞✐✛❡r❡♥❝❡ t❤❛t ✐t ✐s ✉s❡❞ ✐♥ ❬✶✸✱✶✺❪ ❢♦r ❛ ♣r✐❝✐♥❣ ♣❡r ✉♥✐t ♦❢ ✈♦❧✉♠❡✱ ✇❤✐❧❡
✇❡ ❝♦♥s✐❞❡r ❛ s✉❜s❝r✐♣t✐♦♥ ✭❛♥❞ ✢❛t r❛t❡✮ ❢❡❡✱ ♠♦r❡ r❡♣r❡s❡♥t❛t✐✈❡ ♦❢ t❤❡ ❝✉rr❡♥t
♣r❛❝t✐❝❡✳

❚❤❡ r❡♠❛✐♥✐♥❣ ♦❢ t❤❡ ♣❛♣❡r ✐s ♦r❣❛♥✐③❡❞ ❛s ❢♦❧❧♦✇s✳ ❙❡❝t✐♦♥ ✷ ♣r❡s❡♥ts t❤❡
❜❛s✐❝ ❛ss✉♠♣t✐♦♥s ♦♥ t❤❡ ♠♦❞❡❧✱ t❤❡ ♣❧❛②❡rs✱ ❛♥❞ t❤❡ t❤r❡❡ s❝❡♥❛r✐✐ ✇❡ ♣r♦♣♦s❡ t♦
❛♥❛❧②③❡ ❛♥❞ ❝♦♠♣❛r❡✳ ❚❤❡ ✉s❡r ✇❡❧❢❛r❡ ✐s ❛❧s♦ ❢♦r♠❛❧✐③❡❞✱ ❛♥❞ ❣❡♥❡r❛❧ ❢♦r♠✉❧❛s
♣r♦✈✐❞❡❞✳ ❙❡❝t✐♦♥ ✸ ❛♥❛❧②③❡s t❤❡ ❣❛♠❡ ✇❤❡♥ t❤❡r❡ ✐s ♣❡❡r✐♥❣ ❜❡t✇❡❡♥ ■❙Ps ✭✐✳❡✳✱
✇✐t❤ ❛ ♥✉❧❧ tr❛♥s✐t ♣r✐❝❡✮ ❛♥❞ ❡♥❞ ✉s❡rs ❤❛✈❡ ❛ ❢✉❧❧ ❛❝❝❡ss t♦ ❛❧❧ ❈Ps✳ ❙❡❝t✐♦♥ ✹
♦♥ t❤❡ ♦t❤❡r ❤❛♥❞ ❞❡s❝r✐❜❡s t❤❡ ✉s❡rs r❡♣❛rt✐t✐♦♥ ❛♥❞ ♣r✐❝✐♥❣ ❣❛♠❡ ❛♠♦♥❣ ■❙Ps
✇❤❡♥ t❤❡② ❞♦ ♥♦t ❛❣r❡❡ t♦ ❡①❝❤❛♥❣❡ t❤❡✐r tr❛✣❝✳ ❙❡❝t✐♦♥ ✺ ♣r❡s❡♥ts t❤❡ ❛♥❛❧②s✐s

✷



✇❤❡♥ t❤❡r❡ ✐s ❛ tr❛♥s✐t ♣r✐❝✐♥❣ ❛❣r❡❡♠❡♥t✱ t❤❡ ♣r✐❝❡ ❜❡✐♥❣ ❞❡t❡r♠✐♥❡❞ ❢r♦♠ ❛
❜❛r❣❛✐♥✐♥❣ ♣❤❛s❡ ❜❡t✇❡❡♥ ■❙Ps✱ ♦r ❜② ❛ r❡❣✉❧❛t♦r ✇✐s❤✐♥❣ t♦ ♠❛①✐♠✐③❡ ✉s❡r ♦r
s♦❝✐❛❧ ✇❡❧❢❛r❡✳ ❙❡❝t✐♦♥ ✻ ❝♦♥❝❧✉❞❡s t❤❡ ♣❛♣❡r ❜② ❞✐s❝✉ss✐♥❣ t❤❡ ✐♠♣❛❝t ♦❢ t❤❡
❞✐s❝♦♥♥❡❝t✐♦♥ t❤r❡❛t ♦♥ t❤❡ ♥❡t✇♦r❦ ♥❡✉tr❛❧✐t② ❞❡❜❛t❡✳

✷ ▼♦❞❡❧

✷✳✶ ▼♦❞❡❧ ❜❛s✐❝ ❝♦♠♣♦♥❡♥ts ❛♥❞ ♥♦t❛t✐♦♥s

❲❡ ❝♦♥s✐❞❡r t✇♦ ■❙Ps ❝❛❧❧❡❞ A ❛♥❞ B✱ ✐♥ ❝♦♠♣❡t✐t✐♦♥ ❢♦r ❡♥❞ ✉s❡rs✳ ❚❤♦s❡ ✉s❡rs
❛r❡ r❡♣r❡s❡♥t❡❞ ❛s ❛ ❝♦♥t✐♥✉✉♠ ♦❢ t♦t❛❧ ♠❛ss ❛ss✉♠❡❞ t♦ ❜❡ 1 ✇✐t❤♦✉t ❧♦ss ♦❢
❣❡♥❡r❛❧✐t②✳

❲❡ ❛❧s♦ ❛ss✉♠❡ t❤❛t ✇❡ ❤❛✈❡ ❛ ❝♦♥t✐♥✉✉♠ ♦❢ ❝♦♥t❡♥t ✭❤❡r❡ t♦♦ ♦❢ ♠❛ss ✶
✇✐t❤♦✉t ❧♦ss ♦❢ ❣❡♥❡r❛❧✐t②✮ t❤❛t ✉s❡rs ♠❛② ❜❡ ✐♥t❡r❡st❡❞ t♦ r❡❛❝❤✳ ❲❡ ❝❛❧❧ x
✭r❡s♣❡❝t✐✈❡❧② 1 − x✮ t❤❡ ♣r♦♣♦rt✐♦♥ ♦❢ ❝♦♥t❡♥t t❤❛t ✐s ❞✐r❡❝t❧② ❝♦♥♥❡❝t❡❞ t♦ t❤❡
■♥t❡r♥❡t t❤r♦✉❣❤ A ✭r❡s♣❡❝t✐✈❡❧② B✮✳ ■♥ ♦t❤❡r ✇♦r❞s✱ ❝♦♥t❡♥t ♣r♦✈✐❞❡rs ❛❧s♦
❤❛✈❡ t♦ ❜❡ ❝♦♥♥❡❝t❡❞ t♦ ♦♥❡ ♦❢ t❤❡ t✇♦ ❛❝❝❡ss ♣r♦✈✐❞❡rs A ♦r B✱ ❛♥❞ ✇❡ ❥✉st
❝♦✉♥t t❤❡ ♣r♦♣♦rt✐♦♥ x ♦❢ ♠❡❛♥✐♥❣❢✉❧ ❝♦♥t❡♥t ❛tt❛❝❤❡❞ t♦ A✳ ◆♦t❡ t❤❛t t❤❡
♣r♦♣♦rt✐♦♥s x ❛♥❞ 1 − x ❛❧s♦ ❡♥❝♦♠♣❛ss t❤❡ ♣♦♣✉❧❛r✐t② ♦❢ t❤❡ ❝♦♥t❡♥ts✱ ✇❤✐❝❤
✇❡✐❣❤s t❤❡ ❝♦♠♣✉t❛t✐♦♥ ♦❢ t❤♦s❡ ♣r♦♣♦rt✐♦♥s✿ x ✭r❡s♣❡❝t✐✈❡❧② 1− x✮ r❡♣r❡s❡♥ts
t❤❡ ♣r♦♣♦rt✐♦♥ ♦❢ t❤❡ t♦t❛❧ ❛❣❣r❡❣❛t❡❞ ✢♦✇ ♦r✐❣✐♥❛t✐♥❣ ❢r♦♠ ❈Ps✱ t❤❛t ♦r✐❣✐♥❛t❡s
❢r♦♠ ❛ ❈P ❝♦♥♥❡❝t❡❞ t♦ ■❙P A ✭r❡s♣❡❝t✐✈❡❧②✱ B✮✳ ❍❡r❡✱ ✇❡ ❢♦❝✉s ♦♥ ❞♦✇♥❧✐♥❦
tr❛✣❝ ♦♥❧②✱ s✐♥❝❡ ✉♣❧✐♥❦ tr❛✣❝ t♦ ❝♦♥t❡♥t ♣r♦✈✐❞❡rs ✐s ❧✐♠✐t❡❞ t♦ r❡q✉❡sts ❛♥❞
✐s ♥❡❣❧✐❣✐❜❧❡✳

■♥ t❡r♠s ♦❢ ♣r✐❝✐♥❣✱ ✇❡ ❞❡♥♦t❡ ❜② pA ✭r❡s♣❡❝t✐✈❡❧② pB✮ t❤❡ ❛❝❝❡ss ♣r✐❝❡ ❢♦r ❛
✉s❡r t♦ ♣r♦✈✐❞❡r A ✭r❡s♣❡❝t✐✈❡❧② B✮✳ ❚❤✐s ❛❝❝❡ss ♣r✐❝❡ ✐s ❛ ✢❛t✲r❛t❡ s✉❜s❝r✐♣t✐♦♥
❢❡❡✱ ✐♥❞❡♣❡♥❞❡♥t ♦❢ t❤❡ ❛♠♦✉♥t ♦❢ ✈♦❧✉♠❡ t❤❛t t❤❡ ✉s❡r ✇✐❧❧ ❞♦✇♥❧♦❛❞✳ ❲❡ ❛❧s♦
❛ss✉♠❡ t❤❛t t❤❡r❡ ♠✐❣❤t ❜❡ ❛ ❝♦♠♠♦♥ ♣r✐❝❡ ♣❡r ✉♥✐t ♦❢ ✈♦❧✉♠❡ t ❢♦r t❤❡ tr❛✣❝
tr❛♥s❢❡rr❡❞ ❜❡t✇❡❡♥ t❤❡ t✇♦ ■❙Ps✱ ❞❡✜♥✐♥❣ ❛♥ ❡❝♦♥♦♠✐❝ r❡❧❛t✐♦♥s❤✐♣ ❜❡t✇❡❡♥
■❙Ps✿ ✐❢ t = 0✱ t❤✐s ❢♦r♠s t❤❡ ❝❧❛ss✐❝❛❧ ♣❡❡r✐♥❣ ❛❣r❡❡♠❡♥t ✇✐t❤ ♥♦ ❢❡❡✱ ✇❤✐❧❡
t > 0 ♠❡❛♥s ❛ tr❛♥s✐t ♣r✐❝✐♥❣ ✉s✉❛❧❧② ❛❞♦♣t❡❞ ✇❤❡♥ t❤❡r❡ ✐s ❛ str♦♥❣ ❛s②♠♠❡tr②✳
❚❤♦s❡ t✇♦ s✐t✉❛t✐♦♥s ✇✐❧❧ ❜❡ ✐♥✈❡st✐❣❛t❡❞ ✐♥ t❤❡ ♥❡①t s❡❝t✐♦♥s✱ ✇✐t❤ ❛❧s♦ t❤❡
s✐t✉❛t✐♦♥ ✇❤❡♥ t❤❡ ❧✐♥❦ ❜❡t✇❡❡♥ ■❙Ps ✐s ❜r♦❦❡♥✱ s♦ t❤❛t t❤❡r❡ ✐s ♥♦ ♣♦ss✐❜✐❧✐t②
❢♦r ✉s❡rs ❛tt❛❝❤❡❞ t♦ ❛♥ ■❙P t♦ r❡❛❝❤ t❤❡ ❝♦♥t❡♥t ❛tt❛❝❤❡❞ t♦ t❤❡ ♦t❤❡r ■❙P✳ ❆❧❧
t❤♦s❡ r❡❧❛t✐♦♥s ❛r❡ s✉♠♠❛r✐③❡❞ ✐♥ ❋✐❣✉r❡ ✶✳

✷✳✷ ❯s❡rs✬ ♣r❡❢❡r❡♥❝❡s

■t r❡♠❛✐♥s t♦ ❞❡✜♥❡ ❤♦✇ ✉s❡rs ❝❤♦♦s❡ t❤❡✐r ■❙P✳ ❲❡ ❛ss✉♠❡ t❤❛t t❤❡② s❡❧❡❝t ❛t
♠♦st ♦♥❡✱ ❛♥❞ t❤❡ ♠♦❞❡❧ t♦ ❞❡s❝r✐❜❡ ✉s❡rs✬ ❝❤♦✐❝❡ ✐s ❛ st❛♥❞❛r❞ ❞✐s❝r❡t❡ ❝❤♦✐❝❡
♠♦❞❡❧ ❤❡❛✈✐❧② ✉s❡❞ ✐♥ tr❛✈❡❧ ❜❡❤❛✈✐♦r ❛♥❞ ❡❝♦♥♦♠❡tr② ✐♥ ❣❡♥❡r❛❧ ❬✶✻❪✳ ❲❡ ♠♦r❡
s♣❡❝✐✜❝❛❧❧② ✉s❡ ❛ ❧♦❣✐t ♠♦❞❡❧ t❤❛t ❝❛♥ ❛♣♣r♦①✐♠❛t❡ ❛♥② r❛♥❞♦♠ ✉t✐❧✐t② ♠♦❞❡❧✳
■♥ ❛ ♣♦♣✉❧❛r ❢♦r♠ ♦❢ t❤❡ ❧♦❣✐t ♠♦❞❡❧✱ t❤❡ ✈❛❧✉❛t✐♦♥ ✭❧❡✈❡❧ ♦❢ s❛t✐s❢❛❝t✐♦♥✮ ♦❢ ❛
✉s❡r q ❢♦r ❛♥ ❛❧t❡r♥❛t✐✈❡ ♦r ❝❤♦✐❝❡ i ✐s r❛♥❞♦♠ ❛♥❞ ❣✐✈❡♥ ❜②

Vq,i = vi + κq,i,

✸



❈♦♥t❡♥t Pr♦✈✐❞❡rs

x 1− x

■❙P A ■❙P B ◆♦ ■❙P

❙❡t ♦❢ ❡♥❞ ✉s❡rs

t

pA pB

❋✐❣✉r❡ ✶✿ ❘❡♣r❡s❡♥t❛t✐♦♥ ♦❢ r❡❧❛t✐♦♥s ❜❡t✇❡❡♥ ✉s❡rs✱ ■❙Ps ❛♥❞ ❈Ps

✇❤❡r❡ vi ✐s t❤❡ ❛✈❡r❛❣❡ ✈❛❧✉❛t✐♦♥ ❛♥❞ κq,i ❛ r❛♥❞♦♠ ✈❛r✐❛❜❧❡ t❤❛t r❡♣r❡s❡♥ts
s♦♠❡ ✉♥♦❜s❡r✈❡❞ r❛♥❞♦♠ ♥♦✐s❡✳ ❚❤❡ κq,i ❛r❡ ❛ss✉♠❡❞ t♦ ❜❡ ✐♥❞❡♣❡♥❞❡♥t ❛♥❞
t♦ ❤❛✈❡ ❛ ●✉♠❜❡❧ ❞✐str✐❜✉t✐♦♥ ♦❢ ♠❡❛♥ ✵✿ P[κq,i ≤ y] = exp(− exp(−x/β − γ))✱
✇❤❡r❡ t❤❡ s❝❛❧❡ β ✐s ❡q✉❛❧ t♦ ✶✱ ❛♥❞ γ ✐s ❊✉❧❡r ❝♦♥st❛♥t✳ ■♥ t❤❡ r❡st ♦❢ t❤✐s
♣❛♣❡r✱ s✐♥❝❡ t❤❡ r❛♥❞♦♠ ✈❛r✐❛❜❧❡s κq,i ✭❛♥❞✱ ❛s ❛ r❡s✉❧t✱ Vq,i✮ ❛r❡ ✐❞❡♥t✐❝❛❧❧②
❞✐str✐❜✉t❡❞✱ ✇❡ ✇✐❧❧ ❞r♦♣ t❤❡ ✐♥❞❡① q✳

❲❡ ❛ss✉♠❡ t❤❛t t❤❡ ❛✈❡r❛❣❡ ✈❛❧✉❛t✐♦♥ ❢♦r ❛♥ ■❙P i ❞❡♣❡♥❞s ♦♥ t❤❡ ♣r✐❝❡ ♣❡r
✉♥✐t ♦❢ ❛✈❛✐❧❛❜❧❡ ❝♦♥t❡♥t xi > 0 r❡❛❝❤❛❜❧❡ ❢r♦♠ i✱ pi/xi✱ t❤r♦✉❣❤ t❤❡ st❛♥❞❛r❞
❧♦❣❛r✐t❤♠✐❝ r❡❧❛t✐♦♥

vi
def
= α log

(

xi

pi

)

, ✭✶✮

✇❤❡r❡ α > 0 ✐s ❛ s❡♥s✐t✐✈✐t② ♣❛r❛♠❡t❡r✳ ❚❤✐s t②♣❡ ♦❢ ❧♦❣❛r✐t❤♠✐❝ ❢✉♥❝t✐♦♥❛❧
❤❛s ❛❧s♦ r❡❝❡♥t❧② ❜❡❡♥ ❥✉st✐✜❡❞ ✐♥ t❡❧❡❝♦♠♠✉♥✐❝❛t✐♦♥s ✉s✐♥❣ t❤❡ ❝♦♥t❡①t ♦❢ t❤❡
❲❡❜❡r✲❋❡❝❤♥❡r ▲❛✇✱ ❛ ❦❡② ♣r✐♥❝✐♣❧❡ ✐♥ ♣s②❝❤♦♣❤②s✐❝s ❞❡s❝r✐❜✐♥❣ t❤❡ ❣❡♥❡r❛❧
r❡❧❛t✐♦♥s❤✐♣ ❜❡t✇❡❡♥ t❤❡ ♠❛❣♥✐t✉❞❡ ♦❢ ❛ ♣❤②s✐❝❛❧ st✐♠✉❧✉s ❛♥❞ ✐ts ♣❡r❝❡✐✈❡❞
✐♥t❡♥s✐t② ✇✐t❤✐♥ t❤❡ ❤✉♠❛♥ s❡♥s♦r② s②st❡♠ ❬✶✼❪✳ ◆♦t❡ t❤❛t ❛ ♥✉❧❧ ♣r✐❝❡ ②✐❡❧❞s
❛♥ ✐♥✜♥✐t❡ ✈❛❧✉❛t✐♦♥ s♦ t❤❛t ❛ ❢r❡❡ ♦♣t✐♦♥ ✇✐❧❧ ❛❧✇❛②s ❜❡ ♣r❡❢❡rr❡❞ t♦ ♦♥❡ ✇✐t❤
❝❤❛r❣❡✳

■t ✐s ✐♠♣♦rt❛♥t t♦ r❡♠❛r❦ t❤❛t t❤❡ ♠❛ss ♦❢ ❛✈❛✐❧❛❜❧❡ ❝♦♥t❡♥t xA ❢♦r ❛ ✉s❡r
❝♦♥♥❡❝t❡❞ t❤r♦✉❣❤ ■❙P A ❝❛♥ ❞✐✛❡r ❢r♦♠ t❤❡ ♣r♦♣♦rt✐♦♥ x ♦❢ ❈Ps ❞✐r❡❝t❧② ❝♦♥✲
♥❡❝t❡❞ t♦ ■❙P A✳ ❚❤✐s ✐s t❤❡ ❝❛s❡✱ ❢♦r ✐♥st❛♥❝❡✱ ✐❢ ■❙Ps s❤❛r❡ t❤❡✐r ❝♦♥t❡♥ts✿
t❤❡♥ xA = xB = 1✱ ❛❧❧ t❤❡ ❝♦♥t❡♥t ✐s r❡❛❝❤❛❜❧❡ ❢r♦♠ ❛❧❧ ■❙Ps❀ ✇❤✐❧❡ ✐❢ t❤❡r❡ ✐s
♥♦ tr❛♥s✐t ❜❡t✇❡❡♥ ■❙Ps✱ xA = x ❛♥❞ xB = 1− x✳

❲❡ ❛❞❞✐t✐♦♥❛❧❧② ❛ss✉♠❡ t❤❛t t❤❡r❡ ✐s ❛♥ ♦✉ts✐❞❡ ♦♣t✐♦♥ ❧❛❜❡❧❧❡❞ 0✱ ✇✐t❤ ❛✈❡r✲
❛❣❡ ✈❛❧✉❛t✐♦♥ v0✱ r❡♣r❡s❡♥t✐♥❣ t❤❡ ♣♦ss✐❜❧② ♥❡❣❛t✐✈❡ ✈❛❧✉❛t✐♦♥ ❢♦r ♥♦t ❝❤♦♦s✐♥❣
❛♥② ■❙P✱ ❛♥❞ t❤❛t ✇✐❧❧ ❜❡ ❝♦♠♣❛r❡❞ ✇✐t❤ t❤❡ ✈❛❧✉❛t✐♦♥ ❢♦r ■❙Ps✳ ■♥ ❛❝❝♦r❞❛♥❝❡

✹



✇✐t❤ ✭✶✮✱ ✇❡ ❛❧s♦ ❞❡✜♥❡ p0
def
= exp(−v0/α)✱ r❡♣r❡s❡♥t✐♥❣ t❤❡ ❝♦st ❛ss♦❝✐❛t❡❞ t♦

♥♦t ❜❡♥❡✜tt✐♥❣ ❢r♦♠ ❛♥② ❝♦♥t❡♥t✳ ■♥ ♦✉r ♥✉♠❡r✐❝❛❧ ✐❧❧✉str❛t✐♦♥s✱ ✉♥❧❡ss s♣❡❝✐✜❡❞
♦t❤❡r✇✐s❡✱ ✇❡ ✇✐❧❧ t❛❦❡ p0 = 1 ✭♦r✱ ❡q✉✐✈❛❧❡♥t❧②✱ v0 = 0✮✳

❊❛❝❤ ✉s❡r ❝❤♦♦s❡s t❤❡ ♦♣t✐♦♥ ②✐❡❧❞✐♥❣ t❤❡ ❧❛r❣❡st ✈❛❧✉❛t✐♦♥✳ ❋♦❧❧♦✇✐♥❣ ❝❧❛s✲
s✐❝❛❧ ❞✐s❝r❡t❡ ❝❤♦✐❝❡ ❛♥❛❧②s✐s✱ ❛ ✉s❡r ✇✐❧❧ ❝❤♦♦s❡ t❤❡ ♦♣t✐♦♥ i ∈ {A,B, 0} ✇✐t❤
♣r♦❜❛❜✐❧✐t②

σ̃i(vA, vB , v0)
def
=

exp(vi)

exp(vA) + exp(vB) + exp(v0)
. ✭✷✮

❈♦♥s❡q✉❡♥t❧②✱ ❢♦r ❛ ❣✐✈❡♥ ♣r✐❝❡ ♣r♦✜❧❡ (pA, pB , p0) ❛♥❞ ❛✈❛✐❧❛❜❧❡ ❝♦♥t❡♥ts (xA, xB)✱
t❤❛t ♣r♦❜❛❜✐❧✐t② ✐s

σi(pA, pB , p0)
def
=

(xi/pi)
α

(xA/pA)α + (xB/pB)α + 1/pα0
. ✭✸✮

❙❡✈❡r❛❧ r❡♠❛r❦s ❝❛♥ ❜❡ ♠❛❞❡ ❤❡r❡✿

• ❚❤❡ ♣r♦❜❛❜✐❧✐t② σi(pA, pB , p0) ✐s ❛❧s♦ t❤❡ ♣r♦♣♦rt✐♦♥ ♦❢ ✉s❡rs t❤❛t ✇✐❧❧
❝❤♦♦s❡ ♦♣t✐♦♥ i ∈ {A,B, 0} ❣✐✈❡♥ t❤❛t ✉s❡rs✬ ❝❤♦✐❝❡ ❤❛✈❡ ❜❡❡♥ ❛ss✉♠❡❞
✐♥❞❡♣❡♥❞❡♥t ❛♥❞ t❤❛t t❤❡ t♦t❛❧ ♠❛ss ♦❢ ✉s❡rs ✐s ✶✳

• ❚❤❡ ■❙Ps t❤❛t s❡t t❤❡✐r ♣r✐❝❡ t♦ ③❡r♦ ✇✐❧❧ ❛ttr❛❝t ❛❧❧ t❤❡ ✉s❡rs✳ ❍♦✇❡✈❡r✱
t❤❡✐r r❡✈❡♥✉❡ ✐s ♥✉❧❧ ✐♥ t❤✐s ❝❛s❡✳

• ❚❤❡ ❞✐str✐❜✉t✐♦♥ (σi(pA, pB , p0))i∈{A,B,0} ✉♥✐❢♦r♠❧② ❝♦♥❝❡♥tr❛t❡s ♦♥ ❝❤♦✐❝❡s
✇❤♦s❡ ♣r✐❝❡ ❛r❡ ♠✐♥✐♠❛❧ ✇❤❡♥ α ❣♦❡s t♦ ∞✱ ❛♥❞ ✐s ✉♥✐❢♦r♠ ♦♥ {A,B, 0}
✇❤❡♥ ✐t ❣♦❡s t♦ ③❡r♦✳

• ❲❡ ❝♦✉❧❞ ❛ss✉♠❡ ❛ ❞✐✛❡r❡♥t ♣❛r❛♠❡t❡r α ❛ss♦❝✐❛t❡❞ t♦ ❡❛❝❤ ♦♣t✐♦♥ αi ❢♦r
i ∈ {A,B, 0}✳ ❆s ❛ ❝♦♥s❡q✉❡♥❝❡ t❤❡ ❝❤♦✐❝❡ ♣r♦❜❛❜✐❧✐t② t✉r♥s ✐♥t♦

σi(pA, pB , p0)
def
=

(xi/pi)
αi

(xA/pA)αA + (xB/pB)αB + 1/pα0

0

.

❚❤✐s ❤❡t❡r♦❣❡♥❡♦✉s ❝❛s❡ ✇✐❧❧ ❜❡ ❞✐s❝✉ss❡❞ ❢♦r t❤❡ ♣❡❡r✐♥❣ s❝❡♥❛r✐♦✱ ❛s
✇❡❧❧ ❛s ✇❤❡♥ ■❙Ps ❞♦ ♥♦t ❡①❝❤❛♥❣❡ ❛♥② tr❛✣❝ ✭❙❡❝t✐♦♥s ✸ ❛♥❞ ✹✮✳ ❲❡
❤♦✇❡✈❡r ♠❛✐♥❧② ❢♦❝✉s ♦♥ t❤❡ ❤♦♠♦❣❡♥❡♦✉s ❝❛s❡ ❢♦r r❡❛s♦♥s ♦❢ ❝❧❛r✐t②✱ ❛♥❞
❜❡❝❛✉s❡ t❤❡ ♣❛✐❞✲tr❛♥s✐t ❝❛s❡ ✐♥ ❙❡❝t✐♦♥ ✺ ❝❛♥♥♦t ❜❡ ❞❡❛❧t ❛♥❛❧②t✐❝❛❧❧② ✐♥
t❤❡ ❤❡t❡r♦❣❡♥❡♦✉s ❝❛s❡✳

• ❲❡ ✇♦✉❧❞ ❛❧s♦ ♦❜t❛✐♥ t❤❡ s❛♠❡ r❡s✉❧t ♦♥ t❤❡ ❝❤♦✐❝❡ ♣r♦❜❛❜✐❧✐t② ✐❢ ✇❡ r❡♠♦✈❡
t❤❡ α ✭♦r αi ❢♦r t❤❡ ❤❡t❡r♦❣❡♥❡♦✉s ❝❛s❡✮ ❢r♦♠ t❤❡ ❛✈❡r❛❣❡ ✈❛❧✉❛t✐♦♥✱ t♦
❣✐✈❡ vi = log(xi

pi
), ❛♥❞ ✐❢ ✇❡ ❛ss✉♠❡ t❤❛t t❤❡ ●✉♠❜❡❧ ❞✐str✐❜✉t✐♦♥ ❤❛s ♠❡❛♥

✵ ❛♥❞ s❝❛❧❡ ♣❛r❛♠❡t❡r 1/α ✭♦r 1/αi ❢♦r t❤❡ ❤❡t❡r♦❣❡♥❡♦✉s ❝❛s❡✱ s❡❡ ❬✶✽❪✮✳
■♥ t❤✐s ❝❛s❡✱ ♣❛r❛♠❡t❡r α ✭♦r αi✮ ♠♦❞✐✜❡s t❤❡ ✈❛r✐❛♥❝❡ ♦❢ t❤❡ r❛♥❞♦♠
✈❛❧✉❛t✐♦♥ ✐♥st❡❛❞ ♦❢ ✐♠♣❛❝t✐♥❣ t❤❡ ♠❡❛♥ ✈❛❧✉❛t✐♦♥✱ t❤❡ ✈❛r✐❛♥❝❡ ❜❡✐♥❣ ❛
❞❡❝r❡❛s✐♥❣ ❢✉♥❝t✐♦♥ ♦❢ α✳ ❘❡♠❛r❦ t❤♦✉❣❤ t❤❛t t❤✐s ♦t❤❡r r❡♣r❡s❡♥t❛t✐♦♥
✇♦✉❧❞ ❝❤❛♥❣❡ t❤❡ ❡①♣r❡ss✐♦♥ ♦❢ t❤❡ ✉s❡r ✇❡❧❢❛r❡ ❜❡❧♦✇✱ ❜✉t t❤✐s ✇✐❧❧ ♥♦t
❜❡ ✐♥✈❡st✐❣❛t❡❞ ❢♦r s❛❦❡ ♦❢ ❝♦♥❝✐s❡♥❡ss ❛♥❞ t♦ ❛✈♦✐❞ ❝♦♥❢✉s✐♦♥✳

✺



✷✳✸ ■❙Ps✬ ✉t✐❧✐t✐❡s

■❙Ps✬ ✉t✐❧✐t✐❡s ❛r❡ ♠♦❞❡❧❡❞ ❜② t❤❡ r❡✈❡♥✉❡s t❤❡② ❣❡t✱ t❤❛t ❝♦♠❡ ❢r♦♠ t❤❡ s✉❜✲
s❝r✐♣t✐♦♥ ♦❢ ❡♥❞ ✉s❡rs ❛♥❞ t❤❡ tr❛♥s✐t ❢❡❡s ❜❡t✇❡❡♥ ■❙Ps✱ ✐❢ ❛♥②✳ ❚❤❡ s✉❜s❝r✐♣t✐♦♥
r❡✈❡♥✉❡s ❛r❡ ♣r♦♣♦rt✐♦♥❛❧ t♦ t❤❡ ♠❛r❦❡t s❤❛r❡ σi ♦❢ ❡❛❝❤ ♣r♦✈✐❞❡r i ❛♥❞ ✐ts ♣r✐❝❡
pi✳ ❚♦ ❡①♣r❡ss t❤❡ tr❛♥s✐t ❢❡❡s✱ r❡❝❛❧❧ t❤❛t x ❛♥❞ 1 − x ❛r❡ t❤❡ ♣r♦♣♦rt✐♦♥s
♦❢ ✭✇❡✐❣❤t❡❞ ❜② t❤❡ ❧✐❦❡❧✐♥❡ss ♦❢ ❜❡✐♥❣ ❞♦✇♥❧♦❛❞❡❞✮ ❝♦♥t❡♥t ♦❢ ■❙P A ❛♥❞ B
r❡s♣❡❝t✐✈❡❧②✱ ❢♦r ❡❛❝❤ ❝✉st♦♠❡r✳ ❚❤❡r❡❢♦r❡ ❢♦r ❛ ❝✉st♦♠❡r ♦❢ ■❙P A✱ x ❝❛♥ ❜❡ ✐♥✲
t❡r♣r❡t❡❞ ❛s t❤❡ ♣r♦♣♦rt✐♦♥ ♦❢ t❤❡ ❞♦✇♥❧♦❛❞ tr❛✣❝ t❤❛t ✇✐❧❧ ❣♦ ❞✐r❡❝t❧② t❤r♦✉❣❤
■❙P A✱ ✇❤✐❧❡ t❤❡ r❡♠❛✐♥✐♥❣ ♣r♦♣♦rt✐♦♥ 1− x ✇✐❧❧ ❤❛✈❡ t♦ ❜❡ ❞❡❧✐✈❡r❡❞ t❤r♦✉❣❤
B ❛♥❞ t❤❡♥ A ✭✐❢ ♣♦ss✐❜❧❡✮✱ ❢♦❧❧♦✇✐♥❣ ❋✐❣✉r❡ ✶✱ t♦ r❡❛❝❤ t❤❡ ✉s❡r✳ ❚❤❛t t❤❡♥
✐♠♣❧✐❡s s♦♠❡ ♠♦♥❡② tr❛♥s❢❡r ✭tr❛♥s✐t ❝♦sts✮ ❢r♦♠ ■❙P A t♦ ■❙P B ✐♥ ❝❛s❡ ♦❢
tr❛♥s✐t ❛❣r❡❡♠❡♥ts ✇❤❡r❡ t❤❡ r❡❝❡✐✈❡r t❤❛t ❤❛s ❛s❦❡❞ ❢♦r t❤❡ s❡r✈✐❝❡ ❤❛s t♦ ♣❛②
❢♦r ✐t✳ ❚❤❡ ❝❛s❡ ✇❤❡r❡ t❤❡ ■❙P t♦ ✇❤✐❝❤ ❝♦♥t❡♥t ✐s ❛tt❛❝❤❡❞ ♣❛②s t♦ r❡❛❝❤ t❤❡
❝✉st♦♠❡rs ✭t❤❛t ✐s✱ t < 0✮ ❝♦✉❧❞ ❜❡ ❛❧s♦ ❝♦♥s✐❞❡r❡❞✱ ❛♥❞ ✇✐❧❧ ❞❡s❡r✈❡ ❛tt❡♥t✐♦♥
✐♥ ❛ ❢✉t✉r❡ ✇♦r❦✳ ❍♦✇❡✈❡r✱ ✇❡ ♦♥❧② ❝♦♥s✐❞❡r ❢♦r s♣❛❝❡ r❡❛s♦♥ t❤❡ ♠♦r❡ r❡❧❡✈❛♥t
s✐t✉❛t✐♦♥ ✇❤❡r❡ ♣r♦✈✐❞✐♥❣ ❛❝❝❡ss t♦ t❤❡ ❝♦♥t❡♥t ✐s ♣❛rt ♦❢ t❤❡ s❡r✈✐❝❡ ■❙Ps ♦✛❡r
t♦ ✉s❡rs✱ s♦ t❤❛t ✉s❡r ■❙Ps ❜❡❛r t❤❡ ♣♦ss✐❜❧❡ tr❛♥s❢❡r ❝♦sts t♦ ❝♦♥t❡♥t✳

❚❤❡ t♦t❛❧ ❛♠♦✉♥t ♦❢ tr❛✣❝ tr❛♥s❢❡rr❡❞ ❢r♦♠ B t♦ A ✐s (1−x)σA(pA, pB , p0)✱
♣❛✐❞ ❜② A t♦ B✱ ✇❤✐❧❡ ✐t ✐s xσB(pA, pB , p0) ❢r♦♠ A t♦ B✱ ♣❛✐❞ ❜② B✳ ❉❡♥♦t❡ ❜②
∆A,B t❤❡ ❞✐✛❡r❡♥t✐❛❧ ❛♠♦✉♥t ♦❢ tr❛✣❝ t❤❛t ✐s tr❛♥s❢❡rr❡❞ ❢r♦♠ ■❙P A t♦ ■❙P B✱
✐✳❡✳

∆A,B = xσB(pA, pB , p0)− (1− x)σA(pA, pB , p0). ✭✹✮

❚❤❡♥ t❤❡ r❡s♣❡❝t✐✈❡ r❡✈❡♥✉❡s UA ❛♥❞ UB ♦❢ ♣r♦✈✐❞❡r A ❛♥❞ B ❛r❡

UA(pA, pB , p0) = σA(pA, pB , p0)pA + t∆A,B ✭✺✮

UB(pA, pB , p0) = σB(pA, pB , p0)pB − t∆A,B .

✷✳✹ ❯s❡r ✇❡❧❢❛r❡

❚❤❡ ✉s❡r ✇❡❧❢❛r❡✱ ♦r ✉s❡r s✉r♣❧✉s✱ ✐s ❞❡✜♥❡❞ ❛s t❤❡ ❛❣❣r❡❣❛t❡❞ ♥❡t ❜❡♥❡✜t t❤❛t
✉s❡rs ❣❡t ❢r♦♠ t❤❡ s②st❡♠✳ ❲❡ ❝♦♥s✐❞❡r ❤❡r❡ ❛s ❛ r❡❢❡r❡♥❝❡ ♦✉t❝♦♠❡ t❤❡ ♦♥❡
✇✐t❤ ♥♦ s❡r✈✐❝❡✱ ❢♦r ✇❤✐❝❤ t❤❡ ✭r❛♥❞♦♠✮ ✉s❡r ✈❛❧✉❡ ✐s V0 = v0 + κ0✳ ❋r♦♠ t❤❡
❧♦❣✐t ♠♦❞❡❧ ❞❡✜♥❡❞ ✐♥ t❤❡ ♣r❡✈✐♦✉s s✉❜s❡❝t✐♦♥✱ t❤❡ ♥❡t s✉r♣❧✉s ♦❢ ❛ ✉s❡r ✐s ✇❤❛t

s❤❡ ❣❛✐♥s ❝♦♠♣❛r❡❞ t♦ t❤❛t ♦✉ts✐❞❡ ♦♣t✐♦♥✱ ✐✳❡✳✱ Z
def
= max(0, VA − V0, VB − V0)✳

❇❡❝❛✉s❡ t❤❡ t♦t❛❧ ✉s❡r ♠❛ss ✐s ✶✱ t❤❡ ✉s❡r ✇❡❧❢❛r❡✱ t❤❛t ✇❡ ❞❡♥♦t❡ ❜② ❯❲✱ ✐s
E[Z]✳ ◆♦✇✱ r❡♠❛r❦ t❤❛t ❢♦r z ≥ 0✱

P[Z ≤ z] = P[(VA − V0 ≤ z) ∩ (VB − V0 ≤ z)]

= P[(V0 ≥ VA − z) ∩ (V0 ≥ VB − z)]

=
exp(v0)

exp(v0) + exp(−z)(exp(vA) + exp(vB))
.

❚❤❡ ❧❛st ❡q✉❛t✐♦♥ ✐s ❛ ❞✐r❡❝t ❝♦♥s❡q✉❡♥❝❡ ♦❢ ✭✷✮✱ s✉❜tr❛❝t✐♥❣ z t♦ t❤❡ ❛✈❡r❛❣❡
✈❛❧✉❛t✐♦♥s ♦❢ ♦♣t✐♦♥s A ❛♥❞ B✳

✻



❚❤❡r❡❢♦r❡✱ ✇❡ ❤❛✈❡

❯❲ = E[Z] =

∫ +∞

z=0

P[Z > z] dz

=

∫ +∞

z=0

exp(−z)(exp(vA) + exp(vB))

exp(v0) + exp(−z)(exp(vA) + exp(vB))
dz

= log (1 + exp(vA − v0) + exp(vB − v0)) ✭✻✮

= log

(

1 +

(

xA
p0
pA

)α

+

(

xB
p0
pB

)α)

.

❆s ❡①♣❡❝t❡❞✱ t❤❡ ✉s❡r ✇❡❧❢❛r❡ ✐s ❛❧✇❛②s ♥♦♥♥❡❣❛t✐✈❡✱ s✐♥❝❡ ✉s❡rs st✐❧❧ ❤❛✈❡ t❤❡
♣♦ss✐❜✐❧✐t② t♦ s❡❧❡❝t ♥♦ ♣r♦✈✐❞❡r ❛s ✐♥ t❤❡ r❡❢❡r❡♥❝❡ s✐t✉❛t✐♦♥✿ t❤❡② ♦♥❧② ❝❤♦♦s❡
t♦ s✉❜s❝r✐❜❡ t♦ ❛ ♣r♦✈✐❞❡r ✐❢ ✐t ✐♥❝r❡❛s❡s t❤❡✐r ✉t✐❧✐t②✳

■♥ t❤❡ ❤❡t❡r♦❣❡♥❡♦✉s ❝❛s❡✱ ✇❡ ✐♠♠❡❞✐❛t❡❧② ❣❡t ❢r♦♠ ✭✻✮

❯❲(pA, pB , p0) = log

(

1 + pα0

0

((

xA

pA

)αA

+

(

xB

pB

)αB
))

.

✷✳✺ ❙❝❡♥❛r✐♦s ❛♥❞ ❣❛♠❡ ❛♥❛❧②s✐s

❲❡ r❡❝❛❧❧ t❤❛t ✐♥ t❤❡ ♥❡①t s❡❝t✐♦♥s✱ ✇❡ ✇✐❧❧ ❛♥❛❧②③❡ t❤❡ ♣r✐❝✐♥❣ ❣❛♠❡ ❜❡t✇❡❡♥
■❙Ps ✭❛♥❞ t❤❡ tr❛♥s✐t ♣r✐❝✐♥❣ ❛❣r❡❡♠❡♥t✮ ✐♥ t❤r❡❡ ❞✐✛❡r❡♥t s❝❡♥❛r✐♦s✿

✶✳ ■♥ t❤❡ ✜rst ♦♥❡✱ ✉s❡rs ❝❛♥ ❛❝❝❡ss ❛❧❧ t❤❡ ❝♦♥t❡♥t✱ ✐♥❞❡♣❡♥❞❡♥t❧② ♦❢ t❤❡
❝❤♦s❡♥ ■❙P✱ ❜❡❝❛✉s❡ t❤❡r❡ ✐s ❛ ♣❡❡r✐♥❣ ❛❣r❡❡♠❡♥t ❜❡t✇❡❡♥ ■❙Ps ✭p = 0 ❛♥❞
xA = xB = 1 ✐♥ ♦✉r ♠♦❞❡❧✮✳

✷✳ ■♥ t❤❡ s❡❝♦♥❞ ♦♥❡✱ t❤❡ ❧✐♥❦ ❜❡t✇❡❡♥ ■❙Ps ✐s ❜r♦❦❡♥ ❜❡❝❛✉s❡ t❤❡② ❢❛✐❧ t♦
❛❣r❡❡ ♦♥ tr❛✣❝ ❡①❝❤❛♥❣❡✳ ❚❤❡r❡❢♦r❡✱ ✉s❡rs ❝❛♥ ♦♥❧② ❛❝❝❡ss t❤❡ ❝♦♥t❡♥t
❛ss♦❝✐❛t❡❞ ✇✐t❤ t❤❡ ■❙P t❤❡② ❤❛✈❡ ❝❤♦s❡♥✳

✸✳ ❋✐♥❛❧❧②✱ ✐♥ t❤❡ t❤✐r❞ s❝❡♥❛r✐♦✱ t❤❡ ■❙Ps ❞❡✜♥❡ ❛ ♣r✐❝❡ ♣❡r ✉♥✐t ♦❢ ✈♦❧✉♠❡
t❤❡② ❝❤❛r❣❡ ❡❛❝❤ ♦t❤❡r ❢♦r t❤❡ tr❛✣❝ ❞♦✇♥❧♦❛❞❡❞ ❢r♦♠ t❤❡ ❈Ps ❛ss♦❝✐❛t❡❞
t♦ t❤❡✐r ❝♦♠♣❡t✐t♦r ❛♥❞ tr❛♥s♠✐tt❡❞ t♦ t❤❡✐r ❝✉st♦♠❡rs✳

❲❡ ❝❛♥ ♥♦t✐❝❡ ❛ ❤✐❡r❛r❝❤② ✐♥ t❤❡ ❣❛♠❡ ❛♥❛❧②s✐s✿ ❛t t❤❡ ❤✐❣❤❡st t✐♠❡ s❝❛❧❡
✭♦♥❧② ❢♦r t❤❡ t❤✐r❞ s❝❡♥❛r✐♦✮✱ t❤❡ tr❛♥s✐t ♣r✐❝❡ ✐s ❝❤♦s❡♥ ✭❜② ❛ ❜❛r❣❛✐♥✐♥❣ ♣❤❛s❡
♦r ❜② ❛ r❡❣✉❧❛t♦r✮✳ ❆t t❤❡ ✐♥t❡r♠❡❞✐❛t❡ ❧❡✈❡❧✱ ■❙Ps ❝♦♠♣❡t❡ ♦♥ ♣r✐❝❡s t♦ ❛ttr❛❝t
❝✉st♦♠❡rs ❛♥❞ ♠❛①✐♠✐③❡ t❤❡✐r r❡✈❡♥✉❡ ✐♥ ❛ ❝❧❛ss✐❝❛❧ ♥♦♥✲❝♦♦♣❡r❛t✐✈❡ ❣❛♠❡✳ ❋✐✲
♥❛❧❧②✱ ❛t t❤❡ s♠❛❧❧❡st t✐♠❡ s❝❛❧❡✱ ❝✉st♦♠❡rs ❝❤♦♦s❡ t❤❡✐r ■❙P ❜❛s❡❞ ♦♥ ❛✈❛✐❧❛❜❧❡
❝♦♥t❡♥t ❛♥❞ ♣r✐❝❡✳ ❘❡♠❛r❦ t❤❛t t❤♦s❡ ❧❡✈❡❧s ❛r❡ s♦❧✈❡❞ ❜② ❜❛❝❦✇❛r❞ ✐♥❞✉❝t✐♦♥✱
❛♥t✐❝✐♣❛t✐♥❣ t❤❡ r❡s✉❧t ❛t t❤❡ t✐♠❡ s❝❛❧❡ ❜❡❧♦✇✳

✸ ❙❝❡♥❛r✐♦ ✶✿ P❡❡r✐♥❣ ❜❡t✇❡❡♥ ■❙Ps

■♥ t❤✐s s❝❡♥❛r✐♦✱ ■❙Ps ❤❛✈❡ ❛ ♣❡❡r✐♥❣ ❛❣r❡❡♠❡♥t✱ ❛♥❞ t❤❡ ✉s❡rs ❝❛♥ ❛❝❝❡ss ❛❧❧
t❤❡ ❛✈❛✐❧❛❜❧❡ ❝♦♥t❡♥t✳ ❈♦♥s❡q✉❡♥t❧② xA = xB = 1 ❛♥❞ p = 0 ✐♥ ♦✉r ♠♦❞❡❧✳ ❋♦r

✼



❣✐✈❡♥ s✉❜s❝r✐♣t✐♦♥ ❢❡❡s pA ❛♥❞ pB ❛t ♣r♦✈✐❞❡rs A ❛♥❞ B✱ t❤❡ ♣r♦♣♦rt✐♦♥ ♦❢ ✉s❡rs
❝❤♦♦s✐♥❣ ♦♣t✐♦♥ i ∈ {A,B, 0} ✐s

σi(pA, pB , p0) =
(1/pi)

α

(1/pA)α + (1/pB)α + 1/pα0
. ✭✼✮

❚❤❡ r❡✈❡♥✉❡s ♦❢ A ❛♥❞ B ❝❛♥ ❜❡ ❡①♣r❡ss❡❞ ✭✇✐t❤ p = 0✮ ❛s

U♣❡❡r

A (pA, pB , p0) = σA(pA, pB , p0)pA = pA
(1/pA)

α

(1/pA)α + (1/pB)α + 1/pα0

U♣❡❡r

B (pA, pB , p0) = σB(pA, pB , p0)pB = pB
(1/pB)

α

(1/pA)α + (1/pB)α + 1/pα0
.

❑♥♦✇✐♥❣ ✇❤❛t ✇✐❧❧ ❜❡ t❤❡ ✉s❡r r❡♣❛rt✐t✐♦♥ ❢♦r ❛ ♣r✐❝❡ ♣r♦✜❧❡ (pA, pB) ✭✇✐t❤ p0
✜①❡❞✮✱ ■❙Ps tr② ♥♦♥✲❝♦♦♣❡r❛t✐✈❡❧② t♦ ♠❛①✐♠✐③❡ t❤❡✐r r❡✈❡♥✉❡✳ ❚❤❡ ❡q✉✐❧✐❜r✐✉♠
♥♦t✐♦♥ ✐s t❤❛t ♦❢ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠✱ t❤❛t ✇♦✉❧❞ ❜❡ ❛ ♣r✐❝❡ ♣r♦✜❧❡ ❢r♦♠ ✇❤✐❝❤ ♥♦
■❙P ❝❛♥ ✐♥❝r❡❛s❡ ✐ts r❡✈❡♥✉❡ ❜② ✉♥✐❧❛t❡r❛❧❧② ❝❤❛♥❣✐♥❣ ✐ts ♣r✐❝❡ ❬✶✾❪✳ ❋♦r♠❛❧❧②✱ ✐t ✐s

❛ ♣r✐❝❡ ♣r♦✜❧❡ (p♣❡❡r,◆❊A , p♣❡❡r,◆❊B ) s✉❝❤ t❤❛t ∀pA, pB ✱ U
♣❡❡r

A (p♣❡❡r,◆❊A , p♣❡❡r,◆❊B , p0) ≥

UA(pA, p
♣❡❡r,◆❊
B , p0) ❛♥❞ U♣❡❡r

B (p♣❡❡r,◆❊A , p♣❡❡r,◆❊B , p0) ≥ UB(p
♣❡❡r,◆❊
A , pB , p0)✳

❋r♦♠ t❤❡ ❞❡✜♥✐t✐♦♥✱ (0, 0) ✐s ❛ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ❜❡❝❛✉s❡ ❛ ✉♥✐❧❛t❡r❛❧ ✐♥❝r❡❛s❡
✐♥ ♣r✐❝❡ ❢r♦♠ ❛♥ ■❙P ✇✐❧❧ ❞r✐✈❡ ❛❧❧ ❞❡♠❛♥❞ t♦ t❤❡ ♦t❤❡r ■❙P ✭r❡❝❛❧❧ t❤❛t ❛
❢r❡❡ ♦♣t✐♦♥ ✐s ❛❧✇❛②s ♣r❡❢❡rr❡❞ ❢r♦♠ ♦✉r ❞✐s❝r❡t❡ ❝❤♦✐❝❡ ♠♦❞❡❧✱ t❤❡ ❛ss♦❝✐❛t❡❞
✈❛❧✉❛t✐♦♥ ❜❡✐♥❣ ✐♥✜♥✐t❡✮✱ ❤❡♥❝❡ ❛ r❡✈❡♥✉❡ st✐❧❧ ❛t ✵✳ ❨❡t✱ t❤❡ ❝❤♦✐❝❡ ❢♦r ❛♥ ■❙P
t♦ ❞❡❧✐✈❡r t❤❡ s❡r✈✐❝❡ ❢♦r ❢r❡❡ ✐s ❛ str✐❝t❧② ❞♦♠✐♥❛t❡❞ str❛t❡❣② ✉♥❧❡ss t❤❡ ♦t❤❡r
■❙P ✐s ❞♦✐♥❣ t❤❡ s❛♠❡ ✭✐♥ ✇❤✐❝❤ ❝❛s❡ ✐t ✐s ♦♥❧② ✇❡❛❦❧② ❞♦♠✐♥❛t❡❞✱ s✐♥❝❡ ❛❧❧
str❛t❡❣✐❡s ❧❡❛❞ t♦ ❛ ♥✉❧❧ r❡✈❡♥✉❡✮✳ ❈♦♥s❡q✉❡♥t❧②✱ ✐❢ t❤❡r❡ ✐s ❛♥♦t❤❡r ❡q✉✐❧✐❜r✐✉♠✱
s❡tt✐♥❣ ✐ts ♣r✐❝❡ t♦ ③❡r♦ ❝❛♥♥♦t ❜❡ ❛ r❛t✐♦♥❛❧ ❞❡❝✐s✐♦♥ ❢♦r ■❙Ps✳ ■♥ t❤❡ r❡st ♦❢
t❤❡ ♣❛♣❡r✱ ✇❡ ❛ss✉♠❡ t❤❛t✱ ✇❤❡♥ ❛♥♦t❤❡r ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ❡①✐sts✱ ■❙Ps ❝❤♦♦s❡
str✐❝t❧② ♣♦s✐t✐✈❡ ♣r✐❝❡s✳

❚❤❡ ❢♦❧❧♦✇✐♥❣ ♣r♦♣♦s✐t✐♦♥ ❡st❛❜❧✐s❤❡s t❤❡ ❡①✐st❡♥❝❡ ❛♥❞ ✉♥✐q✉❡♥❡ss ♦❢ ❛ ◆❛s❤
❡q✉✐❧✐❜r✐✉♠ ✐♥ t❤❡ ♣❡❡r✐♥❣ ❝❛s❡✳

Pr♦♣♦s✐t✐♦♥ ✶✳ ■❢ 1 < α ≤ 2✱ t❤❡r❡ ❡①✐sts ❛ ✉♥✐q✉❡ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ❞✐✛❡r❡♥t
❢r♦♠ ✭t❤❡r❡❢♦r❡ ♥♦t ❝♦♥s✐❞❡r❡❞✮ (0, 0)✱ ✇✐t❤ ❡q✉✐❧✐❜r✐✉♠ ♣r✐❝❡s

p♣❡❡r,◆❊A = p♣❡❡r,◆❊B =

(

2− α

α− 1

)1/α

p0
def
= p♣❡❡r,◆❊.

❚❤❡ ■❙Ps✬ r❡✈❡♥✉❡s ❛r❡ t❤❡♥

U♣❡❡r,◆❊
A = U♣❡❡r,◆❊

B =
α− 1

α
p♣❡❡r,◆❊ = (2− α)1/α

(α− 1)1−1/α

α
p0.

❚❤❡ ❝❛s❡ ✇❤❡♥ α ≤ 1 r❡s✉❧ts ✐♥ ✐♥✜♥✐t❡ ♣r✐❝❡s ❛t ❡q✉✐❧✐❜r✐✉♠✱ ❛♥❞ α ≥ 2
❧❡❛❞s t♦ ❛ ♣r✐❝❡ ✇❛r✱ ✐✳❡✳ ♣r♦✈✐❞❡rs ❞❡❝r❡❛s✐♥❣ t❤❡✐r ♣r✐❝❡s t♦ 0✱ s♦ t❤❛t (0, 0) ✐s
t❤❡ ✉♥✐q✉❡ ❡q✉✐❧✐❜r✐✉♠✳

✽



Pr♦♦❢✳ ❲❡ ❝♦♥s✐❞❡r t❤❡ ❞❡r✐✈❛t✐✈❡s ♦❢ ■❙Ps✬ r❡✈❡♥✉❡s ✇✐t❤ r❡s♣❡❝t t♦ t❤❡✐r ♦✇♥
♣r✐❝❡s✳ ❋♦r i ∈ {A,B}✱ ✇❡ ♦❜t❛✐♥

∂U♣❡❡r
i

∂pi
= σi(1− α(1− σi)), ✭✽✮

✇✐t❤ σi ❣✐✈❡♥ ✐♥ ✭✼✮✳
❲❤❡♥ α ≤ 1✱ t❤❡ ❞❡r✐✈❛t✐✈❡s ❛r❡ ❛❧✇❛②s str✐❝t❧② ♣♦s✐t✐✈❡✱ ❛♥❞ ■❙Ps s❡t ✐♥✜♥✐t❡

♣r✐❝❡s✳
❲❡ ♥♦✇ ❝♦♥s✐❞❡r t❤❡ ❝❛s❡ α > 1✳ ❘❡♠❛r❦ t❤❛t σi ✐s ❛ str✐❝t❧② ❞❡❝r❡❛s✐♥❣

❢✉♥❝t✐♦♥ ♦❢ pi ♦♥ R+✱ ❣♦✐♥❣ ❢r♦♠ ✶ t♦ ✵✱ ✇❤❡♥ t❤❡ ❝♦♠♣❡t✐t♦r s❡ts ❛ str✐❝t❧②
♣♦s✐t✐✈❡ ♣r✐❝❡✳ ❚❤❡r❡❢♦r❡✱ ❢r♦♠ ✭✽✮✱ ❢♦r ❡❛❝❤ ✈❛❧✉❡ pj > 0 ♦❢ ✐ts ❝♦♠♣❡t✐t♦r✬s
♣r✐❝❡✱ ♣r♦✈✐❞❡r i ❤❛s ❛ ✉♥✐q✉❡ ❜❡st✲r❡♣❧② ♣r✐❝❡✱ t❤❛t ✐s str✐❝t❧② ♣♦s✐t✐✈❡ ❛♥❞ s✉❝❤
t❤❛t α(1 − σi) = 1✱ ✐✳❡✳ σi = 1 − 1

α ✳ ❚❤❡r❡❢♦r❡✱ ✇❤❡♥ α > 1 t❤❡r❡ ❝❛♥ ❜❡ ♦♥❧②

♦♥❡ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ (p♣❡❡r,◆❊A , p♣❡❡r,◆❊B ) ✇✐t❤ ♣♦s✐t✐✈❡ ♣r✐❝❡s✱ t❤❛t ✐s s✉❝❤ t❤❛t
σA = σB = 1 − 1

α ✳ ❲❡ ✐♠♠❡❞✐❛t❡❧② ♥♦t✐❝❡ t❤❛t s✉❝❤ ❛♥ ❡q✉✐❧✐❜r✐✉♠ ❝❛♥ ♦♥❧②
❡①✐st ✐❢ α ≤ 2✱ ❜❡❝❛✉s❡ ✇❡ ❛❧✇❛②s ❤❛✈❡ σA + σB ≤ 1✳ ■♥ t❤❛t ❝❛s❡✱ s♦❧✈✐♥❣
σA = σB = 1 − 1

α ❜❛s❡❞ ♦♥ ✭✼✮ ❡❛s✐❧② ❧❡❛❞s t♦ t❤❡ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ♣r✐❝❡s
♣r♦✈✐❞❡❞ ✐♥ t❤❡ ♣r♦♣♦s✐t✐♦♥✳

❚♦ ❛♥❛❧②③❡ t❤❡ ❝❛s❡ ✇❤❡♥ α > 2✱ ✇❡ ❡①♣❧✐❝✐t❧② ❡①♣r❡ss t❤❡ ❜❡st✲r❡♣❧② ♣r✐❝❡
❢✉♥❝t✐♦♥ ❇❘i(pj) ♦❢ ♣r♦✈✐❞❡r i ✇❤❡♥ ✐ts ❝♦♠♣❡t✐t♦r s❡ts ❛ str✐❝t❧② ♣♦s✐t✐✈❡ ♣r✐❝❡
pj ✳ ❚❤❛t ♣r✐❝❡ ✐s t❤❡ ✈❛❧✉❡ pi s✉❝❤ t❤❛t σi = 1 − 1

α ✱ ✐✳❡✳✱ ❇❘i(pj) = pi =
(

(α− 1)(p−α
j + p−α

0 )
)−1/α

✳ ❘❡♠❛r❦ t❤❛t ✇❤❡♥ α ≥ 2✱ s✐♥❝❡ p0 > 0 ✇❡ ❤❛✈❡

(α − 1)(p−α
j + p−α

0 ) > p−α
j ❛♥❞ t❤❡r❡❢♦r❡ ❇❘i(pj) < pj ✳ ■♥ ♦t❤❡r t❡r♠s✱ ✇❤❡♥

❛ ♣r♦✈✐❞❡r s❡ts ❛ str✐❝t❧② ♣♦s✐t✐✈❡ ♣r✐❝❡ pj ✱ t❤❡ ❜❡st r❡♣❧② ♦❢ ✐ts ❝♦♠♣❡t✐t♦r ✐s
str✐❝t❧② ❜❡❧♦✇ t❤❛t ♣r✐❝❡✳ ❚❤❛t s✐t✉❛t✐♦♥ ❧❡❛❞s t♦ ❛ ♣r✐❝❡ ❞❡❝r❡❛s❡ ✉♥t✐❧ ♣r♦✈✐❞❡rs
❞♦ ♥♦t ♠❛❦❡ ❛♥② r❡✈❡♥✉❡✳

◆♦t✐❝❡ t❤❛t t❤❡ r❡s✉❧t ❢♦r α ≤ 1 ❝♦rr❡s♣♦♥❞s t♦ ✉s❡rs ✇✐t❤ ❧♦✇ ♣r✐❝❡ s❡♥s✐✲
t✐✈✐t②✿ ✇❤❡♥ ❛ ♣r♦✈✐❞❡r i ✐♥❝r❡❛s❡s ✐ts ♣r✐❝❡ pi✱ t❤❡ ❞❡♠❛♥❞ σi ❞❡❝r❡❛s❡s s❧♦✇❧②✱
❛♥❞ t❤❡ ♣r♦❞✉❝t piσi ✐♥❝r❡❛s❡s✳ ■♥ ❡❝♦♥♦♠✐❝ t❡r♠s✱ t❤✐s ❝♦rr❡s♣♦♥❞s t♦ ❛ ♣r✐❝❡
❡❧❛st✐❝✐t② Ei ♦❢ ❞❡♠❛♥❞ ❢♦r ♣r♦✈✐❞❡r i ✭✇❤❡♥ t❤❡ ♦t❤❡r ♣r♦✈✐❞❡rs ❦❡❡♣s ✐ts ♣r✐❝❡
❝♦♥st❛♥t✮ ❜❡✐♥❣ s♠❛❧❧ ✐♥ ❛❜s♦❧✉t❡ ✈❛❧✉❡✱ ✐✳❡✳

Ei
def
=

pi
σi

∂σi

∂pi
= −α(1− σi) ∈ (−1, 0).

❚❤❡ ♦♣♣♦s✐t❡ s✐t✉❛t✐♦♥ ♦❢ ♣r✐❝❡s ❞❡❝r❡❛s✐♥❣ t♦ ✵ ✇❤❡♥ α ≥ 2✱ t♦ ❛ttr❛❝t
❝✉st♦♠❡rs ♦❢ t❤❡ ❝♦♠♣❡t✐t♦r✱ ✐s ❝❛❧❧❡❞ ♣r✐❝❡ ✇❛r✳ ■t ❝♦♠❡s ❢r♦♠ ❛ ❧❛r❣❡ ♣r✐❝❡✲
s❡♥s✐t✐✈✐t② ♦❢ ✉s❡rs ✭❤❡r❡✱ t❤❡ ✈❛❧✉❡ ♦❢ α✮✳

■♥ t❤❡ ❤❡t❡r♦❣❡♥❡♦✉s ❝❛s❡ ✇✐t❤ ❞✐✛❡r❡♥t αs✱ ♣r♦❝❡❡❞✐♥❣ s✐♠✐❧❛r❧② ❢♦r t❤❡

♣r♦♦❢✱ ❛♥❞ ✉s✐♥❣ t❤❡ ❢❛❝t t❤❛t
∂U♣❡❡r

i

∂pi
= σi(1−αi(1−σi))✱ ✐t ❝❛♥ ❜❡ s❤♦✇♥ t❤❛t✱

❛t ❡q✉✐❧✐❜r✐✉♠✿

• ■❢ t❤❡r❡ ✐s ♦♥❡ i ∈ {A,B} s✉❝❤ t❤❛t αi ≤ 1✱ t❤❡♥ p♣❡❡r,◆❊i = ∞✱ ❜❡❝❛✉s❡
t❤❡ ✉t✐❧✐t② ✐s ✐♥❝r❡❛s✐♥❣✱ ✐♥❞❡♣❡♥❞❡♥t❧② ♦❢ t❤❡ ♣❛r❛♠❡t❡rs αj ❢♦r j 6= i✳ ❚❤❡

♦♣♣♦♥❡♥t j 6= i ❝❤♦♦s❡s p♣❡❡r,◆❊j = ∞ ❢♦r t❤❡ s❛♠❡ r❡❛s♦♥ ✐❢ αj ≤ 1✱ ❛♥❞

✾



0 1 2 3 4
0

1

2

3

4

α1

α
2

(∞,∞)

(0, 0)

(p♣❡❡r,◆❊A , p♣❡❡r,◆❊A )

(∞
,
((
α

2
−

1
)p

−
α
0

0
)−

1
/
α
2
)

(((α1 − 1)p−α0

0
)−1/α1 ,∞)

❋✐❣✉r❡ ✷✿ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ✐♥ t❤❡ ♣❡❡r✐♥❣ ❝❛s❡✱ ✐♥ t❡r♠s ♦❢ t❤❡ ❤❡t❡r♦❣❡♥❡♦✉s
s❡♥s✐t✐✈✐❡s (α1, α2)✳

p♣❡❡r,◆❊j s✉❝❤ t❤❛t σj = 1 − 1/αj ✱ ✐✳❡✳✱ p
♣❡❡r,◆❊
j = ((αj − 1)p−α0

0 )(−1/αj)

♦t❤❡r✇✐s❡✳

• ■❢ αA, αB > 1✱

✕ ■❢ (1/αA) + (1/αB) ≥ 1✱ t❤❡r❡ ✐s ❛ ✉♥✐q✉❡ s♦❧✉t✐♦♥ t♦ t❤❡ s②st❡♠ ♦❢
❡q✉❛t✐♦♥s ✇✐t❤ ♥✉❧❧ ❞❡r✐✈❛t✐✈❡s✱ ❣✐✈✐♥❣

p♣❡❡r,◆❊A =

(

αBαA − αB − αA

αB(1− αA)

)1/αA

p
α0/αA

0

p♣❡❡r,◆❊B =

(

αAαB − αA − αB

αA(1− αB)

)1/αB

p
α0/αB

0 .

✕ ■❢ (1/αA) + (1/αB) ≤ 1✱ t❤❡♥ ✇❡ ❛❣❛✐♥ ❤❛✈❡ ❛ ♣r✐❝❡ ✇❛r ✇✐t❤✱ ❛t

❡q✉✐❧✐❜r✐✉♠✱ p♣❡❡r,◆❊A = p♣❡❡r,◆❊B = 0✳

❚❤❡ ❡q✉✐❧✐❜r✐✉♠ ❝❛s❡s ✐♥ t❡r♠s ♦❢ (α1, α2) ❛r❡ s✉♠♠❛r✐③❡❞ ✐♥ ❋✐❣✉r❡ ✷✳
❈♦♠✐♥❣ ❜❛❝❦ t♦ ❛ ✉♥✐q✉❡ α ∈ (1, 2)✱ ❧❡t ✉s ❛♥❛❧②③❡ t❤❡ ♦✉t❝♦♠❡ t❤❛t ■❙Ps

❝❛♥ ❛❝❤✐❡✈❡ ❜② ❝♦♦♣❡r❛t✐♥❣✱ ✐✳❡✳✱ ❜② s❡tt✐♥❣ ♣r✐❝❡s s♦ ❛s t♦ ♠❛①✐♠✐③❡ t❤❡ s✉♠
U♣❡❡r

A + U♣❡❡r

B ♦❢ t❤❡✐r ✉t✐❧✐t✐❡s✳

Pr♦♣♦s✐t✐♦♥ ✷✳ ■❢ α > 1✱ t❤❡ s✉♠ ♦❢ ■❙Ps ✉t✐❧✐t✐❡s ✐s ♠❛①✐♠✐③❡❞ ❜② s❡tt✐♥❣
♣r✐❝❡s pA ❛♥❞ pB t♦

p♣❡❡rmax =

(

2

α− 1

)1/α

p0, ✭✾✮

❛♥❞ ✐s ❡q✉❛❧ t♦ U♣❡❡r
max =

α− 1

α
p♣❡❡rmax = 21/α

(α− 1)1−1/α

α
p0✳

■❢ α ≤ 1✱ t❤❡ ♦♣t✐♠❛❧ ♣r✐❝✐♥❣ ✐s pA = pB = +∞ ✇❤✐❝❤ r❡s✉❧ts ✐♥ ❛♥ ✐♥✜♥✐t❡
U♣❡❡r
max ✳

✶✵



Pr♦♦❢✳ ❋✐rst ♥♦t❡ t❤❛t ✐❢ ❛t ❧❡❛st ♦♥❡ ♣r✐❝❡ ✐s ③❡r♦✱ t❤❡♥ t❤❡ t♦t❛❧ r❡✈❡♥✉❡ ♦❢ ■❙Ps
✐s ♥✉❧❧✱ ❤❡♥❝❡ s✉❝❤ ❛ ♣r✐❝❡ ♣r♦✜❧❡ ❝❛♥♥♦t ❜❡ ♦♣t✐♠❛❧✳ ❚❤✉s✱ ❡✐t❤❡r t❤❡ ♦♣t✐♠❛❧
♣r✐❝❡ ♦❢ ❛ ♣r♦✈✐❞❡r ✐s ∞✱ ♦r ✐t ♥✉❧❧✐✜❡s t❤❡ ❞❡r✐✈❛t✐✈❡✳

❘❡♠❛r❦ t❤❛t t❤❡ ❞❡r✐✈❛t✐✈❡s ♦❢ U♣❡❡r

A +U♣❡❡r

B ✇✐t❤ r❡s♣❡❝t t♦ pA ❛♥❞ pB ❛r❡

∂(U♣❡❡r

A + U♣❡❡r

B )

∂pA
=

(p1−α
A +αp1−α

B −(α−1)pA(p−α
B +p−α

0 ))
p1+α
A (p−α

A +p−α
B +p−α

0
)2

∂(U♣❡❡r

A + U♣❡❡r

B )

∂pB
=

(p1−α
B +αp1−α

A −(α−1)pB(p−α
A +p−α

0 ))
p1+α
B (p−α

A +p−α
B +p−α

0
)2

.

■❢ α ≤ 1✱ t❤♦s❡ ❞❡r✐✈❛t✐✈❡s ❛r❡ ❛❧✇❛②s ♣♦s✐t✐✈❡✱ s♦ t❤❛t t❤❡ ♠❛①✐♠✉♠ ✐s ✇❤❡♥
(pA, pB) = (∞,∞)✳

❖t❤❡r✇✐s❡✱ ✇❤❡♥ α > 1✱ ♥♦t❡ t❤❛t t❤❡ ❞❡r✐✈❛t✐✈❡ ✇✐t❤ r❡s♣❡❝t t♦ pi ✭i ∈
{A,B}✮ ✐s str✐❝t❧② ♥❡❣❛t✐✈❡ ✐❢ pi ✐s s✉✣❝✐❡♥t❧② ❧❛r❣❡✳ ❚❤❡ ♦♣t✐♠❛❧ ♣r✐❝✐♥❣ ✐s
✇❤❡♥ t❤❡ t✇♦ ❛❜♦✈❡ ❞❡r✐✈❛t✐✈❡s ❛r❡ ♥✉❧❧✱ ✐✳❡✳ ✇❤❡♥

p1−α
A + αp1−α

B − (α− 1)pA
(

p−α
B + p−α

0

)

= 0

p1−α
B + αp1−α

A − (α− 1)pB
(

p−α
A + p−α

0

)

= 0.

❚❤❡ ❞✐✛❡r❡♥❝❡ ❜❡t✇❡❡♥ t❤♦s❡ ❡q✉❛t✐♦♥s ❧❡❛❞s t♦ (pA−pB)(p
−α
A +p−α

B +p−α
0 ) = 0

✇❤✐❝❤ ✐♠♣❧✐❡s pA = pB ✳ ❚❤❡♥ t❤❡✐r ❝♦♠♠♦♥ ✈❛❧✉❡ p♣❡❡rmax ✐s ♦❜t❛✐♥❡❞ ❢r♦♠ ❛♥②
♦❢ t❤♦s❡ ❡q✉❛t✐♦♥s✱ ②✐❡❧❞✐♥❣ t❤❡ ✉♥✐q✉❡ s♦❧✉t✐♦♥ ❣✐✈❡♥ ✐♥ ✭✾✮✳

❲❡ ♥♦✇ ❝♦♠♣✉t❡ t❤❡ ❝♦st ♦❢ ❝♦♠♣❡t✐t✐♦♥ ❢♦r ■❙Ps✱ t❤r♦✉❣❤ t❤❡ r❛t✐♦ ♦❢ t❤❡✐r
t♦t❛❧ r❡✈❡♥✉❡s ✇✐t❤♦✉t ❝♦♦♣❡r❛t✐♦♥ ✭✐✳❡✳✱ ❛t t❤❡ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠✮ ❛♥❞ ✇✐t❤
❝♦❧❧❛❜♦r❛t✐♦♥✳ ❚❤❛t r❛t✐♦ ❡q✉❛❧s

U♣❡❡r,◆❊
A + U♣❡❡r,◆❊

B

U♣❡❡r
max

= 2
(

1−
α

2

)1/α

.

◆♦t✐❝❡ t❤❛t ✐t ❞♦❡s ♥♦t ❞❡♣❡♥❞ ♦♥ p0✳ ❚❤❛t r❛t✐♦✱ ♣❧♦tt❡❞ ✐♥ ❋✐❣✉r❡ ✸ ✐♥ t❡r♠s
♦❢ α✱ ❝❛♥ ❛❧s♦ ❜❡ ❞❡✜♥❡❞ ❛s t❤❡ ✐♥✈❡rs❡ ♦❢ t❤❡ ♣r✐❝❡ ♦❢ ❛♥❛r❝❤② ❬✷✵❪✱ r❡♣r❡s❡♥t✐♥❣
t❤❡ ❧♦ss ♦❢ ❡✣❝✐❡♥❝② ✐♥ t❡r♠s ♦❢ ■❙Ps✬ r❡✈❡♥✉❡s ❞✉❡ t♦ ♥♦♥ ❝♦♦♣❡r❛t✐♦♥✳ ❚❤❡
✜❣✉r❡ s❤♦✇s t❤❛t t❤❡ ❧❛r❣❡r t❤❡ ✉s❡r s❡♥s✐t✐✈✐t② t♦ ♣r✐❝❡s✱ t❤❡ ♠♦r❡ ■❙Ps ❧♦s❡ ❜②
♥♦t ❝♦♦♣❡r❛t✐♥❣✳

❚♦ ❢✉rt❤❡r ✐❧❧✉str❛t❡ t❤❡ ❡q✉✐❧✐❜r✐✉♠ ✐♥ t❡r♠s ♦❢ α✱ ✇❡ r❡s♣❡❝t✐✈❡❧② ❞r❛✇ ✐♥
❋✐❣✉r❡s ✹ ❛♥❞ ✺ t❤❡ ✉s❡r ✇❡❧❢❛r❡ ❛♥❞ t♦t❛❧ ♣r♦✈✐❞❡r r❡✈❡♥✉❡s ✭❜♦t❤ ✇✐t❤ ❛♥❞
✇✐t❤♦✉t ❝♦♦♣❡r❛t✐♦♥✮ ✇❤❡♥ 1 < α < 2✳ ■t ❝❛♥ ❜❡ r❡❛❞✐❧② ❝❤❡❝❦❡❞ t❤❛t ❛ ❧❛r❣❡r
s❡♥s✐t✐✈✐t② t♦ ♣r✐❝❡ ✭✐✳❡✳✱ ❛ ❧❛r❣❡r α✮ ②✐❡❧❞s ❛ ❧❛r❣❡r ✉s❡r ✇❡❧❢❛r❡ ❛♥❞ s♠❛❧❧❡r
■❙Ps r❡✈❡♥✉❡s✱ ❛♥❞ ❛❧s♦ t❤❛t ❛ ♣r✐❝❡ ❝♦♠♣❡t✐t✐♦♥ ❛♠♦♥❣ ■❙Ps ✐s ❜❡tt❡r ❢♦r ✉s❡rs✱
t❤✐s ✐♠♣r♦✈❡♠❡♥t ✐♥❝r❡❛s✐♥❣ ✇✐t❤ α ❜❡❝❛✉s❡ t❤❡ ♣r✐❝❡ s❡♥s✐t✐✈✐t② ❡①❛❝❡r❜❛t❡s
❝♦♠♣❡t✐t✐♦♥ ❛s ❤✐❣❤❧✐❣❤t❡❞ ❜❡❢♦r❡✳

■♥ t❤❡ ❤❡t❡r♦❣❡♥❡♦✉s ❝❛s❡✱ t❤❡ ❞❡r✐✈❛t✐✈❡s ♦❢ t❤❡ s✉♠ ♦❢ ♣r♦✈✐❞❡rs ✉t✐❧✐t✐❡s
U♣❡❡r

A + U♣❡❡r

B ❛r❡

∂(U♣❡❡r

A + U♣❡❡r

B )

∂pA
=

p1−αA

A + (1− αA)pA(p
−αB

B + p−α0

0 ) + αAp
1−αB

B

p1+αA

A (p−αA

A + p−αB

B + p−α0

0 )2

∂(U♣❡❡r

A + U♣❡❡r

B )

∂pB
=

p1−αB

B + (1− αB)pB(p
−αA

A + p−α0

0 ) + αBp
1−αA

A

p1+αB

B (p−αA

A + p−αB

B + p−α0

0 )2
.

✶✶
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■♥ t❤❡ ❝♦♦♣❡r❛t✐✈❡ ❝❛s❡

❋✐❣✉r❡ ✺✿ ❙✉♠ ♦❢ ■❙Ps✬ r❡✈❡♥✉❡s ❛t ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ❛♥❞ ✐♥ t❤❡ ❝♦♦♣❡r❛t✐✈❡
❝❛s❡✱ ✇❤❡♥ ♣❡❡r✐♥❣✳

❍❡r❡ ❛❣❛✐♥✱ ✐❢ t❤❡r❡ ✐s ❛ i ∈ {A,B} s✉❝❤ t❤❛t αi ≤ 1✱ t❤❡ ❞❡r✐✈❛t✐✈❡ ✇✐t❤ r❡s♣❡❝t
t♦ pi ✐s ❛❧✇❛②s ♣♦s✐t✐✈❡✱ ❛♥❞ s❡tt✐♥❣ pi = ∞ ✐s t❤❡ ♦♣t✐♠❛❧ str❛t❡❣②✳ ❚❤❡♥ t❤❡
t♦t❛❧ r❡✈❡♥✉❡ ✐s ✐♥✜♥✐t❡ ✇❤❛t❡✈❡r t❤❡ ✈❛❧✉❡ ♦❢ pj ❢♦r j 6= i✳ ◆♦✇✱ ✐❢ αA, αB > 1✱
t❤❡ s②st❡♠

p1−αA

A + αAp
1−αB

B − (αA − 1)pA
(

p−αB

B + p−α0

0

)

= 0

p1−αB

B + αBp
1−αA

A − (αB − 1)pB
(

p−αA

A + p−α0

0

)

= 0

❧❡❛❞s t♦ pB =
αB(αA − 1)

αA(αB − 1)
pA✳ ■♥❞❡❡❞✱ αB t✐♠❡s t❤❡ ✜rst ❡q✉❛t✐♦♥ ♠✐♥✉s αA

t✐♠❡s t❤❡ s❡❝♦♥❞ ♦♥❡ ❣✐✈❡s (αB(αA − 1)pA − αA(αB − 1)pB) (p
−αA

A + p−αB

B +
p−α0

0 ) = 0✳ ❍♦✇❡✈❡r✱ ✇❡ ❞✐❞ ♥♦t r❡❛❝❤ ❛♥ ❛♥❛❧②t✐❝❛❧ ❡①♣r❡ss✐♦♥ ❢♦r t❤❡ ♦♣t✐♠❛❧
✈❛❧✉❡ ♦❢ pA✱ t❤❛t ❝❛♥ ❜❡ ❝♦♠♣✉t❡❞ ♥✉♠❡r✐❝❛❧❧②✳

✹ ❙❝❡♥❛r✐♦ ✷✿ ◆♦ tr❛✣❝ ❡①❝❤❛♥❣❡❞ ❜❡t✇❡❡♥ ■❙Ps

❇❡❝❛✉s❡ ♦❢ t❤❡ ♣♦t❡♥t✐❛❧ tr❛✣❝ ❛s②♠♠❡tr② ❜❡t✇❡❡♥ ■❙Ps✱ t❤❡ ♣❡❡r✐♥❣ ❛❣r❡❡♠❡♥t
♦❢ ♣r❡✈✐♦✉s s❡❝t✐♦♥ ♠❛② ♥♦t s❡❡♠ s❛t✐s❢❛❝t♦r② ❢♦r ♦♥❡ ■❙P✳ ❚✇♦ ❛❧t❡r♥❛t✐✈❡s
❛r❡ ❝♦♥s✐❞❡r❡❞ ✐♥ t❤✐s ♣❛♣❡r✿ t♦ ❜r❡❛❦ t❤❡ ❝♦♥♥❡❝t✐♦♥ ❜❡t✇❡❡♥ ■❙Ps s♦ t❤❛t
s✉❜s❝r✐❜❡rs ♦❢ ❛ ♣r♦✈✐❞❡r ❤❛✈❡ ❛❝❝❡ss t♦ t❤❡ ❝♦♥t❡♥t ♦❢ t❤❛t ♣r♦✈✐❞❡r ♦♥❧②✱ ♦r t♦
s❡t ❛ tr❛♥s✐t ♣r✐❝❡ s✉❝❤ t❤❛t ❛♥ ■❙P ❤❛s t♦ ♣❛② ❢♦r t❤❡ ❝♦♥t❡♥t ❤♦st❡❞ ❜② t❤❡
❝♦♠♣❡t✐t♦r ❛♥❞ ❛❝❝❡ss❡❞ ❜② ✐ts ♦✇♥ ❝✉st♦♠❡rs ✭t❤✐s ❧❛st s❝❤❡♠❡ ✐s t❤❡ t♦♣✐❝ ♦❢ t❤❡
♥❡①t s❡❝t✐♦♥✮✳ ❘❡♠❛r❦ ❤❡r❡ t❤❛t ❛ t❤r❡❛t t♦ ❜r❡❛❦ t❤❡ ❝♦♥♥❡❝t✐♦♥ ❝❛♥ ❜❡ r❛✐s❡❞
❜② ❜♦t❤ ♣❛rt✐❡s✿ t❤❡ ■❙P ✇✐s❤✐♥❣ t♦ ❞❡✈✐❛t❡ ❢r♦♠ t❤❡ ♣❡❡r✐♥❣ ❛❣r❡❡♠❡♥t t♦ ❢♦r❝❡
✐ts ♦♣♣♦♥❡♥t t♦ ❢♦❧❧♦✇ t❤❡ tr❛♥s❛❝t✐♦♥✱ ❜✉t ❛❧s♦ t❤❡ ■❙P t♦ ✇❤✐❝❤ t❤❡ ❞❡✈✐❛t✐♦♥
✐s ♣r♦♣♦s❡❞✱ ✐❢ t❤❡ ♦✉t❝♦♠❡ ♦❢ t❤❡ t❤r❡❛t ✐s ♥♦t ❢❛✈♦r❛❜❧❡ t♦ t❤❡ ♣r♦♣♦s❡r✳ ❲❡
❛✐♠ ✐♥ t❤✐s s❡❝t✐♦♥ ❛t st✉❞②✐♥❣ ✇❤❛t ❤❛♣♣❡♥s ✐❢ t❤❡r❡ ✐s ♥♦ tr❛✣❝ ❡①❝❤❛♥❣❡❞
❜❡t✇❡❡♥ ■❙Ps✱ ❛♥❞ ✐❢ ✇❡ ❝❛♥ ✐♥❞❡♥t✐❢② ❛ ❧♦s❡r ❛♥❞✴♦r ❛ ✇✐♥♥❡r✳ ❘❡♠❛r❦ t❤❛t
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❜r❡❛❦✐♥❣ t❤❡ tr❛♥s✐t ♣♦ss✐❜✐❧✐t② ✐s ♥♦t ♥❡❝❡ss❛r✐❧② ❜❡♥❡✜❝✐❛❧ ❢♦r ❛ ♣r♦✈✐❞❡r s✐♥❝❡
✉s❡rs ❤❛✈❡ ❛❝❝❡ss t♦ ❧❡ss ❝♦♥t❡♥t ❛♥❞ ♠❛② t❤❡r❡❢♦r❡ ♣r❡❢❡r ♥♦t t♦ s✉❜s❝r✐❜❡ t♦
❛♥② ♣r♦✈✐❞❡r✳ ■t ✐s ✐♥t❡r❡st✐♥❣ t♦ ♥♦t❡ t❤❛t ❜r❡❛❦✐♥❣ t❤❡ ❝♦♥♥❡❝t✐♦♥ ❜❡t✇❡❡♥
■❙Ps ❤❛s ❜❡❡♥ ✐♠♣❧❡♠❡♥t❡❞ ✐♥ t❤❡ ♣❛st❀ t❤✐s ✇❛s ❢♦r ✐♥st❛♥❝❡ t❤❡ ❝❛s❡ ✐♥ ✷✵✵✺
❞✉r✐♥❣ ❛ ❞✐s♣✉t❡ ❜❡t✇❡❡♥ t❤❡ ■❙Ps ❈♦❣❡♥t ❛♥❞ ▲❡✈❡❧ ✸✱ ✇✐t❤ ❛s ❛ ❝♦♥s❡q✉❡♥❝❡
✉♥❞❡❧✐✈❡r❡❞ ❡♠❛✐❧s ❛♥❞ ✉♥r❡❛❝❤❛❜❧❡ ✇❡❜ s✐t❡s ❢♦r s♦♠❡ ❝✉st♦♠❡rs ❬✷✶❪✳

❋r♦♠ ♦✉r ♠♦❞❡❧✱ ✐❢ t❤❡ ❝♦♠♠✉♥✐❝❛t✐♦♥ ❧✐♥❦ ❜❡t✇❡❡♥ ■❙Ps ✐s ❝✉t✱ t❤❡♥ xA = x
❛♥❞ xB = 1− x✱ ❛♥❞ ❢r♦♠ ✭✸✮✱ t❤❡ ■❙P r❡✈❡♥✉❡s ❛r❡

U ❝✉t
A (pA, pB , p0) = pA

(x/pA)
α

(x/pA)α + ((1− x)/pB)α + 1/pα0

U ❝✉t
B (pA, pB , p0) = pB

((1− x)/pB)
α

(x/pA)α + ((1− x)/pB)α + 1/pα0
.

❚❤❡ ♥❡①t ♣r♦♣♦s✐t✐♦♥ ❝❤❛r❛❝t❡r✐③❡s t❤❡ ♦✉t❝♦♠❡ ♦❢ t❤❡ ❝♦♠♣❡t✐t✐♦♥ ❜❡t✇❡❡♥
■❙Ps ✐♥ t❤✐s ❝❛s❡✳ ❍❡r❡ t♦♦✱ (pA, pB) = (0, 0) ✐s ❛ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ❜✉t t❤❡ ❢r❡❡
str❛t❡❣② ✐s ❛ str✐❝t❧② ❞♦♠✐♥❛t❡❞ str❛t❡❣② ✉♥❧❡ss t❤❡ ♦t❤❡r ■❙P ✐s ❞♦✐♥❣ t❤❡ s❛♠❡
s♦ t❤❛t ✇❡ ✇✐❧❧ ❛❣❛✐♥ ✐❣♥♦r❡ t❤✐s str❛t❡❣② ✇❤❡♥ ❛ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ❞✐✛❡r❡♥t
❢r♦♠ (0, 0) ❡①✐sts✳

Pr♦♣♦s✐t✐♦♥ ✸✳ ■❢ 1 < α ≤ 2 ❛♥❞ 0 < x < 1✱ t❤❡r❡ ❡①✐sts ❛ ✉♥✐q✉❡ ◆❛s❤
❡q✉✐❧✐❜r✐✉♠ ❞✐✛❡r❡♥t ❢r♦♠ (0, 0)✱ ✇✐t❤ ❡q✉✐❧✐❜r✐✉♠ ♣r✐❝❡s p❝✉t,◆❊A = xp❝✉t,◆❊ ❛♥❞

p❝✉t,◆❊B = (1− x)p❝✉t,◆❊✱ ✇❤❡r❡

p❝✉t,◆❊ = p♣❡❡r,◆❊ =

(

2− α

α− 1

)1/α

p0.

❚❤❡ ■❙Ps✬ r❡✈❡♥✉❡s ❛r❡ t❤❡♥ U❝✉t,◆❊
A = xU❝✉t,◆❊ ❛♥❞ U❝✉t,◆❊

B = (1−x)U❝✉t,◆❊✱
✇❤❡r❡

U❝✉t,◆❊ =
α− 1

α
p❝✉t,◆❊ = (2− α)1/α

(α− 1)1−1/α

α
p0.

❚❤❡ ❝❛s❡ α < 1 r❡s✉❧ts ✐♥ ✐♥✜♥✐t❡ ♣r✐❝❡s ❛t ❡q✉✐❧✐❜r✐✉♠✱ ❛♥❞ α ≥ 2 ❧❡❛❞s t♦ ❛
♣r✐❝❡ ✇❛r✱ s♦ t❤❛t (0, 0) ✐s t❤❡ ✉♥✐q✉❡ ❡q✉✐❧✐❜r✐✉♠✳

Pr♦♦❢✳ ❚❤❡ ♣r♦♦❢ ♠✐♠✐❝s t❤❡ ♦♥❡ ♦❢ Pr♦♣♦s✐t✐♦♥ ✶✱ s✐♥❝❡ ✇❡ ❛❣❛✐♥ ❤❛✈❡ ❢♦r ❡❛❝❤
♣r♦✈✐❞❡r i

∂U ❝✉t
i

∂pi
(pA, pB , p0) = σi(1− α(1− σi))

✇✐t❤ σi =
(xi/pi)

α

(x/pA)α+((1−x)/pB)α+1/pα
0

✳

❚❤❡r❡❢♦r❡ t❤❡ ❜❡st r❡s♣♦♥s❡ ♦❢ ■❙P i ✇✐t❤ j 6= i ✐s ❇❘i(pj) = +∞ ✐❢ α ≤ 1✱
❛♥❞

❇❘i(pj) = xi

(

(α− 1)

((

xj

pj

)α

+

(

1

p0

)α))−1/α

✐❢ α > 1✳ ■♥ t❤❛t ❧❛tt❡r ❝❛s❡✱ ❛♥ ❡q✉✐❧✐❜r✐✉♠ ✇✐t❤ ♣♦s✐t✐✈❡ ♣r✐❝❡s ✇♦✉❧❞ ❝♦rr❡✲
s♣♦♥❞ t♦ σA = σB = 1 − 1/α✱ ✇❤✐❝❤ ✐s ♦♥❧② ♣♦ss✐❜❧❡ ✐❢ α ≤ 2✱ ❛♥❞ ②✐❡❧❞s t❤❡
♣r✐❝❡s ✐♥ t❤❡ ♣r♦♣♦s✐t✐♦♥✳ ❋✐♥❛❧❧②✱ ✐❢ α > 2 ✇❡ r❡♠❛r❦ t❤❛t ❇❘i(pj) < pj

xi

xj
✱ s♦

t❤❛t s✉❝❝❡ss✐✈❡ ❜❡st r❡s♣♦♥s❡s ❧❡❛❞ t♦ ♥✉❧❧ ♣r✐❝❡s✳
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❆t ❛ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠✱ ■❙Ps✬ ♣r✐❝❡ ✭r❡s♣✳ r❡✈❡♥✉❡✮ ✐s ❡q✉❛❧ t♦ t❤❡ ♣r✐❝❡ ✭r❡s♣✳
r❡✈❡♥✉❡✮ t❤❡② s❡t ✭r❡s♣✳ ❣❡t✮ ✐♥ t❤❡ ♣❡❡r✐♥❣ s❝❡♥❛r✐♦ ♦❢ ❙❡❝t✐♦♥ ✸✱ ♠✉❧t✐♣❧✐❡❞ ❜②
t❤❡ ♣r♦♣♦rt✐♦♥ ♦❢ ❝♦♥t❡♥t t❤❡② ❝♦♥tr♦❧✳ ❆s ❛♥ ✐♠♣♦rt❛♥t ❝♦♥❝❧✉s✐♦♥✱ ♥♦ ■❙P i ❤❛s
❛♥ ✐♥t❡r❡st ✐♥ ❜r❡❛❦✐♥❣ t❤❡ ❝♦♥♥❡❝t✐♦♥✱ ✇❤❛t❡✈❡r ✐ts ❝♦♥t❡♥t s❤❛r❡ xi✱ ❜❡❝❛✉s❡
✐ts r❡✈❡♥✉❡ ✇✐❧❧ ❜❡ r❡❞✉❝❡❞ ✭♦r t❤❡ s❛♠❡ ✐❢ xi = 1✮✳

❘❡♠❛r❦ ❛❧s♦ t❤❛t t❤❡ s✉♠ ♦❢ t❤❡ ■❙Ps✬ r❡✈❡♥✉❡ ✐s xU ❝✉t,◆❊+(1−x)U ❝✉t,◆❊ =

U ❝✉t,◆❊ = U♣❡❡r,◆❊
A = U♣❡❡r,◆❊

B ✱ ✐✳❡✳✱ ❡①❛❝t❧② t❤❡ r❡✈❡♥✉❡ ❛ s✐♥❣❧❡ ♣r♦✈✐❞❡r ✭A ♦r
B✮ ✇♦✉❧❞ ❣❡t ✐♥ ❝❛s❡ ♦❢ ♣❡❡r✐♥❣✳ ❙✉r♣r✐s✐♥❣❧②✱ ✐❢ ♦♥❡ ■❙P ❝♦♥tr♦❧s t❤❡ ✇❤♦❧❡ s❡t ♦❢
❝♦♥t❡♥ts ✭❢♦r ❡①❛♠♣❧❡ ✐❢ x = 1✱ ✐✳❡✳✱ ❛❧❧ ❈Ps ❛r❡ ❛tt❛❝❤❡❞ t♦ ■❙P A✮✱ t❤❡♥ ✐t ❣❡ts
❡①❛❝t❧② t❤❡ s❛♠❡ r❡✈❡♥✉❡ ❛s ✐♥ t❤❡ ✜rst s❝❡♥❛r✐♦✳ ❆t ❛ ✜rst ❣✉❡ss✱ t❤♦✉❣❤✱ ✇❡
❝♦✉❧❞ ❤❛✈❡ ❡①♣❡❝t❡❞ t❤❛t s✐♥❝❡ t❤❡ ♦♣♣♦♥❡♥t ❤❛s ♥♦ ❝♦♥t❡♥t✱ ❛❧❧ t❤❡ ❝✉st♦♠❡rs
✐t ❤❛s ✐♥ ❝❛s❡ ♦❢ ♣❡❡r✐♥❣ ✇♦✉❧❞ ❥♦✐♥ t❤❡ ♠♦♥♦♣♦❧② ✇❤❡♥ t❤❡ tr❛♥s✐t ❧✐♥❦ ✐s ❝✉t✱
r❡s✉❧t✐♥❣ ✐♥ ❛ ♠♦♥♦♣♦❧② r❡✈❡♥✉❡ ❜❡✐♥❣ t❤❡ s✉♠ ♦❢ r❡✈❡♥✉❡s ✐♥ ❝❛s❡ ♦❢ ♣❡❡r✐♥❣✳
❇✉t t❤✐s ❛❝t✉❛❧❧② ♥❡❣❧❡❝ts t❤❡ ❢❛❝t t❤❛t ✇✐t❤ t❤❡ ❧♦❣✐t ♠♦❞❡❧✱ t❤❛t ❡♥❝♦♠♣❛ss❡s
♦t❤❡r ❡✛❡❝ts s✉❝❤ ❛s r❡♣✉t❛t✐♦♥✱ s♦♠❡ ♦❢ t❤❡ ❝✉st♦♠❡rs ♦❢ ❝♦♥t❡♥t✲❧❡ss ♣r♦✈✐❞❡r
♣r❡❢❡r ♥♦t t♦ ❥♦✐♥ ❛♥② ♣r♦✈✐❞❡r ✭t❤❡ ♦✉ts✐❞❡ ♦♣t✐♦♥✮ t❤❛♥ t♦ ❥♦✐♥ t❤❡ ♠♦♥♦♣♦❧②✳ ■♥
♦t❤❡r ✇♦r❞s✱ t❤❡ ♣r♦❜❛❜✐❧✐t② ♦❢ t❤❡ ♦✉ts✐❞❡ ♦♣t✐♦♥ ✇❤❡♥ t❤❡r❡ ✐s ❛ s✐♥❣❧❡ ♣r♦✈✐❞❡r
✐s ❧❛r❣❡r t♦ ✇❤❡♥ t❤❡r❡ ❛r❡ s❡✈❡r❛❧✱ ❛s ❝♦✉❧❞ ❜❡ ♦❜s❡r✈❡❞ ✐♥ ✭✼✮✳ ❆❝t✉❛❧❧②✱ t❤❡

◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ (p❝✉t,◆❊A , p❝✉t,◆❊B ) ✇❤❡♥ 0 < x < 1 ❞♦❡s ♥♦t ❝♦♥✈❡r❣❡ t♦ t❤❡
♦♣t✐♠❛❧ ♣r✐❝✐♥❣ ✇❤❡♥ x = 1✳ ■♥❞❡❡❞✱ t❤❡ ❧❛tt❡r ❝♦rr❡s♣♦♥❞s t♦ ❛ ♠♦♥♦♣♦❧②✱ ❢♦r

✇❤✐❝❤ t❤❡ ♦♣t✐♠❛❧ ♣r✐❝❡ ✐s p♠♦♥♦max =
(

1
α−1

)1/α

✱ ✇❤❡r❡❛s p❝✉t,◆❊A →

(

2−α
α−1

)1/α

✇❤❡♥ x → 1✳ ❚❤✐s s❤♦✇s t❤❛t✱ ❡✈❡♥ ✐❢ ❛♥ ■❙P ♦✇♥s ❛ ✈❡r② s♠❛❧❧ ♣r♦♣♦rt✐♦♥ ♦❢
❝♦♥t❡♥t✱ ✐ts ✐♠♣❛❝t ✐s ♥♦♥ ♥❡❣❧✐❣✐❜❧❡ ♦♥ t❤❡ ♦t❤❡r ■❙P✳

■♥ t❤❡ ♣r❡✈✐♦✉s s❡❝t✐♦♥ ✇❡ ❤❛✈❡ st✉❞✐❡❞ t❤❡ ❝❛s❡ ✇❤❡r❡ ■❙Ps ✇❡r❡ ❝♦♦♣❡r❛t✐♥❣
✭❛♥❞ ♣❡❡r✐♥❣✮ ✐♥ ♦r❞❡r t♦ ♠❛①✐♠✐③❡ t❤❡ s✉♠ t❤❡✐r r❡✈❡♥✉❡s✳ ❚❤♦✉❣❤ ✇❡ ❤❛✈❡
♥♦t ❧♦♦❦❡❞ ❛t ❤♦✇ t❤❡② s♣❧✐t t❤❡ t♦t❛❧ r❡✈❡♥✉❡ ❛♠♦♥❣ t❤❡♠s❡❧✈❡s✳ ❆ q✉❡st✐♦♥
✇❡ ✇♦✉❧❞ ❧✐❦❡ t♦ ❛♥s✇❡r ♥♦✇ ✐s✿ ✐s t❤❡r❡ ❛ s✐t✉❛t✐♦♥ s✉❝❤ t❤❛t t❤❡② ❜♦t❤ ❤❛✈❡ ❛♥
✐♥t❡r❡st ✐♥ ❝♦♦♣❡r❛t✐♥❣ ❢♦r ❛ ❣✐✈❡♥ r❡♣❛rt✐t✐♦♥ ♦❢ t❤❡ t♦t❛❧ r❡✈❡♥✉❡ ✇✐t❤ r❡s♣❡❝t
t♦ ❛ ♣r✐❝❡ ❝♦♠♣❡t✐t✐♦♥ ❛♥❞ ♥♦ tr❛✣❝ ❡①❝❤❛♥❣❡❄ ■❢ t❤❡ ❛♥s✇❡r ✐s ♣♦s✐t✐✈❡✱ ✇❤❛t
✐s t❤❡ ✐♥t❡r✈❛❧ s✉❝❤ t❤❛t t❤❡ ❜❛r❣❛✐♥✐♥❣ ✐s s❛t✐s❢②✐♥❣❄

▲❡t ✉s ❝♦♥s✐❞❡r ❛ r❡✈❡♥✉❡ s❤❛r✐♥❣ ❛❣r❡❡♠❡♥t ❛♠♦♥❣ ■❙Ps✱ ✇❤❡♥ ❝♦♦♣❡r❛t✐♥❣
❛♥❞ ♣❡❡r✐♥❣✱ s✉❝❤ t❤❛t ♣r♦✈✐❞❡r A ❣❡ts ❛ ♣r♦♣♦rt✐♦♥ πA ♦❢ t❤❡ t♦t❛❧ r❡✈❡♥✉❡
U♣❡❡r
max ✱ ❛♥❞ ♣r♦✈✐❞❡r B ♦❜t❛✐♥s t❤❡ r❡st✳
■❙P A ✇♦✉❧❞ t❤❡♥ ♣r❡❢❡r t❤❛t ❛❣r❡❡♠❡♥t ♦✈❡r ❛ ♣✉r❡ ❝♦♠♣❡t✐t✐✈❡ s✐t✉❛t✐♦♥

✇✐t❤ ♥♦ tr❛✣❝ ❡①❝❤❛♥❣❡✱ ✐❢ πAU
♣❡❡r
max ≥ U ❝✉t,◆❊

A = xU ❝✉t,◆❊✳ ❋r♦♠ Pr♦♣♦s✐t✐♦♥s ✷
❛♥❞ ✸✱ ✇❡ ♦❜t❛✐♥ t❤❛t t❤✐s ❤♦❧❞s ✐❢ ❛♥❞ ♦♥❧② ✐❢ πA ≥ x(1 − α/2)1/α✳ ❙✐♠✐❧❛r❧②✱
s✉❝❤ ❛♥ ❛❣r❡❡♠❡♥t ✐s ❛❝❝❡♣t❛❜❧❡ ❢♦r ■❙P B ✐❢ ❛♥❞ ♦♥❧② ✐❢ πB = 1 − πA ≥
(1− x)(1− α/2)1/α✱ s♦ t❤❛t t❤❡ ❛❣r❡❡♠❡♥t ✐s st❛❜❧❡ ✇❤❡♥

x(1− α/2)1/α ≤ πA ≤ 1− (1− x)(1− α/2)1/α.

■♥ ♣❛rt✐❝✉❧❛r✱ ✇❡ r❡♠❛r❦ t❤❛t πA = x ✐s ❛❧✇❛②s ❛♥ ❛❝❝❡♣t❛❜❧❡ s❤❛r✐♥❣✱ ❛♥❞ t❤❛t
t❤❡ ✇✐❞t❤ ♦❢ t❤❡ st❛❜❧❡ ❛r❡❛ ❞❡❝r❡❛s❡s ✇✐t❤ α ∈ (1, 2)✳ ❋♦r ❡①❛♠♣❧❡✱ ✇❤❡♥ α
t❡♥❞s t♦ 2✱ ❛♥② r❡✈❡♥✉❡ s❤❛r✐♥❣ ♦❢ ❝♦♦♣❡r❛t✐✈❡❧② ♦❜t❛✐♥❡❞ r❡✈❡♥✉❡ ✐s ❛❝❝❡♣t❛❜❧❡
❜② ■❙Ps✱ ❜❡❝❛✉s❡ ❝♦♠♣❡t✐t✐♦♥ ✇✐t❤ s✉❝❤ ♣r✐❝❡✲s❡♥s✐t✐✈❡ ✉s❡rs ✇♦✉❧❞ ❧❡❛❞ t♦ ❛

✶✺



♣r✐❝❡ ✇❛r ❛♥❞ ♥✉❧❧ r❡✈❡♥✉❡s✳ ❖♥ t❤❡ ♦t❤❡r ♦♣♣♦s✐t❡✱ r❡♠❛r❦ t❤❛t ✇❤❡♥ α t❡♥❞s
t♦ 1 t❤❡♥ ♦♥❧② s②♠♠❡tr✐❝ s❤❛r✐♥❣ ✭πA = πB = 1/2) ✐s ❛❝❝❡♣t❛❜❧❡✱ s✐♥❝❡ ✐♥ t❤❛t
❝❛s❡ ❡❛❝❤ ♣r♦✈✐❞❡r ❝♦✉❧❞ ♦❜t❛✐♥ ❛ r❡✈❡♥✉❡ U♣❡❡r

max /2 ✐♥ t❤❡ ❝♦♠♣❡t✐t✐✈❡ s✐t✉❛t✐♦♥
✇✐t❤ ♥♦ tr❛✣❝ ❡①❝❤❛♥❣❡s✳ ❋✐❣✉r❡ ✻ ❞✐s♣❧❛②s t❤❛t ❛❝❝❡♣t❛❜❧❡ r❡❣✐♦♥ ❢♦r πA ✐♥
t❡r♠s ♦❢ x✱ ✇✐t❤ α = 1.5✳
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❋✐❣✉r❡ ✻✿ ■♥ ❣r❛②✱ t❤❡ s❡t ♦❢ ♣r♦♣♦rt✐♦♥s ♦❢ U♣❡❡r
max t❤❛t ■❙P A ❝❛♥ r❡❝❡✐✈❡ s♦ t❤❛t

❜♦t❤ ■❙Ps ❛❝❝❡♣t t♦ ❝♦♦♣❡r❛t❡ ✇✐t❤ r❡s♣❡❝t t♦ ❛ ❜r♦❦❡♥ ❝♦♥♥❡❝t✐♦♥ t❤r❡❛t✳ ❍❡r❡
α = 1.5✳ ❚❤❡ ❧✐♥❡ y = x ✐s ❞r❛✇♥✳

❋✐♥❛❧❧②✱ ❋✐❣✉r❡ ✼ s❤♦✇s t❤❡ ✉t✐❧✐t✐❡s ♦❢ ■❙Ps ❛♥❞ ✉s❡r ✇❡❧❢❛r❡ ❛s ❛ ❢✉♥❝t✐♦♥ ♦❢
t❤❡ ♣❛r❛♠❡t❡r α✳ ❚❤❡ s❤❛♣❡ ♦❢ t❤❡ ❝✉r✈❡s ✐s t❤❡ s❛♠❡ ❛s ✐♥ ❙❝❡♥❛r✐♦ ✶✱ ❡✈❡♥ ✐❢
t❤❡ ✉t✐❧✐t✐❡s ♦❢ ■❙Ps ❛r❡ ❛❜♦✉t t✇♦ t✐♠❡s s♠❛❧❧❡r✳

■♥ t❤❡ ❤❡t❡r♦❣❡♥❡♦✉s ❝❛s❡ ✇✐t❤ ❞✐✛❡r❡♥t αs✱ t❤❡ r❡s✉❧ts ❝❛♥ ❛❣❛✐♥ ❜❡ ♦❜t❛✐♥❡❞

s✐♠✐❧❛r❧②✱ ✉s✐♥❣ t❤❛t
∂U❝✉t

i

∂pi
= σi(1 − αi(1 − σi))✳ ■t ❝❛♥ ❜❡ s❤♦✇♥ t❤❛t✱ ❛t

❡q✉✐❧✐❜r✐✉♠✿

• ■❢ t❤❡r❡ ✐s ♦♥❡ i ∈ {A,B} s✉❝❤ t❤❛t αi ≤ 1✱ t❤❡♥ ❛❣❛✐♥ p❝✉t,◆❊i = ∞✳ ❚❤❡

♦♣♣♦♥❡♥t j 6= i ❝❤♦♦s❡s p❝✉t,◆❊j = ∞ ❢♦r t❤❡ s❛♠❡ r❡❛s♦♥ ✐❢ αj ≤ 1✱ ❛♥❞

p♣❡❡r,◆❊j = xj((αj − 1)p−α0

0 )(−1/αj) ♦t❤❡r✇✐s❡✳

• ■❢ αA, αB > 1✱

✕ ■❢ (1/αA) + (1/αB) ≥ 1✱ t❤❡r❡ ✐s ❛ ✉♥✐q✉❡ s♦❧✉t✐♦♥ t♦ t❤❡ s②st❡♠ ♦❢
❡q✉❛t✐♦♥s ✇✐t❤ ♥✉❧❧ ❞❡r✐✈❛t✐✈❡s✱ ❣✐✈✐♥❣

p❝✉t,◆❊A = x

(

αBαA − αB − αA

αB(1− αA)

)1/αA

p
α0/αA

0

p❝✉t,◆❊B = (1− x)

(

αAαB − αA − αB

αA(1− αB)

)1/αB

p
α0/αB

0 .

✕ ■❢ (1/αA) + (1/αB) ≤ 1✱ t❤❡♥ ✇❡ ❛❣❛✐♥ ❤❛✈❡ ❛ ♣r✐❝❡ ✇❛r ✇✐t❤✱ ❛t

❡q✉✐❧✐❜r✐✉♠✱ p❝✉t,◆❊A = p❝✉t,◆❊B = 0✳

✶✻
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t✐
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t✐
❡s

✭❜✮ ❙✉♠ ♦❢ ■❙P✬s ✉t✐❧✐t✐❡s

❋✐❣✉r❡ ✼✿ ❯t✐❧✐t✐❡s ❛t ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠✱ ✇✐t❤ ♥♦ ❡①❝❤❛♥❣❡❞ tr❛✣❝✱ ✇✐t❤ x = 0.8✳

✺ ❙❝❡♥❛r✐♦ ✸✿ tr❛♥s✐t ♣r✐❝✐♥❣

■♥ t❤❡ t✇♦ ♣r❡✈✐♦✉s s❡❝t✐♦♥s✱ ✇❡ ❤❛✈❡ ❛♥❛❧②③❡❞ t❤❡ ❝♦♠♣❡t✐t✐♦♥ ❜❡t✇❡❡♥ ■❙Ps
✇✐t❤ ♣❡❡r✐♥❣ ❛♥❞ ✇✐t❤♦✉t ❛♥② ❡①❝❤❛♥❣❡❞ tr❛✣❝✳ ❲❡ ♥♦✇ ❛❞❞r❡ss t❤❡ ❝❛s❡ ✇❤❡r❡
t❤❡ tr❛✣❝ tr❛♥s❢❡rr❡❞ ❢r♦♠ ❛♥ ■❙P t♦ t❤❡ ♦t❤❡r ✐s ❝♦♠♣❡♥s❛t❡❞ ❢♦r ❜② s♦♠❡
♣❛②♠❡♥t✳ ❲❡ ✜rst ❞❡t❡r♠✐♥❡ ✐❢ ❛ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ❡①✐sts ✐♥ t❤❛t ❝♦♥t❡①t ✇❤❡♥
s✉❝❤ ❛ tr❛♥s✐t ✉♥✐t ♣r✐❝❡ t > 0 ✐s ❞❡t❡r♠✐♥❡❞✱ ❛♥❞ ✇❡ ❝❤❛r❛❝t❡r✐③❡ ✐t✳ ❚❤❡♥✱ ✇❡
❞✐s❝✉ss ❤♦✇ t❤❡ tr❛♥s✐t ♣r✐❝❡ ❝❛♥ ❜❡ ❞❡t❡r♠✐♥❡❞ ♦♥ t♦♣ ♦❢ t❤❡ ♣r✐❝✐♥❣ ❣❛♠❡ ❢♦r
❝✉st♦♠❡rs✱ ❜② ❛ r❡❣✉❧❛t♦r ♦r t❤r♦✉❣❤ ❛ ❜❛r❣❛✐♥✐♥❣ ♣❤❛s❡ ❜❡t✇❡❡♥ ■❙Ps✳ ❘❡♠❛r❦
t❤❛t✱ ❤❡r❡ ❛❣❛✐♥✱ t❤❡ tr❛♥s✐t ♣r✐❝❡ ✐s ❝❤♦s❡♥ ✜rst✱ ❜✉t ❜② ❜❛❝❦✇❛r❞ ✐♥❞✉❝t✐♦♥✱
❛♥t✐❝✐♣❛t✐♥❣ t❤❡ ❡q✉✐❧✐❜r✐✉♠ ♦❢ t❤❡ ✭♣r✐❝✐♥❣✮ ❣❛♠❡ ♣❧❛②❡❞ ❛❢t❡r✇❛r❞s✳

❲❡ ❜❡❣✐♥ ❜② st✉❞②✐♥❣ t❤❡ ❣❛♠❡ ❣✐✈❡♥ ❜② t❤❡ r❡✈❡♥✉❡ ❢✉♥❝t✐♦♥s ✭✺✮✱ ✇✐t❤ ❛
✜①❡❞ tr❛♥s✐t ♣r✐❝❡ t > 0✱ t❤❡ ❝❛s❡ t = 0 ❝♦rr❡s♣♦♥❞✐♥❣ t♦ ♦✉r ❙❝❡♥❛r✐♦ ✶✳ ❆ ✜rst
❞✐✛❡r❡♥❝❡ ✇✐t❤ t❤❡ ♣r❡✈✐♦✉s s❝❡♥❛r✐♦s ✐s t❤❛t t❤❡ ♣r✐❝✐♥❣ (0, 0) ✐s ♥♦ ❧♦♥❣❡r ❛
◆❛s❤ ❡q✉✐❧✐❜r✐✉♠✳ ■♥❞❡❡❞✱ ✇❤❡♥ ❛♥ ■❙P s❡ts ✐ts ♣r✐❝❡ t♦ ③❡r♦✱ ✐t ❣❡ts ♥♦ r❡✈❡♥✉❡
❢r♦♠ t❤❡ ✉s❡rs✱ ❜✉t ♦♥❧② ❢r♦♠ t❤❡ tr❛♥s❢❡rr❡❞ tr❛✣❝ ❝❤❛r❣❡❞ t♦ t❤❡ ♦t❤❡r ■❙P✱
✇❤✐❧❡ ✐t ❤❛s t♦ ♣❛② ❢♦r ✐ts ❝❧✐❡♥t ❛❝❝❡ss✐♥❣ t❤❡ ❝♦♥t❡♥t ❛tt❛❝❤❡❞ t♦ t❤❡ ❝♦♠♣❡t✐t♦r
■❙P✳ ❚❤❡♥ t✇♦ ❝❛s❡s ❛♣♣❡❛r✿

• ■❢ t❤❡ ❛♠♦✉♥t ♦❢ tr❛✣❝ tr❛♥s❢❡rr❡❞ ❜❡t✇❡❡♥ ❡❛❝❤ ■❙P ✐s ❡①❛❝t❧② t❤❡ s❛♠❡✱
✐✳❡✳✱ ∆A,B = 0 ✭s❡❡ ✭✹✮✮✱ t❤❡♥ ❜♦t❤ ■❙Ps ❡❛r♥ ③❡r♦ r❡✈❡♥✉❡✳ ❇✉t s✐♥❝❡
❛t ❧❡❛st ♦♥❡ ■❙P ❤❛s s♦♠❡ ❝♦♥t❡♥t ❛ss♦❝✐❛t❡❞ t♦ ✐t ✲ s❛②✱ ✇✳❧✳♦✳❣✳ ■❙P A✱
✐✳❡✳ x > 0 ✲✱ t❤❛t ♦♥❡ ❝♦✉❧❞ ❣❡t ❛ str✐❝t❧② ♣♦s✐t✐✈❡ r❡✈❡♥✉❡ ❜② s❡tt✐♥❣ ❛♥②
str✐❝t❧② ♣♦s✐t✐✈❡ ♣r✐❝❡ pA > 0✿ t❤❡ ♠❛r❦❡t s❤❛r❡s ✇♦✉❧❞ ❜❡ θA = 0 ❛♥❞
θB = 1✱ ❧❡❛❞✐♥❣ t♦ ❛ r❡✈❡♥✉❡ UA = tx > 0✳

• ■❢ ∆A,B 6= 0✱ t❤❡♥ ♦♥❡ ■❙P ✭■❙P A ✐❢ ∆A,B < 0✱ ■❙P B ♦t❤❡r✇✐s❡✮ ❣❡ts
❛ str✐❝t❧② ♥❡❣❛t✐✈❡ r❡✈❡♥✉❡✱ ✇❤❡r❡❛s ✐t ❝❛♥ ❡♥s✉r❡ ❛ ♥♦♥♥❡❣❛t✐✈❡ ♦♥❡ ❜②
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s❡tt✐♥❣ ❛ str✐❝t❧② ♣♦s✐t✐✈❡ ♣r✐❝❡ ❛♥❞ ❤❛✈✐♥❣ ♥♦ s✉❜s❝r✐❜❡rs✱ ❤❡♥❝❡ ♦♥❧②
❝♦❧❧❡❝t✐♥❣ r❡✈❡♥✉❡ ❢r♦♠ tr❛✣❝ tr❛♥s✐t✳

■♥ ♦r❞❡r t♦ ❞❡t❡r♠✐♥❡ t❤❡ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ♦❢ t❤❡ ❣❛♠❡✱ ✇❡ ✜rst ❛♥❛❧②③❡ t❤❡
❜❡st✲r❡s♣♦♥s❡ ❢✉♥❝t✐♦♥s ♦❢ ❡❛❝❤ ■❙P✳ ❚❤❡ ❞❡r✐✈❛t✐✈❡s ♦❢ ■❙Ps✬ r❡✈❡♥✉❡ ❢✉♥❝t✐♦♥s
❛r❡✿

∂UA

∂pA
=

K(pB)p
α
A + LA(pB)p

α−1
A + 1

p2αA
(

p−α
A + p−α

B + p−α
0

)2 , ✭✶✵✮

∂UB

∂pB
=

K(pA)p
α
B + LB(pA)p

α−1
B + 1

p2αB
(

p−α
A + p−α

B + p−α
0

)2 ,

✇❤❡r❡ K(z)
def
= (1 − α)(z−α + p−α

0 )✱ LA(pB)
def
= αt(p−α

B + (1 − x)p−α
0 )✱ ❛♥❞

LB(pA)
def
= αt(p−α

A + xp−α
0 )✳ ◆♦t✐❝❡ t❤❛t LA ≥ 0✱ LB ≥ 0✳ ❋✉rt❤❡r♠♦r❡

K(z) < 0 ✐❢ ❛♥❞ ♦♥❧② ✐❢ α > 1✱ s♦ t❤❛t UA ✭r❡s♣✳ UB✮ ✐s str✐❝t❧② ✐♥❝r❡❛s✐♥❣ ✐♥ pA
✭r❡s♣✳ pB✮ ✇❤❡♥ α ≤ 1✳ ❚❤❡r❡❢♦r❡✱ ❛s ✐♥ t❤❡ ♣r❡✈✐♦✉s s❝❡♥❛r✐♦s✱ ♣r✐❝❡s t❡♥❞ t♦
✐♥✜♥✐t② ✇❤❡♥ ✉s❡r s❡♥s✐t✐✈✐t② t♦ ♣r✐❝❡ ✐s ❧♦✇✳

Pr♦♣♦s✐t✐♦♥ ✹✳ ■❢ α ≤ 1✱ t❤❡ ♣r✐❝✐♥❣ ❣❛♠❡ ✇❤❡r❡ ■❙Ps s❡❡❦ t♦ ♠❛①✐♠✐③❡ t❤❡✐r
r❡✈❡♥✉❡ ❢✉♥❝t✐♦♥s ✭✺✮ ❧❡❛❞s t♦ ❡❛❝❤ ■❙P s❡tt✐♥❣ ❛♥ ✐♥✜♥✐t❡ ♣r✐❝❡✳

❲❤❡♥ α > 1✱ ✇❡ ❞♦ ♥♦t r❡❛❝❤ ❛♥ ❛♥❛❧②t✐❝❛❧ ❡①♣r❡ss✐♦♥ ♦❢ t❤❡ ❜❡st✲r❡s♣♦♥s❡
♣r✐❝❡s ♦❢ ❡❛❝❤ ■❙P✳ ◆❡✈❡rt❤❡❧❡ss✱ s❡✈❡r❛❧ ✉s❡❢✉❧ ♣r♦♣❡rt✐❡s ❛r❡ ❧✐st❡❞ ✐♥ t❤❡ ♥❡①t
♣r♦♣♦s✐t✐♦♥✱ ✇❤♦s❡ ♣r♦♦❢ ✐s ❣✐✈❡♥ ✐♥ ❆♣♣❡♥❞✐① ❆✳ ❋♦r ❝♦♥✈❡♥✐❡♥❝❡✱ ✇❡ ❞❡♥♦t❡
❜② ❇❘t

A(pB) ❛♥❞ ❇❘t
B(pA) t❤❡ ❜❡st✲r❡s♣♦♥s❡ ❝♦rr❡s♣♦♥❞❡♥❝❡s ❢♦r✱ r❡s♣❡❝t✐✈❡❧②✱

■❙P A ❛♥❞ B ✇✐t❤ tr❛♥s✐t ♣r✐❝❡ t✳

▲❡♠♠❛ ✶✳ ❆ss✉♠❡ α > 1✳ ❋♦r ❡✈❡r② x ∈ [0, 1]✱ t❤❡ ❜❡st✲r❡s♣♦♥s❡ ♣r✐❝❡ ❝♦rr❡✲
s♣♦♥❞❡♥❝❡ ♦❢ ❡❛❝❤ ■❙P t♦ t❤❡ ❝♦♠♣❡t✐t♦r ♣r✐❝✐♥❣ str❛t❡❣② s❛t✐s✜❡s t❤❡ ❢♦❧❧♦✇✐♥❣
♣r♦♣❡rt✐❡s✿

✭✐✮ ✐t ✐s s✐♥❣❧❡✲✈❛❧✉❡❞✱

✭✐✐✮ ✐t ✐s ❝♦♥t✐♥✉♦✉s✱

✭✐✐✐✮ ✐t ✐s ✉♥✐❢♦r♠❧② ❜♦✉♥❞❡❞ ✇✐t❤ str✐❝t❧② ♣♦s✐t✐✈❡ ❜♦✉♥❞s✳ ❋✉rt❤❡r♠♦r❡✱ ❡❛❝❤
■❙P ❝❛♥ ❡♥s✉r❡ ❛ str✐❝t❧② ♣♦s✐t✐✈❡ ♥❡t r❡✈❡♥✉❡ ✭t❤❛t ✐♥❝❧✉❞❡s ✉s❡r s✉❜s❝r✐♣✲
t✐♦♥s ❛♥❞ tr❛♥s✐t ♣r✐❝❡s✮✳

✭✐✈✮ ✐t ✐♥❝r❡❛s❡s ✇✐t❤ t❤❡ tr❛♥s✐t ♣r✐❝❡ t✱ ✐✳❡✳ ∀pA, pB , t, r,

❇❘t
A(pB) > ❇❘r

A(pB) ⇔ ❇❘t
B(pA) > ❇❘r

B(pA) ⇔ t > r,

✭✈✮ ❇❘t
A(pB) ✐s str✐❝t❧② ✐♥❝r❡❛s✐♥❣ ✭r❡s♣✳ str✐❝t❧② ❞❡❝r❡❛s✐♥❣✱ ❝♦♥st❛♥t✮ ✐♥

t❤❡ ❝♦♠♣❡t✐t♦r✬s ♣r✐❝❡ ✐❢ x
(αt/p0)

α

(α− 1)α−1
✐s ❧♦✇❡r t❤❛♥ ✭r❡s♣✳ ❣r❡❛t❡r t❤❛♥✱

❡q✉❛❧ t♦✮ ♦♥❡✳ ❚❤❡ s❛♠❡ r❡s✉❧t ❤♦❧❞s ❢♦r ❇❘t
B(pA) ❜② ❝♦♠♣❛r✐♥❣ (1 −

x)
(αt/p0)

α

(α− 1)α−1
t♦ ♦♥❡✳
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❚❤♦s❡ ♣r♦♣❡rt✐❡s ❝❛♥ ❜❡ ✉s❡❞ t♦ ♣r♦✈❡ t❤❡ ❡①✐st❡♥❝❡ ♦❢ ❛ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠
❢♦r t❤❡ ♣r✐❝✐♥❣ ❣❛♠❡ ♣❧❛②❡❞ ❛♠♦♥❣ ■❙Ps✱ ✐♥ t❤❡ s✐t✉❛t✐♦♥ ♦❢ ♣❛✐❞ tr❛♥s✐t✳

Pr♦♣♦s✐t✐♦♥ ✺✳ ❆ss✉♠❡ t❤❛t α > 1✳ ❈♦♥s✐❞❡r t❤❡ ❣❛♠❡ ✇❤❡r❡ t❤❡ ■❙Ps ❝♦♠♣❡t❡
♦♥ t❤❡✐r ♣r✐❝❡s pA ❛♥❞ pB t♦ ♠❛①✐♠✐③❡ t❤❡✐r r❡✈❡♥✉❡ ❣✐✈❡♥ ✐♥ ✭✺✮✳ ❚❤❡♥ t❤❡r❡

❡①✐sts ❛ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ (ptr❛♥s,◆❊A , ptr❛♥s,◆❊B ) ✇✐t❤ ptr❛♥s,◆❊A > 0 ❛♥❞ ptr❛♥s,◆❊B >
0✱ r❡s✉❧t✐♥❣ ✐♥ str✐❝t❧② ♣♦s✐t✐✈❡ r❡✈❡♥✉❡s✳

Pr♦♦❢✳ ❋r♦♠ ▲❡♠♠❛ ✶✱ t❤❡ ❜❡st✲r❡s♣♦♥s❡ ❢✉♥❝t✐♦♥ ♦❢ ❡❛❝❤ ■❙P i ✐s ❝♦♥t✐♥✉♦✉s✱
❛♥❞ ❜♦✉♥❞❡❞ ❜② str✐❝t❧② ♣♦s✐t✐✈❡ ✈❛❧✉❡s✳ ▲❡t ✉s ❞❡♥♦t❡ ❜② mi ✭r❡s♣✳ Mi✮ t❤❡
❧♦✇❡r ✭r❡s♣✳ ✉♣♣❡r✮ ❜♦✉♥❞ ♦❢ ❇❘t

i✳ ❚❤❡♥ ❝♦♥s✐❞❡r t❤❡ ❛♣♣❧✐❝❛t✐♦♥

g : [mA,MA]× [mB ,MB ] 7→ [mA,MA]× [mB ,MB ]

(pA, pB) → (❇❘t
A(pB),❇❘

t
B(pA)).

❙✐♥❝❡ g ✐s ❝♦♥t✐♥✉♦✉s ❛♥❞ [mA,MA]× [mB ,MB ] ✐s ❛ ❝♦♠♣❛❝t ❝♦♥✈❡① s✉❜s❡t ♦❢
R

2✱ ❢r♦♠ ❇r♦✉✇❡r✬s ✜①❡❞ ♣♦✐♥t t❤❡♦r❡♠✱ ✐t ❤❛s ❛ ✜①❡❞ ♣♦✐♥t t❤❛t ❝♦♥st✐t✉t❡s ❛
◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ✇✐t❤ str✐❝t❧② ♣♦s✐t✐✈❡ ♣r✐❝❡s (ptr❛♥s,◆❊A , ptr❛♥s,◆❊B ) ∈ [mA,MA]×
[mB ,MB ]✳ ❚❤❡ str✐❝t ♣♦s✐t✐✈✐t② ♦❢ t❤❡ r❡✈❡♥✉❡s ❝♦♠❡s ❢r♦♠ t❤❡ ❢❛❝t t❤❛t✱ ❢r♦♠
✐t❡♠ ✭✐✐✐✮ ♦❢ ▲❡♠♠❛ ✶✱ ❡❛❝❤ ■❙P ❝❛♥ ❛❧✇❛②s ❡♥s✉r❡ ❛ str✐❝t❧② ♣♦s✐t✐✈❡ r❡✈❡♥✉❡✱
✇❤❛t❡✈❡r t❤❡ ♦t❤❡r ■❙P ♣r✐❝❡✳

◆♦t❡ t❤❛t✱ ✉♥❧✐❦❡ ✐♥ t❤❡ ♣r❡✈✐♦✉s s❝❡♥❛r✐♦s✱ t❤❡r❡ ✐s ♥♦ ♣r✐❝❡ ✇❛r ✇❤❡♥ α ≥ 2
❛s s♦♦♥ ❛s t > 0✱ ♠❡❛♥✐♥❣ t❤❛t ❜♦t❤ ♣r♦✈✐❞❡rs ❜❡♥❡✜t ❢r♦♠ t❤❡ tr❛♥s✐t ♣r✐❝✐♥❣
❜❡❝❛✉s❡ t❤❡② t❤❡♥ r❡❛❝❤ ❛ str✐❝t❧② ♣♦s✐t✐✈❡ r❡✈❡♥✉❡✳ ■♥ t❤❡ ❢♦❧❧♦✇✐♥❣✱ ✇❡ s❤♦✇
t❤❛t ✐t ✐s ❛t t❤❡ ❡①♣❡♥s❡ ♦❢ t❤❡ ✉s❡r ✇❡❧❢❛r❡✳

❋✐❣✉r❡ ✽ s❤♦✇s ❛ ♥✉♠❡r✐❝❛❧ ❛♣♣r♦①✐♠❛t✐♦♥ ♦❢ ❜❡st✲r❡s♣♦♥s❡ ❢✉♥❝t✐♦♥s✳ ❙✐♥❝❡
t❤❡② s❡❡♠ t♦ ❜❡ ❝♦♥✈❡①✱ t❤✐s s✉❣❣❡sts t❤❛t t❤❡ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ✐s ✉♥✐q✉❡✳
❍♦✇❡✈❡r✱ ✇❡ ❞✐❞ ♥♦t ♠❛♥❛❣❡ t♦ ♣r♦✈✐❞❡ t❤❡♦r❡t✐❝❛❧ ❡✈✐❞❡♥❝❡ ♦❢ t❤❛t r❡s✉❧t✳ ❲✐t❤

♦✉r ♥✉♠❡r✐❝❛❧ ✈❛❧✉❡s ✭t = 0.1✱ x = 0.8✱ α = 1.5✮✱ ✇❡ ❤❛✈❡ x
(αt/p0)

α

(α− 1)α−1
< 1 ❛♥❞

(1 − x)
(αt/p0)

α

(α− 1)α−1
< 1 s♦ t❤❛t✱ ❛s t❤❡ ♣r♦♣♦s✐t✐♦♥ ❡♥s✉r❡s✱ ❜♦t❤ ❜❡st✲r❡s♣♦♥s❡

❢✉♥❝t✐♦♥s ❛r❡ ✐♥❝r❡❛s✐♥❣✳
❲❡ ❦♥♦✇ t❤❛t✱ ❢♦r ❡✈❡r② ♣r✐❝❡ tr❛♥s✐t t✱ t❤❡r❡ ❡①✐sts ❛ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠✳ ❲❡

❛r❡ ♥♦✇ ✐♥t❡r❡st❡❞ ✐♥ t❤❡ ✇❛② t❤❡ tr❛♥s✐t ♣r✐❝❡ ✐s ❞❡t❡r♠✐♥❡❞ ❛♥t✐❝✐♣❛t✐♥❣ t❤❡
❢❛❝t t❤❛t ■❙P ✇✐❧❧ s❡❧❡❝t s♦♠❡ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ♣r✐❝❡s ❛❢t❡r✇❛r❞s✳ ❚❤❡ ♥❡①t
♣r♦♣♦s✐t✐♦♥ st❛t❡s t❤❛t ❛ r❡❣✉❧❛t♦r s❡❡❦✐♥❣ t♦ ♦♣t✐♠✐③❡ t❤❡ ✉s❡r ✇❡❧❢❛r❡ s❤♦✉❧❞
✐♠♣♦s❡ ❛ ♥✉❧❧ tr❛♥s✐t ♣r✐❝✐♥❣✳

Pr♦♣♦s✐t✐♦♥ ✻✳ ❆ss✉♠❡ t❤❛t α > 1✳ ❚❤❡ ✉♥✐t tr❛♥s✐t ♣r✐❝❡ ♠❛①✐♠✐③✐♥❣ ✉s❡r
✇❡❧❢❛r❡ ✐s t = 0✱ ✇❤✐❝❤ ❝♦rr❡s♣♦♥❞s t♦ t❤❡ ♣❡❡r✐♥❣ s✐t✉❛t✐♦♥ ❜❡t✇❡❡♥ ■❙Ps ✭❙❝❡✲
♥❛r✐♦ ✶✮✳

❚❤❡ ♣r♦♦❢ ✐s ❣✐✈❡♥ ✐♥ ❆♣♣❡♥❞✐① ❇✳
❆ r❡❣✉❧❛t♦r s❡❡❦✐♥❣ t♦ ♠❛①✐♠✐③❡ ✉s❡r ✇❡❧❢❛r❡ ✇✐❧❧ s❡t t❤❡ tr❛♥s✐t ♣r✐❝❡ t♦

③❡r♦✳ ❇✉t ✐❢ t❤❡ ❛✐♠ ✐s t♦ ♠❛①✐♠✐③❡ t❤❡ ■❙Ps ✭s✉♠ ♦❢✮ ✉t✐❧✐t✐❡s✱ ✐t ✐s ♥♦ ❧♦♥❣❡r
t❤❡ ❝❛s❡✱ ❛s ✐❧❧✉str❛t❡❞ ♦♥ ❋✐❣✉r❡ ✾✱ ✇❤❡r❡ t❤❡ ✈❛❧✉❡ ♦❢ t t❤❛t ♠❛①✐♠✐③❡s t❤❡ t♦t❛❧

✶✾
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◆❛s❤ ❡q✉✐❧✐❜r✐✉♠

pA

p
B

❇❘A(pB)

❇❘B(pA)

❋✐❣✉r❡ ✽✿ ■❙P✬s ❜❡st r❡s♣♦♥s❡ ❢✉♥❝t✐♦♥s✱ ✇✐t❤ x = 0.8✱ α = 1.5✱ p = 0.1✳

■❙Ps✬ ✉t✐❧✐t② ✐s ❛❜♦✉t 0.8✳ ❋✐❣✉r❡ ✶✵ ✐❧❧✉str❛t❡s t❤❡ ❡✈♦❧✉t✐♦♥ ♦❢ ■❙Ps✬ ✉t✐❧✐t② ❛t
t❤❡ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ✇❤❡♥ t❤❡ tr❛♥s✐t ♣r✐❝❡ t ✈❛r✐❡s✳ ❋♦r s♠❛❧❧ ✈❛❧✉❡s ♦❢ t✱ t❤❡
✉t✐❧✐t✐❡s ♦❢ ❜♦t❤ ■❙Ps ✐♥❝r❡❛s❡✳ ❖♥❡ ❝❛♥ ♥♦t✐❝❡ t❤❛t t❤❡ ✉t✐❧✐t② ♦❢ t❤❡ ■❙P t❤❛t
♦✇♥s t❤❡ ❧❡❛st ❝♦♥t❡♥t st❛rts t♦ ❞❡❝r❡❛s❡ ✜rst✳ ❲❡ ❛❧s♦ s❡❡ t❤❛t t❤❡ ♣♦✐♥t t❤❛t
♠❛①✐♠✐③❡s t❤❡ s✉♠ ♦❢ ✉t✐❧✐t✐❡s ✐s ✈❡r② ❝❧♦s❡ t♦ t❤❡ ♠❛①✐♠❛❧ ♣♦ss✐❜❧❡ r❡✈❡♥✉❡ ❢♦r
■❙Ps ✐❢ t❤❡② ❝♦♦♣❡r❛t❡✱ ✇❤✐❝❤ ❝♦rr❡s♣♦♥❞s t♦ U♣❡❡r

max ❣✐✈❡♥ ✐♥ t❤❡ ♣❡❡r✐♥❣ s❝❡♥❛r✐♦✳
❍❡♥❝❡✱ ❛t t❤✐s ♣♦✐♥t✱ t❤❡ ♣r✐❝❡ ♦❢ ❛♥❛r❝❤② q✉❛♥t✐❢②✐♥❣ t❤❡ ❧♦ss ♦❢ ■❙P r❡✈❡♥✉❡
❞✉❡ t♦ ❝♦♠♣❡t✐t✐♦♥ ♦♥ ♣r✐❝❡s ✐s ✈❡r② ❝❧♦s❡ t♦ ✶✳
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■❙P A
■❙P B

s✉♠ ■❙Ps
❯s❡r ✇❡❧❢❛r❡

❋✐❣✉r❡ ✾✿ ❯t✐❧✐t✐❡s ♦❢ t❤❡ st❛❦❡❤♦❧❞❡rs ❛t ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ♣r✐❝❡s✱ ❛s ❛ ❢✉♥❝t✐♦♥
♦❢ t✱ ✇✐t❤ x = 0.8✱ α = 1.5✳

❲❡ ♥♦✇ ❝♦♠♣❛r❡ s❡✈❡r❛❧ ♣♦❧✐❝✐❡s ❢♦r ❝❤♦♦s✐♥❣ t❤❡ tr❛♥s✐t ♣r✐❝❡✳ ❆ ✜rst ♣♦❧✲
✐❝② ❝♦♥s✐sts ✐♥ ♠❛①✐♠✐③✐♥❣ t❤❡ ✉s❡r ✇❡❧❢❛r❡✳ ❋r♦♠ t❤❡ ♣r❡✈✐♦✉s ♣r♦♣♦s✐t✐♦♥✱ ✐t
❝♦rr❡s♣♦♥❞s t♦ t = 0✳ ❆ s❡❝♦♥❞ ♣♦❧✐❝② ❝♦♥s✐sts ✐♥ ♠❛①✐♠✐③✐♥❣ t❤❡ s✉♠ ♦❢ ■❙P

✷✵
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UA + UB = U♣❡❡r

max

❉✐s❝♦♥♥❡❝t✐♦♥

t = 0 ▼❛① s✉♠

UA

U
B

❋✐❣✉r❡ ✶✵✿ ■❙P ✉t✐❧✐t✐❡s ❛t ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ♣r✐❝❡s✱ ✇❤❡♥ t❤❡ tr❛♥s✐t ♣r✐❝❡ t
✈❛r✐❡s✳ ❚❤❡ t❤r❡❛t ♣♦✐♥t ✭✐✳❡✳✱ t❤❡ ✉t✐❧✐t✐❡s ❝♦rr❡s♣♦♥❞✐♥❣ t♦ t❤❡ ◆❛s❤ ❡q✉✐❧✐❜✲
r✐✉♠ ✇❤❡♥ ■❙Ps ❛r❡ ❞✐s❝♦♥♥❡❝t❡❞✮✱ t❤❡ ♣♦✐♥t ♦♣t✐♠✐③✐♥❣ t❤❡ s✉♠ ♦❢ ✉t✐❧✐t✐❡s ❛s
✇❡❧❧ ❛s t❤❡ ♠❛①✐♠❛❧ r❡✈❡♥✉❡ ❜② ❝♦♦♣❡r❛t✐♥❣ ♦♥ ♣r✐❝❡s ✭❞❛s❤❡❞ ❧✐♥❡✮ ❛r❡ ❞r❛✇♥✳
P❛r❛♠❡t❡r ✈❛❧✉❡s✿ α = 1.5✱ x = 0.8✳

✉t✐❧✐t✐❡s ✭❢♦r ✐♥st❛♥❝❡ ✐t ❝♦✉❧❞ ❜❡ ❛♣♣❧✐❡❞ ❜② ❛ r❡❣✉❧❛t♦r✮✳ ❆♥❞ ✜♥❛❧❧②✱ ✇❡ ❝♦♠✲
♣❛r❡ t❤♦s❡ t✇♦ ♣♦❧✐❝✐❡s ✇✐t❤ t❤❡ ♦♥❡ ♦❜t❛✐♥❡❞ ❜② ❛ ♥♦♥✲❝♦♦♣❡r❛t✐✈❡ ❜❛r❣❛✐♥✐♥❣
♣r♦❝❡ss ❜❡t✇❡❡♥ t❤❡ ■❙Ps✳

❍❡r❡ ✇❡ ✉s❡ t❤❡ ❜❛r❣❛✐♥✐♥❣✱ ♦r ♥❡❣♦t✐❛t✐♦♥ ❣❛♠❡ ♣r♦♣♦s❡❞ ✐♥ ❬✷✷❪✿ ❡❛❝❤ ■❙P
✐♥❞❡♣❡♥❞❡♥t❧② ❝❤♦♦s❡s ❛ s❡t ♦❢ ❛❝❝❡♣t❛❜❧❡ tr❛♥s✐t ♣r✐❝❡s t ✭♣r✐❝❡s t❤❛t ❡♥s✉r❡ ❛
❝❤♦s❡♥ ❛♠♦✉♥t ♦❢ r❡✈❡♥✉❡✮✱ ❛♥❞ ✐❢ t❤❡ ✐♥t❡rs❡❝t✐♦♥ ♦❢ t❤♦s❡ s❡ts ✐s ♥♦♥✲❡♠♣t②✱
t❤❡ tr❛♥s✐t ♣r✐❝❡ ✐s ❛r❜✐tr❛r✐❧② t❛❦❡♥ ✐♥ t❤❡ ✐♥t❡rs❡❝t✐♦♥✱ ♦t❤❡r✇✐s❡ t❤❡ t❤r❡❛t ✐s
❡①❡❝✉t❡❞✳ ❚❤✐s ♥❡❣♦t✐❛t✐♦♥ s❝❤❡♠❡ ❤❛s s❡✈❡r❛❧ ❡q✉✐❧✐❜r✐❛✱ ❜✉t ✐♥ ❬✷✷❪ t❤❡ ♠♦st
❧✐❦❡❧② t♦ ❜❡ ♣❧❛②❡❞ ✐s t❤❡ ♦♥❡ ♠❛①✐♠✐③✐♥❣ t❤❡ ♣r♦❞✉❝t ♦❢ t❤❡ ✉t✐❧✐t✐❡s ♠✐♥✉s t❤❡
✉t✐❧✐t② ❛t t❤❡ t❤r❡❛t✳ ■♥ ♦t❤❡r ✇♦r❞s✱ t❤❛t ❡q✉✐❧✐❜r✐✉♠ tr❛♥s✐t ♣r✐❝❡ ✐s ♠❛①✐♠✐③❡s

max(0, U tr❛♥s,◆❊
A (t)− U t❤r❡❛t

A ) ·max(0, U tr❛♥s,◆❊
B (t)− U t❤r❡❛t

B ),

✇❤❡r❡ U t❤r❡❛t
i r❡♣r❡s❡♥ts t❤❡ ✉t✐❧✐t② t❤❛t ■❙P i ♦❜t❛✐♥s ✐❢ t❤❡ ♥❡❣♦t✐❛t✐♦♥ ❢❛✐❧s

✭t✇♦ ❝❛s❡s ✇✐❧❧ ❜❡ ❝♦♥s✐❞❡r❡❞ ✐♥ t❤❡ ❢♦❧❧♦✇✐♥❣✮✳
■♥ ❋✐❣✉r❡ ✶✶✱ ✇❡ s❤♦✇ t❤❡ ✐♠♣❛❝t ♦❢ t❛❦✐♥❣ ✐♥t♦ ❛❝❝♦✉♥t t❤❡ t❤r❡❛t ♦❢ ❞✐s❝♦♥✲

♥❡❝t✐♦♥ ❞✉r✐♥❣ t❤❡ ❜❛r❣❛✐♥✐♥❣ ♣r♦❝❡ss✳ ▼♦r❡ ♣r❡❝✐s❡❧②✱ ✇❡ ❝♦♠♣❛r❡ t❤❡ ✉t✐❧✐t② ♦❢
❡❛❝❤ ■❙P ♦❜t❛✐♥❡❞ ✇✐t❤ t❤❡ ❜❛r❣❛✐♥✐♥❣ ♣r♦❝❡❞✉r❡ ✇❤❡♥ t❤❡ t❤r❡❛t ❝♦rr❡s♣♦♥❞s
t♦ t❤❡ ❞✐s❝♦♥♥❡❝t✐♦♥ ✭✐✳❡✳✱ U t❤r❡❛t

i = U ❝✉t,◆❊
i ✮✱ t♦ t❤❡ ✉t✐❧✐t② ❛❝❤✐❡✈❡❞ ✇❤❡♥ t❤❡

t❤r❡❛t ✭❜❡❝❛✉s❡ ♦❢ t❤❡ ❧❡❣✐s❧❛t✐♦♥✮ ✐s t❤❛t ■❙Ps ❛r❡ ❢♦r❝❡❞ t♦ ♠❛✐♥t❛✐♥ ❛ ❝♦♥♥❡❝✲

t✐♦♥ ✭✐✳❡✳✱ U t❤r❡❛t
i = U♣❡❡r,◆❊

i ✮✳ ❚❤❡ ✜❣✉r❡ ✐❧❧✉str❛t❡s t❤❛t t❤❡ ■❙P t❤❛t ❤❛s t❤❡
♠♦st ❝♦♥t❡♥t ✭t❤❡ ❜✐❣ ■❙P✮ ♠♦♥♦t♦♥♦✉s❧② ✭✐♥ t❡r♠s ♦❢ ♣r♦♣♦rt✐♦♥ ♦❢ ❝♦♥t❡♥ts✮
❜❡♥❡✜ts ❢r♦♠ t❤❡ ❞✐s❝♦♥♥❡❝t✐♦♥ t❤r❡❛t✱ ✇❤✐❧❡ t❤❡ ♦♣♣♦s✐t❡ ✐s tr✉❡ ❢♦r t❤❡ ♦t❤❡r
■❙P ✭t❤❡ s♠❛❧❧ ■❙P✮✳ ■♥ t❤❡ ❝❛s❡ ✇✐t❤ ❡♥❢♦r❝❡❞ ♣❡❡r✐♥❣ t❤r❡❛t✱ t❤❡ s♠❛❧❧ ■❙P st✐❧❧
❧♦s❡s s♦♠❡ r❡✈❡♥✉❡ ✇❤❡♥ ✐ts ✇❡✐❣❤t ❞❡❝r❡❛s❡s✱ ❜✉t t❤❡ r❡✈❡♥✉❡ ♦❢ t❤❡ ❜✐❣ ■❙P ✐s
♥♦ ❧♦♥❣❡r ♠♦♥♦t♦♥♦✉s✳ ❲❡ ♦❜s❡r✈❡ t❤❛t t❤❡ ❡♥❢♦r❝❡❞ ♣❡❡r✐♥❣ t❤r❡❛t ✐s ❛ ❜❡tt❡r
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r✉❧❡ t❤❛♥ t❤❡ ❞✐s❝♦♥♥❡❝t✐♦♥ t❤r❡❛t ❢♦r t❤❡ s♠❛❧❧ ■❙P✱ ✇❤✐❧❡ ✐t ✐s t❤❡ ♦♣♣♦s✐t❡ ❢♦r
t❤❡ ❜✐❣ ■❙P✳
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■❙P A ✇✐t❤ ❞✐s❝♦♥♥❡❝t✐♦♥ t❤r❡❛t
■❙P A ✇✐t❤ ❡♥❢♦r❝❡❞ ♣❡❡r✐♥❣ t❤r❡❛t
■❙P B ✇✐t❤ ❞✐s❝♦♥♥❡❝t✐♦♥ t❤r❡❛t

■❙P B ✇✐t❤ ❡♥❢♦r❝❡❞ ♣❡❡r✐♥❣ t❤r❡❛t

❋✐❣✉r❡ ✶✶✿ ❈♦♠♣❛r✐s♦♥ ♦❢ ❡❛❝❤ ■❙P✬s ✉t✐❧✐t② ❛❢t❡r ❜❛r❣❛✐♥✐♥❣ ♣r♦❝❡ss ✇✐t❤ ❞✐s✲
❝♦♥♥❡❝t✐♦♥ ❛♥❞ ❡♥❢♦r❝❡❞ ♣❡❡r✐♥❣ t❤r❡❛ts✱ ✇❤❡♥ x ✈❛r✐❡s✱ ✇✐t❤ α = 1.5✳

■♥ ❋✐❣✉r❡ ✶✷✱ ✇❡ s❤♦✇ ❤♦✇ t❤❡ ✉t✐❧✐t✐❡s ♦❢ ■❙Ps ❛♥❞ ♦❢ t❤❡ ✉s❡rs ❛r❡ ✐♠✲
♣❛❝t❡❞ ❜② t❤❡ ❝❤♦s❡♥ ♣♦❧✐❝②✱ ✇❤❡♥ t❤❡ ✉s❡r s❡♥s✐t✐✈✐t② α ❛♥❞ t❤❡ ♣r♦♣♦rt✐♦♥ x
♦❢ ❝♦♥t❡♥t ❛tt❛❝❤❡❞ t♦ ■❙P A ✈❛r②✳ ❲❡ ✜rst r❡♠❛r❦ t❤❛t t❤❡ ❜❛r❣❛✐♥✐♥❣ ✇✐t❤
❞✐s❝♦♥♥❡❝t✐♦♥ t❤r❡❛t ❧❡❛❞s t♦ ■❙P r❡✈❡♥✉❡s ❛♥❞ ✉s❡r ✇❡❧❢❛r❡ ✈❡r② s✐♠✐❧❛r t♦ t❤❡
♣♦❧✐❝② ♠❛①✐♠✐③✐♥❣ t❤❡ s✉♠ ♦❢ ■❙Ps✬ ✉t✐❧✐t✐❡s ✭t❤❡ ❝✉r✈❡s ♦❢ t♦t❛❧ ■❙P r❡✈❡♥✉❡s
s✉♣❡r✐♠♣♦s❡✮✳ ❚❤✐s ♠❡❛♥s t❤❛t t❤❡ ♥♦♥✲❝♦♦♣❡r❛t✐✈❡ ✭❜❛r❣❛✐♥✐♥❣✮ ❝❤♦✐❝❡ ❢♦r t
✇✐t❤ t❤❡ ❞✐s❝♦♥♥❡❝t✐♦♥ t❤r❡❛t ❧❡❛❞s t♦ ❛ ♥❡❛r❧② ♦♣t✐♠❛❧ ♣♦✐♥t ✭t❤❛t t❛❦❡s ✐♥t♦
❛❝❝♦✉♥t t❤❡ ❝♦♠♣❡t✐t✐♦♥ ❜❡t✇❡❡♥ ■❙P ❛❢t❡r✇❛r❞s✮ ❢♦r ■❙Ps✳ ◆❡✈❡rt❤❡❧❡ss✱ ❛s
♦♥❡ ❝❛♥ s❡❡✱ ✇❤❡♥ x ✐s ❝❧♦s❡ t♦ 1 ♦r α ❝❧♦s❡ t♦ 2 t❤❡ ✉s❡r ✇❡❧❢❛r❡ ✐s ♥♦t ❡①❛❝t❧②
t❤❡ s❛♠❡ ✐♥ ❜♦t❤ ❝❛s❡s ✭s❡❡ ❋✐❣✉r❡ ✶✷ ✭❛✮ ❛♥❞ ✭❝✮✮✱ ❤❡♥❝❡ t❤✐s ✐s ♥♦t ❛ ❣❡♥❡r❛❧
♣r♦♣❡rt②✳ ❖♥❡ ❝❛♥ ❛❧s♦ ♦❜s❡r✈❡ ✐♥ ❋✐❣✉r❡ ✶✷ ✭❝✮ ❛♥❞ ✭❞✮ t❤❛t t❤❡ ✉t✐❧✐t✐❡s ❛r❡ ♥♦t
✈❡r② s❡♥s✐t✐✈❡ t♦ t❤❡ r❡♣❛rt✐t✐♦♥ ♦❢ ❝♦♥t❡♥t ❛♠♦♥❣ ■❙Ps ✭t❤❡ ♣❛r❛♠❡t❡r x✮✱ ❡①✲
❝❡♣t ❢♦r t❤❡ ❜❛r❣❛✐♥✐♥❣ ✇✐t❤ ❡♥❢♦r❝❡❞ ♣❡❡r✐♥❣ t❤r❡❛t✳ ■♥ ♣❛rt✐❝✉❧❛r✱ t❤❡ s♦❧✉t✐♦♥
♠❛①✐♠✐③✐♥❣ ✉s❡r ✇❡❧❢❛r❡ ❞♦❡s ♥♦t ❞❡♣❡♥❞ ♦♥ x✱ ❤❡♥❝❡ ✉t✐❧✐t✐❡s ❛r❡ ❝♦♥st❛♥t ✐♥
t❤❛t ❝❛s❡✳ ❋✐♥❛❧❧②✱ t❤❡ ❜❛r❣❛✐♥✐♥❣ s♦❧✉t✐♦♥ ♦❜t❛✐♥❡❞ ✇✐t❤ t❤❡ ❡♥❢♦r❝❡❞ ♣❡❡r✐♥❣
t❤r❡❛t ✐s ❛❧♠♦st ♦♣t✐♠❛❧ ❢♦r ✉s❡rs ✭r❡s♣✳ ■❙Ps✮ ✇❤❡♥ t❤❡✐r s❡♥s✐t✐✈✐t② α ✐s ❧♦✇
✭r❡s♣✳ ❤✐❣❤✮✳ ❚❤❡ ❞✐✛❡r❡♥❝❡ ♦❢ ❝♦♥t❡♥t ♦✇♥❡❞ ❜② ❡❛❝❤ ■❙P ❛❧s♦ ❞❡❝r❡❛s❡s t❤❡
✉t✐❧✐t② ♦❢ ■❙Ps ✐♥ t❤✐s ❝❛s❡✱ ✇❤✐❧❡ t❤❡ ❛❝❤✐❡✈❡❞ ✉t✐❧✐t② ✐s ♦♣t✐♠❛❧ ✇❤❡♥ ❝♦♥t❡♥ts
❛r❡ ❡q✉❛❧❧② s❤❛r❡❞✳

✻ ❈♦♥❝❧✉s✐♦♥s

■♥ t❤✐s ♣❛♣❡r✱ ✇❡ ❤❛✈❡ st✉❞✐❡❞ ❞✐✛❡r❡♥t tr❛♥s✐t ❛❣r❡❡♠❡♥ts ❛♠♦♥❣ ■❙Ps✱ ✐♥ ❛
❝♦♠♣❡t✐t✐✈❡ ❝♦♥t❡①t ✇❤❡r❡ ✉s❡rs s❡❡❦ ❢♦r ❝♦♥t❡♥t ❛t ❛ ❝❤❡❛♣ ♣r✐❝❡ ❛♥❞ tr❛✣❝ ♠❛②
♥❡❡❞ t♦ ❜❡ tr❛♥s❢❡rr❡❞ ❜❡t✇❡❡♥ ■❙Ps✳ ❈♦♠♣❡t✐t✐♦♥ ♦♥ ♣r✐❝❡s ❛♠♦♥❣ ■❙Ps ✐s ❜❛s❡❞
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✭❞✮ α = 1.5

❋✐❣✉r❡ ✶✷✿ ■❙Ps✬ ✉t✐❧✐t✐❡s ❛♥❞ ✉s❡r ✇❡❧❢❛r❡ ❢♦r ❞✐✛❡r❡♥t ♣♦❧✐❝✐❡s ❢♦r ❝❤♦♦s✐♥❣ t✱
✇❤❡♥ α ❛♥❞ x ✈❛r②✳
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♦♥ ❛ ✉s❡r ❞✐s❝r❡t❡ ❝❤♦✐❝❡ ♠♦❞❡❧ t❤❛t ❛❧s♦ ❡♥❝♦♠♣❛ss❡s ✉s❡r ♣r✐❝❡ s❡♥s✐t✐✈✐t✐❡s
❛♥❞ s♦♠❡ r❡♣✉t❛t✐♦♥ ❡✛❡❝ts✱ s♦ t❤❛t ✉s❡r r❡♣❛rt✐t✐♦♥ ✈❛r✐❡s ❝♦♥t✐♥✉♦✉s❧② ✇✐t❤
t❤❡ ♣r♦✈✐❞❡rs✬ ♣r✐❝❡s✳

❋♦r t❤r❡❡ ♣♦ss✐❜❧❡ tr❛♥s✐t ❛❣r❡❡♠❡♥ts ✭♣❡❡r✐♥❣✱ ♥♦ tr❛♥s✐t✱ ♣❛✐❞ tr❛♥s✐t✮✱
✇❡ ❤❛✈❡ ❛♥❛❧②③❡❞ t❤❡ ❝♦♠♣❡t✐t✐♦♥ ❣❛♠❡ ♣❧❛②❡❞ ❛♠♦♥❣ ■❙Ps✱ ❛♥❞ ❞❡t❡r♠✐♥❡❞
t❤❡ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ♣r✐❝❡s ❛♥❞ r❡✈❡♥✉❡s✱ ❛s ✇❡❧❧ ❛s t❤❡ ♦✉t❝♦♠❡s ✇❤❡♥ ■❙Ps
❞❡❝✐❞❡ t♦ ❝♦♦♣❡r❛t❡✳ ❖✉r r❡s✉❧ts s✉❣❣❡st t❤❛t t❤❡ s❝❡♥❛r✐♦ ✇❤❡r❡ ♥♦ tr❛♥s✐t ✐s
♣❡r❢♦r♠❡❞ ❜② ■❙Ps s❤♦✉❧❞ ♥❡✈❡r ❜❡ ❝❤♦s❡♥✱ s✐♥❝❡ ♥♦ st❛❦❡❤♦❧❞❡r ❜❡♥❡✜ts ❢r♦♠
✐t✳ ❙✉r♣r✐s✐♥❣❧②✱ ✇❡ ❛❧s♦ ♦❜s❡r✈❡❞ t❤❛t ✉♥❞❡r ♣r✐❝❡ ❝♦♠♣❡t✐t✐♦♥✱ ♣❛✐❞ tr❛♥s✐t
❝❛♥ ❜❡ ♣r❡❢❡rr❡❞ t♦ ♣❡❡r✐♥❣ ❜② ❜♦t❤ ■❙Ps✳ ❚❤✐s ❡s♣❡❝✐❛❧❧② ❤♦❧❞s ✇❤❡♥ ✉s❡rs ❛r❡
❤✐❣❤❧② s❡♥s✐t✐✈❡ t♦ ♣r✐❝❡✿ ♣❛✐❞ tr❛♥s✐t ✐s t❤❡♥ t❤❡ ♦♥❧② ❛❣r❡❡♠❡♥t ✉♥❞❡r ✇❤✐❝❤
■❙Ps ❝❛♥ ❡♥s✉r❡ str✐❝t❧② ♣♦s✐t✐✈❡ r❡✈❡♥✉❡s✱ ❛✈♦✐❞✐♥❣ ❛ ♣r✐❝❡ ✇❛r✱ ❢♦r ❛♥② str✐❝t❧②
♣♦s✐t✐✈❡ ✈❛❧✉❡ ♦❢ t❤❡ tr❛♥s✐t ✉♥✐t ♣r✐❝❡✳ P❛✐❞ tr❛♥s✐t t❤❡r❡❢♦r❡ ❛♣♣❡❛rs ❛s t❤❡
❜❡st s♦❧✉t✐♦♥ t♦ ❡♥s✉r❡ ■❙P r❡♥t❛❜✐❧✐t② ✐♥ ❛ ❤✐❣❤❧② ❝♦♠♣❡t✐t✐✈❡ ❝♦♥t❡①t ❧✐❦❡ t❤❡
❝✉rr❡♥t ■♥t❡r♥❡t ❡❝♦s②st❡♠✱ ✇❤❡r❡ ❝✉st♦♠❡rs ❛r❡ ✈❡r② ✈♦❧❛t✐❧❡ ❛♥❞ ❢r❡q✉❡♥t❧②
s✇✐t❝❤ ♣r♦✈✐❞❡rs✳

▼♦r❡♦✈❡r✱ t❤❡ tr❛♥s✐t ♣r✐❝❡ ❝❛♥ ❛❧s♦ ❜❡ ✉s❡❞ ❜② ❛ r❡❣✉❧❛t♦r② ❡♥t✐t② t♦ ❞r✐✈❡
t❤❡ ■❙P ♣r✐❝❡ t♦ ❛ ❞❡s✐r❛❜❧❡ ❞✐r❡❝t✐♦♥✱ ❜❡ ✐t ✐♥ t❡r♠s ♦❢ ❣❧♦❜❛❧ ■❙P r❡✈❡♥✉❡s ✭t❤❡
♦♣t✐♠❛❧ r❡✈❡♥✉❡ ✇❤❡♥ ■❙P ❝♦❧❧❛❜♦r❛t❡ ❝❛♥ ❜❡ ❛♣♣r♦❛❝❤❡❞ ✇✐t❤♦✉t ❝♦❧❧❛❜♦r❛t✐♦♥
t❤r♦✉❣❤ ❛ ♣r♦♣❡r ❝❤♦✐❝❡ ♦❢ t❤❡ tr❛♥s✐t ♣r✐❝❡✮ ♦r ♦❢ ✉s❡r ✇❡❧❢❛r❡ ✭t❤❛t ❝❛♥ ❜❡
❢❛✈♦r❡❞ ✐❢ ❛ s✉✣❝✐❡♥t❧② ❧♦✇ tr❛♥s✐t ♣r✐❝❡ ✐s ✐♠♣♦s❡❞✮✳

❋✐♥❛❧❧②✱ ✐❢ t❤❡ tr❛♥s✐t ♣r✐❝❡ ✐s ✜①❡❞ ❛♠♦♥❣ ■❙Ps t❤r♦✉❣❤ ❛ ♥❡❣♦t✐❛t✐♦♥✱ ♦✉r
st✉❞② s✉❣❣❡sts t❤❛t ❛ ❧✐♠✐t❡❞ r❡❣✉❧❛t✐♦♥ ❝♦♥s✐st✐♥❣ ✐♥ ✐♠♣♦s✐♥❣ tr❛♥s✐t ❛❣r❡❡✲
♠❡♥ts ✭✐✳❡✳✱ ✐♠♣♦s✐♥❣ t❤❛t tr❛♥s✐t ❜❡ ♣❡r❢♦r♠❡❞ t♦ ❡♥s✉r❡ ❛ ❣❧♦❜❛❧ ❝♦♥♥❡❝t✐✈✐t②✱
❜✉t ❛t ❛ ♣r✐❝❡ ❝❤♦s❡♥ ❜② t❤❡ ■❙Ps✮ ❜❡♥❡✜ts t♦ ✉s❡rs✱ ✇❤♦ ❡✈❡♥t✉❛❧❧② ♣❡r❝❡✐✈❡
❧♦✇❡r ♣r✐❝❡s✱ ❛♥❞ ❛ ❤✐❣❤❡r ✇❡❧❢❛r❡✳ ❙✉❝❤ ❛ r❡❣✉❧❛t✐♦♥ ✐♥❞❡❡❞ r❡❞✉❝❡s t❤❡ ❜❛r✲
❣❛✐♥✐♥❣ ♣♦✇❡r ♦❢ t❤❡ ■❙Ps ❝♦♥tr♦❧❧✐♥❣ t❤❡ ♠♦st ❝♦♥t❡♥t✱ ❛♥❞ ❤❡♥❝❡ ❢❛✈♦rs t❤❡
❡♠❡r❣❡♥❝❡ ❛♥❞ s✉r✈✐✈❛❜✐❧✐t② ♦❢ ♥❡✇ ■❙Ps ✇✐t❤ ❧❡ss ❝♦♥t❡♥t✳ ❲✐t❤♦✉t t❤✐s r❡❣✉❧❛✲
t✐♦♥✱ ♦✉r ♥✉♠❡r✐❝❛❧ r❡s✉❧ts s✉❣❣❡st t❤❛t ❜❛r❣❛✐♥✐♥❣ ✭✇✐t❤ ❛ ❞✐s❝♦♥♥❡❝t✐♦♥ t❤r❡❛t✮
❧❡❛❞s t♦ ❛♥ ♦✉t❝♦♠❡ ✈❡r② ❝❧♦s❡ t♦ t❤❡ ♦♥❡ ✇❤❡r❡ ■❙Ps ❝♦♦♣❡r❛t❡ t♦ ♠❛①✐♠✐③❡
t❤❡✐r t♦t❛❧ r❡✈❡♥✉❡✳

❈♦♠✐♥❣ ❜❛❝❦ t♦ t❤❡ ◆❡t✇♦r❦ ◆❡✉tr❛❧✐t② ❞❡❜❛t❡✱ ❛♥❞ t❤❡ r❡q✉❡st ❢r♦♠ ■❙Ps
t♦ ❜❡ r❡✇❛r❞❡❞ ❢♦r tr❛♥s✐t✱ ✇❡ ✜♥❞ t❤❛t ♦✉r r❡s✉❧ts ❝♦rr♦❜♦r❛t❡ t❤❡✐r ❝❧❛✐♠ ❛♥❞
❝♦♥❝❡r♥s✱ s✐♥❝❡ ♥✉❧❧ tr❛♥s✐t ♣r✐❝❡s ♠❛② ❧❡❛❞ t♦ ■❙Ps ♠❛❦✐♥❣ ♥♦ r❡✈❡♥✉❡ ❞❡s♣✐t❡
t❤❡✐r ✐♥❢r❛str✉❝t✉r❡ ✐♥✈❡st♠❡♥ts✳ ❚❤❡ r❡s✉❧ts ✐♥ t❤✐s ♣❛♣❡r t❤❡r❡❢♦r❡ s✉♣♣♦rt t❤❡
tr❛♥s✐t ♣r✐❝❡ s❝❡♥❛r✐♦✱ t❤❛t ✐s ❛❧s♦ ❧✐❦❡❧② t♦ ❜❡ ❝❤♦s❡♥ ❜② ■❙Ps ✐❢ t❤❡ ❝❤♦✐❝❡ ✐s
t❤❡✐rs✱ s♦ t❤❛t t❤❡ ♥❡❡❞ ❢♦r r❡❣✉❧❛t✐♦♥ ✐s ♥♦t ♦❜✈✐♦✉s✳ ❍♦✇❡✈❡r✱ t❤✐s ♣❛♣❡r ❛❧s♦
s✉❣❣❡sts t❤❛t ❛ ❧✐♠✐t❡❞ r❡❣✉❧❛t✐♦♥ ✭❡♥❢♦r❝✐♥❣ ❣❧♦❜❛❧ ❝♦♥♥❡❝t✐✈✐t②✮ ❞♦❡s ♣r❡✈❡♥t
✐♥❝✉♠❜❡♥t ■❙Ps ❢r♦♠ ❤❛✈✐♥❣ ❛ ❞♦♠✐♥❛♥t ♣♦s✐t✐♦♥ ✐♥ t❤❡ ❜❛r❣❛✐♥✐♥❣✱ ❛♥❞ ❢❛✈♦rs
❝♦♠♣❡t✐t✐♦♥ ❛♥❞ ✉s❡rs✳ ●✐✈❡♥ t❤❡ r❡s✉❧ts ♣r❡s❡♥t❡❞ ❤❡r❡✱ ✇❡ ✇♦✉❧❞ ❛❞✈♦❝❛t❡
t❤❛t s✉❝❤ ❛ ♠✐♥✐♠❛❧ r❡❣✉❧❛t✐♦♥ ❜❡ ✐♠♣♦s❡❞✱ ❛♥❞ t❤❛t ♦t❤❡r ❝❤♦✐❝❡s ❜❡ ❧❡❢t t♦
t❤❡ st❛❦❡❤♦❧❞❡rs ✭❤❡r❡✱ t❤❡ ■❙Ps✮✱ r❡♠❛✐♥✐♥❣ ❝♦♥s✐st❡♥t ✇✐t❤ t❤❡ ❢r❡❡❞♦♠ s♣✐r✐t
t❤❛t ♣r❡✈❛✐❧❡❞ ❛t t❤❡ ❜❡❣✐♥♥✐♥❣s ♦❢ t❤❡ ■♥t❡r♥❡t✳

❆s ❛ ❞✐r❡❝t✐♦♥ ❢♦r ❢✉t✉r❡ ✇♦r❦✱ ✇❡ ✇♦✉❧❞ ❧✐❦❡ t♦ ✐♥✈❡st✐❣❛t❡ t❤❡ ❝❛s❡ ✇❤❡r❡
t❤❡ tr❛♥s✐t ■❙Ps ❛r❡ ♣❛✐❞ ❢♦r tr❛♥s❢❡rr✐♥❣ t❤❡ ❡①t❡r♥❛❧ ❝♦♥t❡♥t t♦ t❤❡✐r ❝✉st♦♠❡rs✱
✐♥st❡❛❞ ♦❢ t❤❡✐r ❜❡✐♥❣ ❝❤❛r❣❡❞ ✐♥ t❤✐s ♣❛♣❡r✳ ❚❤✐s ✇♦✉❧❞ ❝♦rr❡s♣♦♥❞ t♦ ❛♥♦t❤❡r

✷✹



✐♥t❡r♣r❡t❛t✐♦♥ ♦❢ t❤❡ s❡r✈✐❝❡ ♦✛❡r❡❞ ❜② ■❙P✱ ✇❤❡r❡ ■❙Ps ✇♦✉❧❞ s❡❧❧ t♦ ❝♦♥t❡♥t
♣r♦✈✐❞❡rs t❤❡ ❛❝❝❡ss t♦ t❤❡✐r ♥❡t✇♦r❦s✱ ✇❤✐❧❡ ✐♥ t❤✐s ♣❛♣❡r t❤❡② s❡❧❧ t♦ t❤❡✐r ✉s❡rs
t❤❡ ❛❝❝❡ss t♦ ❛❧❧ ❝♦♥t❡♥t✳ ❚❤❛t ♦t❤❡r ❞✐r❡❝t✐♦♥ ✇♦✉❧❞ ❜❡ ✇♦rt❤ ❝♦♥s✐❞❡r✐♥❣✳

❆❝❦♥♦✇❧❡❞❣♠❡♥t

❚❤✐s ✇♦r❦ ✇❛s s✉♣♣♦rt❡❞ ❜② ■♥r✐❛✬s ❝♦♦♣❡r❛t✐✈❡ r❡s❡❛r❝❤ ❛❝t✐♦♥ ▼❊◆❊❯❘ ✭s❡❡
❤tt♣✿✴✴✇✇✇✳✐r✐s❛✳❢r✴❞✐♦♥②s♦s✴♣❛❣❡s❴♣❡rs♦✴t✉✣♥✴▼❊◆❊❯❘✴✮✱ ❊✉r♦✲◆❋ ◆❡t✇♦r❦
♦❢ ❊①❝❡❧❧❡♥❝❡ ✭s❡❡ ❤tt♣✿✴✴❡✉r♦♥❢✳❡♥st✳❢r✴✮ t❤r♦✉❣❤ ■◆◆■❙ ♣r♦❥❡❝t✱ ❛♥❞ t❤❡ ❋r❡♥❝❤
r❡s❡❛r❝❤ ❛❣❡♥❝② t❤r♦✉❣❤ t❤❡ ❈❆P❚❯❘❊❙ ♣r♦❥❡❝t ✭s❡❡ ❤tt♣✿✴✴❝❛♣t✉r❡s✳✐♥r✐❛✳❢r✴✮✳

❘❡❢❡r❡♥❝❡s

❬✶❪ ❋✳ ❈✳ ❈♦♠♠✐ss✐♦♥✱ ✏❖r❞❡r ✐♥ t❤❡ ♠❛tt❡r ♦❢ ♣r❡s❡r✈✐♥❣ t❤❡ ♦♣❡♥ ✐♥t❡r♥❡t✱
❜r♦❛❞❜❛♥❞ ✐♥❞✉str② ♣r❛❝t✐❝❡s✱✑ ❋❈❈✱ ❚❡❝❤✳ ❘❡♣✳✱ ❆♣r✐❧ ✷✵✶✵✳

❬✷❪ ▼✳ ▲❡♠❧❡② ❛♥❞ ▲✳ ▲❡ss✐❣✱ ✏❚❤❡ ❡♥❞ ♦❢ ❡♥❞✲t♦✲❡♥❞✿ Pr❡s❡r✈✐♥❣ t❤❡ ❛r❝❤✐✲
t❡❝t✉r❡ ♦❢ t❤❡ ✐♥t❡r♥❡t ✐♥ t❤❡ ❜r♦❛❞❜❛♥❞ ❡r❛✱✑ ✹✽ ❯❈▲❆ ▲❛✇ ❘❡✈✐❡✇ ✹✱
✷✵✵✶✳

❬✸❪ ❙✳ ❲♦♥❣✱ ❘✳✲▼✳ ❏✳✱ ❛♥❞ ❊✳ ❆❧t♠❛♥✱ ✏P✉❜❧✐❝ ❝♦♥s✉❧t❛t✐♦♥s ♦♥ ◆❡t ◆❡✉tr❛❧✐t②
✷✵✶✵✿ ❯❙❆✱ ❊❯ ❛♥❞ ❋r❛♥❝❡✱✑ ❙❙❘◆✱ ❚❡❝❤✳ ❘❡♣✳✱ ✷✵✶✵✱ ❤tt♣✿✴✴♣❛♣❡rs✳ssr♥✳
❝♦♠✴s♦❧✸✴♣❛♣❡rs✳❝❢♠❄❛❜str❛❝t❴✐❞❂✶✻✽✹✵✽✻✳

❬✹❪ ❚✳ ▲❡♥❛r❞ ❛♥❞ ❘✳ ❊✳ ▼❛②✱ ◆❡t ◆❡✉tr❛❧✐t② ♦r ◆❡t ◆❡✉t❡r✐♥❣✿ ❙❤♦✉❧❞ ❇r♦❛❞✲
❜❛♥❞ ■♥t❡r♥❡t ❙❡r✈✐❝❡s ❜❡ ❘❡❣✉❧❛t❡❞✳ ❙♣r✐♥❣❡r ❱❡r❧❛❣✱ ✷✵✵✻✳

❬✺❪ ❋✳ ❇♦✉ss✐♦♥✱ P✳ ▼❛✐❧❧é✱ ❛♥❞ ❇✳ ❚✉✣♥✱ ✏◆❡t ♥❡✉tr❛❧✐t② ❞❡❜❛t❡✿ ■♠♣❛❝t ♦❢
❝♦♠♣❡t✐t✐♦♥ ❛♠♦♥❣ ✐s♣s✱✑ ✐♥ Pr♦❝❡❡❞✐♥❣s ♦❢ t❤❡ ❋♦✉rt❤ ■♥t❡r♥❛t✐♦♥❛❧ ❈♦♥✲
❢❡r❡♥❝❡ ♦♥ ❈❖▼♠✉♥✐❝❛t✐♦♥ ❙②st❡♠s ❛♥❞ ◆❊❚✇♦r❦❙ ✭❈❖▼❙◆❊❚❙✮✱ ❇❛♥✲
❣❛❧♦r❡✱ ■♥❞✐❛✱ ✷✵✶✷✳

❬✻❪ ❘✳ ▼❛✱ ❉✳✲▼✳ ❈❤✐✉✱ ❏✳ ▲✉✐✱ ❱✳ ▼✐sr❛✱ ❛♥❞ ❉✳ ❘✉❜❡♥st❡✐♥✱ ✏■♥t❡r❝♦♥♥❡❝t✐♥❣
❡②❡❜❛❧❧s t♦ ❝♦♥t❡♥t✿ ❆ ❙❤❛♣❧❡② ✈❛❧✉❡ ♣❡rs♣❡❝t✐✈❡ ♦♥ ✐s♣ ♣❡❡r✐♥❣ ❛♥❞ s❡t✲
t❧❡♠❡♥t✱✑ ✐♥ Pr♦❝❡❡❞✐♥❣s ♦❢ t❤❡ ■♥t❡r♥❛t✐♦♥❛❧ ❲♦r❦s❤♦♣ ♦♥ ❊❝♦♥♦♠✐❝s ♦❢
◆❡t✇♦r❦❡❞ ❙②st❡♠s ✭◆❡t❊❝♦♥✮✱ ✷✵✵✽✱ ♣♣✳ ✻✶✕✻✻✳

❬✼❪ ✖✖✱ ✏❖♥ ❝♦♦♣❡r❛t✐✈❡ s❡tt❧❡♠❡♥t ❜❡t✇❡❡♥ ❝♦♥t❡♥t✱ tr❛♥s✐t ❛♥❞ ❡②❡❜❛❧❧ ✐♥t❡r✲
♥❡t s❡r✈✐❝❡ ♣r♦✈✐❞❡rs✱✑ ✐♥ Pr♦❝❡❡❞✐♥❣s ♦❢ t❤❡ ❆❈▼ ■♥t❡r♥❛t✐♦♥❛❧ ❈♦♥❢❡r❡♥❝❡
♦♥ ❊♠❡r❣✐♥❣ ◆❡t✇♦r❦✐♥❣ ❊❳♣❡r✐♠❡♥ts ❛♥❞ ❚❡❝❤♥♦❧♦❣✐❡s ✭❈♦◆❊❳❚✮✱ ✷✵✵✽✳

❬✽❪ ❏✳ ▼✉s❛❝❝❤✐♦✱ ❏✳ ❲❛❧r❛♥❞✱ ❛♥❞ ●✳ ❙❝❤✇❛rt③✱ ✏◆❡t✇♦r❦ ♥❡✉tr❛❧✐t② ❛♥❞
♣r♦✈✐❞❡r ✐♥✈❡st♠❡♥t ✐♥❝❡♥t✐✈❡s✱✑ ✐♥ ❙✐❣♥❛❧s✱ ❙②st❡♠s ❛♥❞ ❈♦♠♣✉t❡rs✱ ✷✵✵✼✳
❆❈❙❙❈ ✷✵✵✼✳ ❈♦♥❢❡r❡♥❝❡ ❘❡❝♦r❞ ♦❢ t❤❡ ❋♦rt②✲❋✐rst ❆s✐❧♦♠❛r ❈♦♥❢❡r❡♥❝❡
♦♥✱ ♥♦✈✳ ✷✵✵✼✱ ♣♣✳ ✶✹✸✼ ✕✶✹✹✹✳

❬✾❪ ❈✳ ❙❛❛✈❡❞r❛✱ ✏❇❛r❣❛✐♥✐♥❣ ♣♦✇❡r ❛♥❞ t❤❡ ♥❡t ♥❡✉tr❛❧✐t② ❞❡❜❛t❡✱✑ ✷✵✵✾✱ s✐t❡s✳
❣♦♦❣❧❡✳❝♦♠✴s✐t❡✴❝❧❛✉❞✐❛s❛❛✈❡❞r❛✴❛tt❛❝❤♠❡♥ts✴❜❛r❣❛✐♥✐♥❣❴♣♦✇❡r✳♣❞❢✳

✷✺



❬✶✵❪ ❊✳ ❆❧t♠❛♥✱ P✳ ❇❡r♥❤❛r❞✱ ❙✳ ❈❛r♦♥✱ ●✳ ❑❡s✐❞✐s✱ ❏✳ ❘♦❥❛s✲▼♦r❛✱ ❛♥❞ ❙✳ ❲♦♥❣✱
✏❆ st✉❞② ♦❢ ♥♦♥✲♥❡✉tr❛❧ ♥❡t✇♦r❦s ✇✐t❤ ✉s❛❣❡✲❜❛s❡❞ ♣r✐❝❡s✱✑ ✐♥ Pr♦❝❡❡❞✐♥❣s
♦❢ t❤❡ ✸r❞ ❊❚▼ ❲♦r❦s❤♦♣✱ ❆♠st❡r❞❛♠✱ ❚❤❡ ◆❡t❤❡r❧❛♥❞s✱ ❙❡♣t❡♠❜❡r ✷✵✶✵✳

❬✶✶❪ ❊✳ ❆❧t♠❛♥✱ ❆✳ ▲❡❣♦✉t✱ ❛♥❞ ❨✳ ❳✉✱ ✏◆❡t✇♦r❦ ♥♦♥✲♥❡✉tr❛❧✐t② ❞❡❜❛t❡✿ ❆♥
❡❝♦♥♦♠✐❝ ❛♥❛❧②s✐s✱✑ ✐♥ Pr♦❝❡❡❞✐♥❣s ♦❢ ◆❡t✇♦r❦✐♥❣ ✷✵✶✶✳ ❇❛r❝❡❧♦♥❛✱ ❙♣❛✐♥✿
▲◆❈❙ ✻✻✹✶✱ ❙♣r✐♥❣❡r ❱❡r❧❛❣✱ ▼❛② ✷✵✶✶✱ ♣♣✳ ✻✽✕✽✶✳

❬✶✷❪ P✳ ◆❥♦r♦❣❡✱ ❆✳ ❖③❞❛❣❧❛r✱ ◆✳ ❙t✐❡r✲▼♦s❡s✱ ❛♥❞ ●✳ ❲❡✐♥tr❛✉❜✱ ✏■♥✈❡st♠❡♥t
✐♥ t✇♦ s✐❞❡❞ ♠❛r❦❡ts ❛♥❞ t❤❡ ♥❡t ♥❡✉tr❛❧✐t② ❞❡❜❛t❡✱✑ ❈♦❧✉♠❜✐❛ ❯♥✐✈❡rs✐t②✱
❉❡❝✐s✐♦♥✱ ❘✐s❦ ❛♥❞ ❖♣❡r❛t✐♦♥s ❲♦r❦✐♥❣ P❛♣❡rs ❙❡r✐❡s✱ ❚❡❝❤✳ ❘❡♣✳ ❉❘❖✲
✷✵✶✵✲✵✺✱ ✷✵✶✵✳

❬✶✸❪ ❙✳ ❈❛r♦♥✱ ●✳ ❑❡s✐❞✐s✱ ❛♥❞ ❊✳ ❆❧t♠❛♥✱ ✏❆♣♣❧✐❝❛t✐♦♥ ♥❡✉tr❛❧✐t② ❛♥❞ ❛ ♣❛r❛❞♦①
♦❢ s✐❞❡ ♣❛②♠❡♥ts✱✑ ✐♥ Pr♦❝❡❡❞✐♥❣s ♦❢ t❤❡ t❤✐r❞ ■♥t❡r♥❛t✐♦♥❛❧ ❲♦r❦s❤♦♣ ♦♥
❘❡✲❆r❝❤✐t❡❝t✐♥❣ t❤❡ ■♥t❡r♥❡t ✭❘❡❆r❝❤ ✷✵✶✵✮✱ P❤✐❧❛❞❡❧♣❤✐❛✱ ❯❙❆✱ ◆♦✈❡♠❜❡r
✷✵✶✵✳

❬✶✹❪ ●✳ ❑❡s✐❞✐s✱ ✏❙✐❞❡✲♣❛②♠❡♥t ♣r♦✜t❛❜✐❧✐t② ❛♥❞ ✐♥t❡r❛❝t✐♥❣ ❡②❡❜❛❧❧ ✐s♣s ✉♥✲
❞❡r ❝♦♥✈❡① ❞❡♠❛♥❞✲r❡s♣♦♥s❡ ♠♦❞❡❧✐♥❣ ❝♦♥❣❡st✐♦♥✲s❡♥s✐t✐✈❡ ❛♣♣❧✐❝❛t✐♦♥s✱✑
❛r❳✐✈✱ ❚❡❝❤✳ ❘❡♣✳ ✶✶✶✵✳✶✼✼✾✱ ❖❝t♦❜❡r ✷✵✶✶✳

❬✶✺❪ ✖✖✱ ✏❙✐❞❡✲♣❛②♠❡♥t ♣r♦✜t❛❜✐❧✐t② ❞❡♣❡♥❞✐♥❣ ♦♥ s❡♥s✐t✐✈✐t② ♦❢ ❧✐♥❡❛r✲❞❡♠❛♥❞
t♦ ♣r✐❝❡ ♦❢ ❛❝❝❡ss ❛♥❞ ❝♦♥t❡♥t✱✑ P❡♥♥s②❧✈❛♥✐❛ ❙t❛t❡ ❯♥✐✈❡rs✐t②✱ ❉❡♣❛rt♠❡♥t
♦❢ ❈♦♠♣✉t❡r ❙❝✐❡♥❝❡ ❛♥❞ ❊♥❣✐♥❡❡r✐♥❣✱ ❚❡❝❤✳ ❘❡♣✳ ✶✶✲✵✵✸✱ ✷✵✶✶✳

❬✶✻❪ ▼✳ ❇❡♥✲❆❦✐✈❛ ❛♥❞ ❙✳ ▲❡r♠❛♥✱ ❉✐s❝r❡t❡ ❝❤♦✐❝❡ ❛♥❛❧②s✐s✳ ❚❤❡ ▼■❚ Pr❡ss✱
❈❛♠❜r✐❞❣❡✱ ▼❛ss❛❝❤✉s❡tts✱ ✶✾✽✺✳

❬✶✼❪ P✳ ❘❡✐❝❤❧✱ ❘✳ ❙❝❤❛t③✱ ❛♥❞ ❇✳ ❚✉✣♥✱ ✏▲♦❣❛r✐t❤♠✐❝ ❧❛✇s ✐♥ s❡r✈✐❝❡ q✉❛❧✐t② ♣❡r✲
❝❡♣t✐♦♥ ✿ ❲❤❡r❡ ♠✐❝r♦❡❝♦♥♦♠✐❝s ♠❡❡ts ♣s②❝❤♦♣❤②s✐❝s ❛♥❞ q✉❛❧✐t② ♦❢ ❡①♣❡r✐✲
❡♥❝❡✱✑ ❚❡❧❡❝♦♠♠✉♥✐❝❛t✐♦♥ ❙②st❡♠s✱ ✷✵✶✶✱ t♦ ❛♣♣❡❛r✱ ❉❖■✿ ✶✵✳✶✵✵✼✴s✶✶✷✸✺✲
✵✶✶✲✾✺✵✸✲✼✳

❬✶✽❪ ❏✳ ❍♦❢❜❛✉❡r ❛♥❞ ❲✳ ❙❛♥❞❤♦❧♠✱ ✏❖♥ t❤❡ ❣❧♦❜❛❧ ❝♦♥✈❡r❣❡♥❝❡ ♦❢ st♦❝❤❛st✐❝
✜❝t✐t✐♦✉s ♣❧❛②✱✑ ❊❝♦♥♦♠❡tr✐❝❛✱ ✈♦❧✳ ✼✵✱ ♥♦✳ ✻✱ ♣♣✳ ✷✷✻✺✕✷✷✾✹✱ ✷✵✵✷✳

❬✶✾❪ ▼✳ ❖s❜♦r♥❡ ❛♥❞ ❆✳ ❘✉❜✐♥st❡✐♥✱ ❆ ❈♦✉rs❡ ✐♥ ●❛♠❡ t❤❡♦r②✳ ▼■❚ Pr❡ss✱
✶✾✾✹✳

❬✷✵❪ ❊✳ ❑♦✉ts♦✉♣✐❛s ❛♥❞ ❈✳ P❛♣❛❞✐♠✐tr✐♦✉✱ ✏❲♦rst✲❝❛s❡ ❡q✉✐❧✐❜r✐❛✱✑ ✐♥ Pr♦❝✳
♦❢ ✶✻t❤ ❆♥♥✉❛❧ ❙②♠♣♦s✐✉♠ ♦♥ ❚❤❡♦r❡t✐❝❛❧ ❆s♣❡❝ts ♦❢ ❈♦♠♣✉t❡r ❙❝✐❡♥❝❡
✭❙❚❆❈❙ ✶✾✾✾✮✱ ✈♦❧✳ ✶✺✻✸ ♦❢ ▲❡❝t✉r❡ ◆♦t❡s ✐♥ ❈♦♠♣✉t❡r ❙❝✐❡♥❝❡✱ ✶✾✾✾✱ ♣♣✳
✹✵✹✕✹✶✸✳

❬✷✶❪ ❙✳ ❈♦✇❧❡②✳ ✭✷✵✵✺✱ ✵✻✮ ■❙P s♣❛t ❜❧❛❝❦s ♦✉t ♥❡t ❝♦♥♥❡❝t✐♦♥s✳ ■♥✲
❢♦❲♦r❧❞✳ ❤tt♣✿✴✴✇✇✇✳✐♥❢♦✇♦r❧❞✳❝♦♠✴t✴♥❡t✇♦r❦✐♥❣✴✐s♣✲s♣❛t✲❜❧❛❝❦s✲♦✉t✲
♥❡t✲❝♦♥♥❡❝t✐♦♥s✲✹✾✷✳

✷✻



❬✷✷❪ ❏✳ ◆❛s❤✱ ✏❚✇♦✲♣❡rs♦♥ ❝♦♦♣❡r❛t✐✈❡ ❣❛♠❡s✱✑ ❊❝♦♥♦♠❡tr✐❝❛✿ ❏♦✉r♥❛❧ ♦❢ t❤❡
❊❝♦♥♦♠❡tr✐❝ ❙♦❝✐❡t②✱ ♣♣✳ ✶✷✽✕✶✹✵✱ ✶✾✺✸✳

❬✷✸❪ ❈✳ ❇❡r❣❡✱ ❊s♣❛❝❡s t♦♣♦❧♦❣✐q✉❡s✳ ❋♦♥❝t✐♦♥s ♠✉❧t✐✈♦q✉❡s✱ s❡r✳ ❈♦❧❧❡❝t✐♦♥ ❯♥✐✲
✈❡rs✐t❛✐r❡ ❞❡ ▼❛t❤é♠❛t✐q✉❡s✳ P❛r✐s✿ ❉✉♥♦❞✱ ✶✾✺✾✱ ✈♦❧✳ ■■■✳

❆ Pr♦♦❢ ♦❢ ▲❡♠♠❛ ✶

Pr♦♦❢✳ ❘❡❝❛❧❧ t❤❛t✱ ❜② ❞❡✜♥✐t✐♦♥✱ K(v)
def
= (1 − α)(v−α + p−α

0 )✱ ❛♥❞ LA(v)
def
=

αt(v−α + (1− x)p−α
0 )✱ s♦ t❤❛t K < 0 ✐❢ α > 1✱ ❛♥❞ LA ≥ 0✳

❲❡ ♣r♦✈✐❞❡ ❤❡r❡ t❤❡ ♣r♦♦❢ ❢♦r ■❙P A ♦♥❧②✱ ❛s ✐t ✐s s②♠♠❡tr✐❝ ❢♦r ■❙P B✳
(i) ❚❤❡ ❞❡r✐✈❛t✐✈❡ ✭✶✵✮ ♦❢ t❤❡ r❡✈❡♥✉❡ ❢✉♥❝t✐♦♥ ♦❢ ■❙P A ✐s str✐❝t❧② ♣♦s✐t✐✈❡ ❢♦r
pA s♠❛❧❧ ❡♥♦✉❣❤✱ ❛♥❞ str✐❝t❧② ♥❡❣❛t✐✈❡ ❢♦r pA ❧❛r❣❡ ❡♥♦✉❣❤✳ ■t ❢♦❧❧♦✇s t❤❛t ❛
❜❡st r❡s♣♦♥s❡ ♠✉st s❛t✐s❢② ∂UA

∂pA
= 0✳ ❲❡ ❞✐❞ ♥♦t r❡❛❝❤ ❛♥② ❝❧♦s❡❞ ❢♦r♠ s♦❧✉t✐♦♥

t♦ t❤✐s ❡q✉❛t✐♦♥✱ t❤✉s ✇❡ ❛r❡ ♥❛t✉r❛❧❧② ❧❡❞ t♦ st✉❞②✐♥❣ t❤❡ s✐❣♥ ♦❢ t❤❡ ❞❡r✐✈❛t✐✈❡
♦❢ UA✳ ◆♦t✐❝❡ t❤❛t t❤❡ s✐❣♥ ❛♥❞ ③❡r♦s ♦❢ t❤✐s ❞❡r✐✈❛t✐✈❡ ❛r❡ t❤❡ s❛♠❡ ❛s t❤♦s❡
♦❢ t❤❡ ❢✉♥❝t✐♦♥

S(u, v)
def
= K(v)uα + LA(v)u

α−1 + 1, ✭✶✶✮

✇✐t❤ u = pA ❛♥❞ v = pB ✳ ❙✐♥❝❡ α > 1✱ K(v) < 0✳ ▲♦♦❦✐♥❣ ❛t t❤❡ ❞❡r✐✈❛t✐✈❡ ∂S
∂u

s❤♦✇s t❤❛t S ✐s ✐♥❝r❡❛s✐♥❣ ✐❢ u ≤
1− α

α

LA(v)

K(v)
✱ ❛♥❞ str✐❝t❧② ❞❡❝r❡❛s✐♥❣ ♦t❤❡r✇✐s❡✳

◆♦✇✱ r❡♠❛r❦ t❤❛t ❢♦r ❡✈❡r② v✱ S(0, v) > 0 ❛♥❞ lim
u→∞

S(u, v) = −∞✳ ❙✐♥❝❡ S ✐s

❝♦♥t✐♥✉♦✉s✱ ✐t ❢♦❧❧♦✇s t❤❛t t❤❡ ❡q✉❛t✐♦♥ S(·, v) = 0 ❤❛s ❛ ✉♥✐q✉❡ s♦❧✉t✐♦♥✱ s♦ t❤❛t
t❤❡ ❜❡st✲r❡s♣♦♥s❡ ❢✉♥❝t✐♦♥ ✐s s✐♥❣❧❡ ✈❛❧✉❡❞✳ ▲❡t ✉s ❞❡♥♦t❡ ❜② ū(v) t❤❡ ✉♥✐q✉❡
s♦❧✉t✐♦♥ t♦ S(·, v) = 0✱ ✇❤✐❝❤ ✐s ❛❧s♦ t❤❡ ❜❡st✲r❡♣♦♥s❡ t♦ pB = v✳ ❖♥❡ ❝❛♥
r❡♠❛r❦ t❤❛t S(u, v) ✐s ♣♦s✐t✐✈❡ ✐❢ ❛♥❞ ♦♥❧② ✐❢ u ≤ ū(v)✳ ❚❤✐s ❣✐✈❡s ✉s ❛ ❝r✐t❡r✐♦♥
t♦ ❝♦♠♣❛r❡ ❛ ✈❛❧✉❡ u ✇✐t❤ t❤❡ r♦♦t ū(v)✱ t❤❛t ✇❡ ✇✐❧❧ ❢r❡q✉❡♥t❧② ✉s❡ ✐♥ t❤❡ r❡st
♦❢ t❤❡ ♣r♦♦❢✳
(ii) ❚❤❡ ❝♦♥t✐♥✉✐t② ✐s ❛ ❝♦♥s❡q✉❡♥❝❡ ♦❢ ❇❡r❣❡✬s ♠❛①✐♠✉♠ t❤❡♦r❡♠ ❬✷✸❪✳ ❚❤❡
❤②♣♦t❤❡s❡s ♦❢ t❤❡ ♣r♦♣♦s✐t✐♦♥ ❛r❡ ✈❛❧✐❞ ❤❡r❡✱ s♦ t❤❛t t❤❡ ❜❡st✲r❡s♣♦♥s❡ ♣r✐❝❡
❝♦rr❡s♣♦♥❞❡♥❝❡ ✐s ✉♣♣❡r ❤❡♠✐❝♦♥t✐♥✉♦✉s✳ ❙✐♥❝❡ t❤❛t ❝♦rr❡s♣♦♥❞❡♥❝❡ ✐s s✐♥❣❧❡✲
✈❛❧✉❡❞✱ ✐t ✐s ❛ ❝♦♥t✐♥✉♦✉s ❢✉♥❝t✐♦♥✳
(iii) ❋r♦♠ t❤❡ ♣r❡✈✐♦✉s ❛♥❛❧②s✐s✱ ✇❡ ❤❛✈❡ ❢♦r ❛❧❧ v

ū(v) >
1− α

α

LA(v)

K(v)
=

t(v−α + (1− x)p−α
0 )

v−α + p−α
0

≥ t(1− x), ✭✶✷✮

❤❡♥❝❡ ❛ ✉♥✐❢♦r♠ ❧♦✇❡r ❜♦✉♥❞ ❢♦r ū(v) t❤❛t ✐s str✐❝t❧② ♣♦s✐t✐✈❡ ❛s s♦♦♥ ❛s x < 1✳
■♥ t❤❡ ❝❛s❡ x = 1✱ ♦✉r ❜♦✉♥❞ ❣♦❡s t♦ ③❡r♦ ✇❤❡♥ v → ∞✳ ❍♦✇❡✈❡r✱ ✇❡ ❝❛♥

❞✐r❡❝t❧② s❡❡ ❢r♦♠ ✭✶✶✮ t❤❛t ✇❡ ❤❛✈❡ lim
v→∞

ū(v) =
p0

(α− 1)1/α
✱ ✇❤✐❝❤ ✐s str✐❝t❧②

♣♦s✐t✐✈❡✳ ❇② t❤❡ ❝♦♥t✐♥✉✐t② ♦❢ t❤❡ ❜❡st✲r❡s♣♦♥s❡✱ t❤❡r❡ ❡①✐sts v0 > 0 s✉❝❤ t❤❛t

v ≥ v0 ⇒ ū(v) ≥
p0

2(α− 1)1/α
def
= C1.

✷✼



❖♥ t❤❡ ♦t❤❡r ❤❛♥❞✱ ❢r♦♠ ✭✶✷✮ ✇❡ ❤❛✈❡

v ≤ v0 ⇒ ū(v) ≥
t

1 + p−α
0 vα0

def
= C2,

❛♥❞ t❤❡r❡❢♦r❡ ū(·) ✐s ❛❧s♦ ✉♥✐❢♦r♠❧② ❜♦✉♥❞❡❞ ♦♥ R
+ ❜② min(C1, C2)✱ t❤❛t ✐s ❛

str✐❝t❧② ♣♦s✐t✐✈❡ ❝♦♥st❛♥t ✇❤❡♥ x = 1✳
❋♦r t❤❡ ✉♥✐❢♦r♠ ✉♣♣❡r ❜♦✉♥❞✱ ✇❡ ❝❧❛✐♠ t❤❛t

ū(v) ≤ u0
def
= max

(

1,
αt

α− 1
,
1 + αt(1− x)p−α

0

α− 1

)

.

❚♦ ❝❤❡❝❦ t❤❛t✱ ✐t s✉✣❝❡s t♦ s❤♦✇ t❤❛t S(u0, v) < 0 ❢♦r ❛❧❧ v > 0✳ ❲❡ ✜rst ❤❛✈❡

u0 ≥ max

(

αt

α− 1
,
1 + αt(1− x)p−α

0

α− 1

)

≥
1 + αt(v−α + (1− x)p−α

0 )

(α− 1)(v−α + p−α
0 )

=
1 + LA(v)

−K(v)
,

✇❤❡r❡ t❤❡ s❡❝♦♥❞ ✐♥❡q✉❛❧✐t② ❝♦♠❡s ❢r♦♠ t❤❡ ♠♦♥♦t♦♥✐❝✐t② ✭❝❛♥ ❜❡ ❞❡❝r❡❛s✐♥❣ ♦r
✐♥❝r❡❛s✐♥❣✮ ♦❢ t❤❡ r✐❣❤t✲❤❛♥❞ s✐❞❡ ❢✉♥❝t✐♦♥ ✐♥ v✳ ❍❡♥❝❡ −K(v)u0 − LA(v) ≥ 1✳
❙✐♥❝❡ u0 ≥ 1✱ ✐t ❢♦❧❧♦✇s uα−1

0 (−K(v)u0 −LA(v)) ≥ 1✱ ❛♥❞ S(u0, v) = K(v)uα
0 +

LA(v)u
α−1
0 + 1 ≤ 0✳

❲❡ ❝❧❛✐♠ t❤❛t ♣❧❛②✐♥❣ ❛ ❜❡st✲r❡s♣♦♥s❡ ❛❧✇❛②s ②✐❡❧❞s ❛ str✐❝t❧② ♣♦s✐t✐✈❡ r❡✈❡♥✉❡
❢♦r t❤❡ ■❙P✳ ■♥❞❡❡❞✱ ✐t ❝❛♥ ❡♥s✉r❡ ❛ r❡✈❡♥✉❡ ❧❛r❣❡r t❤❛♥ ③❡r♦ ❜② s❡tt✐♥❣ ✐ts ♣r✐❝❡
t♦ ✐♥✜♥✐t②✿ t❤❛t ✇❛② ✐t ❣❡ts ♥♦ ❝✉st♦♠❡rs ✭❤❡♥❝❡ ♥♦ s✉❜s❝r✐♣t✐♦♥ r❡✈❡♥✉❡s✮✱ ❛♥❞
t❤❡r❡❢♦r❡ ❞♦❡s ♥♦t ♣❛② ❛♥② tr❛♥s✐t ❢❡❡s✳ ❍♦✇❡✈❡r ✐t ❝❛♥♥♦t ❜❡ ❛ ❜❡st✲r❡s♣♦♥s❡✱
s✐♥❝❡ ✐t s❤♦✉❧❞ ❜❡ ❜♦✉♥❞❡❞✳ ❍❡♥❝❡ t❤❡ ❜❡st✲r❡s♣♦♥s❡ ✐s str✐❝t❧② ❜❡tt❡r✱ ✇❤✐❝❤
r❡s✉❧ts ✐♥ ❛ str✐❝t❧② ♣♦s✐t✐✈❡ r❡✈❡♥✉❡✳

(iv) ▲❡t t ❛♥❞ r ❜❡ t✇♦ tr❛♥s✐t ♣r✐❝❡s✱ ✇✐t❤ t > r✳ ❆ss✉♠❡ t❤❛t t❤❡ ♣r✐❝❡ v ♦❢
■❙P B ✐s ✜①❡❞✱ ❛♥❞ ❧❡t ūr ❞❡♥♦t❡ t❤❡ ❜❡st✲r❡s♣♦♥s❡ ♦❢ ■❙P A t♦ v ✉♥❞❡r tr❛♥s✐t
♣r✐❝✐♥❣ r✳ ❚❤❡♥ (1−α)(v−α + p−α

0 )ūα
r +αr(v−α +(1−x)p−α

0 )ūα−1
r +1 = 0✳ ❚♦

s❤♦✇ t❤❛t t❤❡ ❜❡st✲r❡s♣♦♥s❡ ✉♥❞❡r tr❛♥s✐t ♣r✐❝✐♥❣ t ✐s ❣r❡❛t❡r t❤❛♥ ūr✱ ✐t s✉✣❝❡s
t♦ ❡st❛❜❧✐s❤ t❤❛t (1 − α)(v−α + p−α

0 )ūα
r + αt(v−α + (1 − x)p−α

0 )ūα−1
r + 1 > 0

❜❡❝❛✉s❡✱ ❢r♦♠ t❤❡ ♣r♦♦❢ ♦❢ (i)✱ S(u, v) > 0 ♦♥❧② ✐❢ u < ū(v)✱ ❛♥❞ t❤✉s S(ūr, v) > 0
♠❡❛♥s ūr < ūt = ū(v)✳ ❇✉t (1−α)(v−α+p−α

0 )ūα
r +αt(v−α+(1−x)p−α

0 )ūα−1
r +

1 = α(v−α + (1− x)p−α
0 )ūα−1

r (t− r) > 0✳
(v) ▲❡t v > w✳ ❲❡ s❡❡❦ t♦ ❝♦♠♣❛r❡ ū(v) ❛♥❞ ū(w)✳ ❇② ❞❡✜♥✐t✐♦♥✱ ✇❡ ❤❛✈❡
S(ū(w), w) = 0✳ ❚❤❡♥✱ S(ū(w), v) = (v−α − w−α)ū(w)α−1((1 − α)ū(w) + αt)✳
❚❤❡r❡❢♦r❡✱ ū(v) > ū(w) ✐❢ ❛♥❞ ♦♥❧② ✐❢ (1 − α)ū(w) + αt < 0✱ ✐✳❡✳ ū(w) >
αt

α−1 ✳ ❚❤❡ ❧❛st ✐♥❡q✉❛❧✐t② ✐s ❡q✉✐✈❛❧❡♥t t♦ S( αt
α−1 , w) > 0 ✇❤✐❝❤ ✐s ❡q✉✐✈❛❧❡♥t t♦

x
(αt/p0)

α

(α− 1)α−1
< 1✳ ❲❡ s❡❡ t❤❛t t❤✐s ❧❛st ✐♥❡q✉❛❧✐t② ❞♦❡s ♥♦t ❞❡♣❡♥❞ ♦♥ w✱ ✇❤✐❝❤

✐♠♣❧✐❡s t❤❛t ū(v) ✐s ♠♦♥♦t♦♥♦✉s✳

✷✽



❇ Pr♦♦❢ ♦❢ Pr♦♣♦s✐t✐♦♥ ✻

Pr♦♦❢✳ ❲❡ ♣r♦✈❡ ❤❡r❡ t❤❛t t❤❡ ✉s❡r ✇❡❧❢❛r❡ ✭✻✮ ❛t t❤❡ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠✱ ❞✐✛❡r❡♥t
❢r♦♠ (0, 0)✱ ✇✐t❤ p = 0 ✐s ❣r❡❛t❡r t❤❛♥ t❤❡ ✉s❡r ✇❡❧❢❛r❡ ❛t ❡✈❡r② ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠
✇✐t❤ t > 0✳ ❘❡❝❛❧❧ t❤❛t t❤❡ ✉s❡r ✇❡❧❢❛r❡ ✐s

❯❲ = log

(

1 +

(

p0
pA

)α

+

(

p0
pB

)α)

.

❚❤❡ r❡s✉❧t ❢♦❧❧♦✇s ❢r♦♠ t❤❡ ❢❛❝t t❤❛t✱ ❢♦r ❡❛❝❤ ■❙P✱ t❤❡ ♣r✐❝❡ ❛t t❤❡ ◆❛s❤ ❡q✉✐✲
❧✐❜r✐✉♠ ✐s t❤❡ ❧♦✇❡st ✇❤❡♥ t = 0✱ ✇❤✐❝❤ ✇❡ ❡st❛❜❧✐s❤ ❜❡❧♦✇✱ ✇✐t❤♦✉t ❧♦ss ♦❢
❣❡♥❡r❛❧✐t②✱ ❢♦r ■❙P A✳

❘❡❝❛❧❧ t❤❛t ❇❘t
A(pB) ✭r❡s♣✳ ❇❘

t
B(pA)✮ ✐s t❤❡ ❜❡st✲r❡s♣♦♥s❡ ♦❢ ■❙P A ✭r❡s♣✳

B✮ ✇✐t❤ tr❛♥s✐t ♣r✐❝❡ t✳ ❲❡ ❛❧s♦ ❞❡♥♦t❡ ❜② (ptr❛♥s,◆❊A (t), ptr❛♥s,◆❊B (t)) t❤❡ ◆❛s❤

❡q✉✐❧✐❜r✐✉♠ ✇✐t❤ t❤❡ s♠❛❧❧❡st ♣r✐❝❡ ❢♦r A✳ ❚❤❡♥✱ ❢♦r ❛❧❧ z < ptr❛♥s,◆❊A (t) ❛♥❞
❡✈❡r② t > 0 ✇❡ ❤❛✈❡

z < ❇❘t
A(❇❘

t
B(z)). ✭✶✸✮

■♥❞❡❡❞✱ t❤❡ ❜❡st✲r❡s♣♦♥s❡ ❜❡✐♥❣ ❧♦✇❡r ❜♦✉♥❞❡❞ ❜② ❛ str✐❝t❧② ♣♦s✐t✐✈❡ ✈❛❧✉❡✱ ✭✶✸✮

✐s ✈❡r✐✜❡❞ ✇❤❡♥ z → 0✳ ■❢ t❤❡r❡ ❡①✐sts z < ptr❛♥s,◆❊A (t) t❤❛t ❞♦❡s ♥♦t s❛t✐s❢② t❤❡
✐♥❡q✉❛❧✐t②✱ t❤❡♥ ❜② ❝♦♥t✐♥✉✐t② ♦❢ t❤❡ ❜❡st✲r❡s♣♦♥s❡ ❢✉♥❝t✐♦♥s✱ t❤❡r❡ ✐s ♥❡❝❡ss❛r✐❧②
p̂ < ptr❛♥s,◆❊A (t) ❢♦r ✇❤✐❝❤ p̂ = ❇❘t

A(❇❘
t
B(p̂))✳ ❇✉t t❤✐s ♠❡❛♥s t❤❛t (p̂,❇❘t

B(p̂))

✐s ❛ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠✱ ✇❤✐❝❤ ❝♦♥tr❛❞✐❝ts t❤❡ ❤②♣♦t❤❡s✐s ♦❢ ptr❛♥s,◆❊A (t) ❜❡✐♥❣ t❤❡
s♠❛❧❧❡st ♣r✐❝❡ ♦❢ ■❙P A ❛t ❛♥ ❡q✉✐❧✐❜r✐✉♠✳

◆♦✇✱ r❡❝❛❧❧ ❢r♦♠ ▲❡♠♠❛ ✶ t❤❛t t❤❡ ❜❡st✲r❡s♣♦♥s❡ ✐s ❛ str✐❝t❧② ✐♥❝r❡❛s✐♥❣

❢✉♥❝t✐♦♥ ♦❢ t✳ ❋✉rt❤❡r♠♦r❡✱ ✇❤✐❧❡ x
(αt/p0)

α

(α− 1)α−1
< 1✱ t❤❡ ❜❡st✲r❡s♣♦♥s❡ ✐s ❛

str✐❝t❧② ✐♥❝r❡❛s✐♥❣ ❢✉♥❝t✐♦♥ ♦❢ t❤❡ ♦t❤❡r ■❙P✬s ♣r✐❝❡✳ ▲❡t t ❜❡ s♠❛❧❧ ❡♥♦✉❣❤ s♦ t❤❛t
❇❘t

A(pB) ✐s str✐❝t❧② ✐♥❝r❡❛s✐♥❣✳ ▲❡t 0 < r < t✱ ❛♥❞ ❛ss✉♠❡ t❤❛t ptr❛♥s,◆❊A (t) <

ptr❛♥s,◆❊A (r)✳ ❚❤❡♥ ✇❡ ❤❛✈❡✿

ptr❛♥s,◆❊A (t) < ❇❘r
A(❇❘

r
B(p

tr❛♥s,◆❊
A (t)))

< ❇❘r
A(❇❘

t
B(p

tr❛♥s,◆❊
A (t)))

< ❇❘t
A(❇❘

t
B(p

tr❛♥s,◆❊
A (t))) = ptr❛♥s,◆❊A (t).

❚❤❡ ✜rst ✐♥❡q✉❛❧✐t② ❝♦♠❡s ❢r♦♠ ✭✶✸✮ t♦❣❡t❤❡r ✇✐t❤ t❤❡ ❤②♣♦t❤❡s✐s ptr❛♥s,◆❊A (t) <

ptr❛♥s,◆❊A (r)✳ ❚❤❡ s❡❝♦♥❞ ♦♥❡ ✐s ❞✉❡ t♦ t❤❡ ❢❛❝t t❤❛t ❇❘·
B ✐♥❝r❡❛s❡s ✇✐t❤ t❤❡

tr❛♥s✐t ♣r✐❝❡✱ ❛♥❞ t❤❛t ❇❘r
A ✐♥❝r❡❛s❡s ✇✐t❤ t❤❡ ♣r✐❝❡ s❡t ❜② B✳ ❚❤❡ ❧❛st ♦♥❡ ✐s

❞✉❡ t♦ t❤❡ ✐♥❝r❡❛s✐♥❣♥❡ss ♦❢ ❇❘·
A ✐♥ t❤❡ tr❛♥s✐t ♣r✐❝❡✱ ❛♥❞ t❤❡ ❧❛st ❡q✉❛❧✐t② st❡♠s

❢r♦♠ ptr❛♥s,◆❊A (t) ❜❡✐♥❣ ❛ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ♣r✐❝❡ ❢♦r ■❙P A✳ ❋✐♥❛❧❧②✱ t❤✐s s❤♦✇s

❛ ❝♦♥tr❛❞✐❝t✐♦♥✳ ❍❡♥❝❡ ptr❛♥s,◆❊A (t) ✐♥❝r❡❛s❡s ✇✐t❤ t ❛s ❧♦♥❣ ❛s x
(αt/p0)

α

(α− 1)α−1
< 1✳

■t r❡♠❛✐♥s t♦ s❤♦✇ t❤❛t ptr❛♥s,◆❊A (t) ✐s ❧❛r❣❡r t❤❛♥ ptr❛♥s,◆❊A (0) ❢♦r ❧❛r❣❡ ✈❛❧✉❡s

♦❢ t✳ ❲❡ ❤❛✈❡ s❤♦✇♥ t❤❛t ptr❛♥s,◆❊A (t) ✐♥❝r❡❛s❡s ✇✐t❤ t ✇❤✐❧❡ t❤❡ tr❛♥s✐t ♣r✐❝❡ ✐s

❜❡❧♦✇ t̂ t❤❛t s❛t✐s✜❡s x
(αt̂/p0)

α

(α− 1)α−1
= 1✳ ❋♦r t❤❛t ✈❛❧✉❡ ♦❢ t✱ ❇❘t̂

A ✐s ❝♦♥st❛♥t✱

✷✾



❛♥❞ ❇❘t̂
A = ptr❛♥s,◆❊A (t̂) ≥ ptr❛♥s,◆❊A (0)✳ ❋♦r t > t̂✱ t❤❡ ❜❡st✲r❡s♣♦♥s❡ ❢✉♥❝t✐♦♥ ✐s

❧❛r❣❡r t❤❛♥ ❇❘t̂
A ❛❝❝♦r❞✐♥❣ t♦ ✐t❡♠ (iv) ♦❢ ▲❡♠♠❛ ✶✱ ❛♥❞ t❤❡r❡❢♦r❡ ❧❛r❣❡r t❤❛♥

ptr❛♥s,◆❊A (t̂)✱ ✐♥❞❡♣❡♥❞❡♥t❧② ♦❢ pB ✳ ❍❡♥❝❡ t❤❡ ◆❛s❤ ❡q✉✐❧✐❜r✐✉♠ ♣r✐❝❡ ♦❢ ■❙P A ✐s

❧❛r❣❡r t❤❛♥ ptr❛♥s,◆❊A (t̂) ❛♥❞✱ ✜♥❛❧❧②✱ t❤❛♥ ptr❛♥s,◆❊A (0)✳

✸✵


